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TAKPOPU MAB3VBXOU CUH®XOU 5—6

Honnmowmy3u asus! Lllymo map cuHpxom 5—6 moup 60 amamaxou
HaTypajil, KacpXou OIAW Ba Jax’, agaJxou paTCMOHaJ’ goup 0a 4dop
aMaJl MHCOJI Ba Machajaaxo xaj Kapaea. bo makcaau 6a XoTup oBapaaHu
JOHMIIXOM a3 (paHHMW MaTeMaThKa TMpU@TaaToH, 0a LIYMOEH SIKYaH]I
MAaIIKXO0PO TMEeLIHUX0A MEKYHEM.

1. AManxopo UYpo KyHen:
11

1.5 4.2 23\
1) 105~17+4§~(10§+3E—6ﬁ),

15 14\ .2 6. é. l.

2) (62—9+72—9).1§—127.37 24

3) 13-7l+31:(61—33+31);
22 3 2 4 4 2

4y 432393 (310 10 1) 22
8716 4 |17 17)7s
2. AMaJIXopo MYpo KyHE/:

31,2.58,4-27,2 26,3-17,8+8,5 |

31,2+58,4-30,2° 3) 26,3+17i-25,3
5

2
28,4-40,3-11,9 8,75:19--10,65
2) : 4) 3
28,4+40,3-27,4

8,75+19 E-7,75
3. Myonunapo xaja KyHe: 5

1) 5x+48:4=20:10+2-10; 3) 4lx+3i.5:7£+181;
2 10 13 13
A 2. 1 1 4 13
2) 7x+32:2=(72+18):3; 4) 6=x+3=-3=11—+5—.
2 2 17 17

1
4. Axman map Bejiocurien 00 cypbaTu 10% KM IZ coar, 6aba 00 cypbaT

4 1
12 g KM 2 5 coaT pox Taii HamyI. AxMaj xaMard 4aH1 KUJIOMETP POX,

Taii Hamyjaaact?
3
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Bbanannnu poctkyHya 6a 8 cm 6apodap act. bapu pocTkyHya HUcOaT Oa
OamaHan 1,5 cMm kyTox Medoruan. Macoxatyu pocTKyHYapo €0e/.

. Macoxatu poctkyHya 6a 20,25 am?, 6apaii 6a 3,24 nm 6apobap Medo1a.

IlepumeTpu UH pOCTKYHYApO €0e/.

. ABromo0Ous gap macodau 100 km 5 1 OeH3uH capd mekyHand. [ap

macodaxon: 50 km; 60 xkm; 70 xm; 80 xkm; 120 km; 250 kM; 360 kM
Yy’ Kagap 0eH3uH capd MekyHan?

.2 .
. Caiiéx ~ Xpccau poxpo Tail HamysI. Baba a3 xucob kapma aumaHaln

MabJIyM 1Iyd, KM TO 0a HUMapox, pacuaaH Yy 0osin 003 9 KM pox Tai
kyHan. Caii€x xaMarm yaH KIMJIOMETpP POX Tail KapAaaHalll JIO3UM acT?

. Hdap macodanu 100 KM aBTOMOOWIM SIKYM 8 JI, aBTOMOOWIN IYIOM

Oapou xaMuH Kagap macoga 10 1 6eH3uH capd MekyHana. Arap gap
Oaku xap K aBToMoOMJ 32 1 OeH3uH Oollaa, xap SK aBTOMOOWJ
CY3UIIBOpMALLIPO 0a YaHA KUJIOMETP pacoHMAA METaBOHaH?

1) Hapxu matonr 20 % aps3on myn. Ilac a3 rysamraHu BakTu
MyalisiH, Hapxu HaB HM3 0a 25 % mact ¢ypoman. Hapxu maron
xamarm 0a yaHn (ou3 mact papoBapia LIyaaacT?

2) Hapxu matob 20 % 3uén myn. [lac a3 BakTh MyaiissH HapXy HaB
Hu3 6a 25 % 3uén rapaua. Hapxu maTob xamarn 6a yaHy ¢hous dazaH
rapamn?

Hapxu ymymun maxcyiotu HaBbu 1-ym Ba 2-1oM 10 800 cympo Talkmi
Menuxan. Tambuprap MaxcyJaoTy HaBbu 1-ympo 60 dounau 24 % oy-
pyxta, nopou 7 812 cyM 1rya. A3 MaxcyJOTU HaBbU 2-10M (horaa Haru-
pudrTta, TaHxo 0a Hapxu Oa Jact opapaaail gypyxr. Tagbuprap xamarn
yaHp ¢ou3s pouna rupudraact? Goungan ¥ yaHa CYMpO TaLIKWI 1047

Hapxu 3apdu yunn 2000 cym ap3oH Kapjaa Iinya, AepTap HapXyu HaB
Hu3 6a 10 % daposapaa myn. 3apd 60 Hapxu 9000 cym 6a bypyiu
OapoBapna uya. Hapxu aBBanau 3apd yaHa cym Oymaact?

Tanouprap moaxou HaBbu 1 Ba 2-po (ypyxta, xamaru 54 000 cym
(ouna rupudr. Hapxu moau Habu 1-ym 120 000 cym Oyn, Tagduprap
oHpo 60 douman 15 % dypyxr. A3 Mo HaBbu 2-1oM 20 % napoman 6a
nJact oBapa. Hapxu moau HaBbu 2-10M yaHi cyM act? Xap Ay HaBb
MOJIX0s11Ipo PypyxTa, Tagduprap yaHa ¢pous gapomasa rupudraact?
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Haposum acocu poctkyHya 20 %, 6ananauain 25 % 3uén Kapaa 1aBaj,
MacoxaTu OH YaH[ (pou3 31€a MelaBa?

Haposum acocu poctkyHya 10 %, 6amanauam 20 % kam Kapza 1aBaji,
MacoxXaTi OH 4YaHj (oM3 KaM MellaBaj?

AManxopo U4ypo KyHe/:

1) (—120):((=8)-(=3)+12:(-3))—(-48):(-16);
2) (=75)-4-204:(-3)+(-210):(-7);

3) (-20,25):(-3,6)+90,72:(-4,5)-7,5-3,2;

5 16 4 1
4) 52.(=0,95)+222.(-0,34)-82:21.
) 19 (=0.95)+ 17 ( ) 7 7

Myoaunnapo xaa KyHe[I:
1) 3x+2x=17+(=27); 3) 1,3x-3,5x=11-(-0,5);

2) 6x-7x=3,5(-1)+4; 4) 4x—2§x=3§:(—2).

Kumatu muénau apugmerukuu S anan 6a 18,4 6apodap act. babay oH,
KM 0a MH ajgagxo 003 sIK ajaj 4yaMb rapauja, KUMaTu MUEHau
apudpmeTukn 6a 20 6apodap 1mya. Agaau yambKapaalyaapo €oe.

Kapum60060 6a 90 napomanaana. CuHHY conu MUEHaM Habepaxou ¥ 0a
20 cos 6apobap act. ba cuHHY coim Habepaxo Kaprum60060 cou Xyapo
yaMb Kapaa, KUMaTu MUE€Hau apupMeTUKMaIIpo XUcod Kapa, Ku 6a
22 6apobap mryn. Kapum6060 yaHa Habepa goiuraact?

ABTOMOOMIT 60 cypbatu 72 KM/coaT 3,5 coaT, 60 cypbatu 60 KM/coaT
2,5 coar pox Tail kKapia. ABTOMOOMJ Xamar#W 4yaHI KWJIOMETP POX
Taii kapaaact? MH Macodapo ¥ 00 Kagom cypbaTy MUEHA Tail MeKyHaz?

AB30M HOMAabJIyMH TAHOCYOPO €0/t
1) 3,5:x=2,4:4,8; 3) 7,2;2,4=x:4§;

1 2 41
2-=-092:23: 4-:2-=32:x.
2) x.23 9,2:2,3; 4) 25 X

|Ul
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KaJII/IMaI/I anre0pa a3 Kajaumau ai-yaop (6a 3a60HU JTOTUHH ajirebpa)-
U acapu Oy3ypru XamMBaTaHM MO, MaTeMaTMK Ba aCTPOHOMM Oy3ypru
Vy30ek Aoyaomymiox Myxamman noHu Myco an-Xopasmu "Kutob an-
MyxTtacap ¢pu xucob an-yabp Ban-mykoobana” ("An-yabp Baia-mykooOana')
rupudTa mygaact. lap acapu Maskyp an-Xopa3MH aBBaJlMH MapoTuOa Jap
yaxoH ¢paHHU anredpapo 6aéH kappaact. Macwanau acocuu ajaredopa 00
épum ndoaaxou ajareoOpaBy OMYXTaHU aMaJIXOM MaTeMaTukn Mmeboian. bo
ndonaxou agaaue, KM 1akJIv a3 XxaMa coajarapuHu ugoaaxou ajredpaBn
MeOolIaHa, MO Jap Kypcu maremMatrukam cuHu V—VI mmHoc 1yga
oyneM.

Ndonau aganm 60 €pum anaaxo Ba aloMaTv aMajixo, K1 TapTUOU nypou
WH aMaJIXopo HUILIOH MeAUXaH]I, TapTUO J01a MelliaBaHa. MacajaH,

2347 10:2-3; X043 1
5 3

ndonan agaaxom HaBUILTALIyAa MEOOILIAI.

1
2

bo puosau mapmubu xabyaswyoa, amairxou HUuoHoooauilyoa
uypo waeamd, adadu xocuauwyoapo kumamu aoaduu ugooa é
myxmacap xumamu ugooa MeHOMAHO.

Macanan, knmaTti udonau agagun 2 - 3 + 7 6a 13 6apobap act, KMMaTn

Y

1 1 1
ndonaun 373 oolan, agaau o MeoomIan.

D ‘ Hdghodau adaoii a3 sk adad nu3z ugooa écpma memaesonad. Kumamu
E5dl|l on xyou xamon adad mewasao.

Hap 6ab3e xonarxo Faiip a3 ugomaxou agaan Ba aJloMaTXOM aMald a3
KaBcxoe HU3 uctugoaa MebapaHi, KA Tap3u UYpor aMaypo 060 TapTudu
MyaisiH HULLIOH MeauxaHa. MacajaH, 1ap MaBpyuay XMco0 KapaaHu KUMaTu
ndonan

(2,5+3,5)-2,1
6



Mamemamux eéa acmponomu 0yzype —
Abyab6oyaarox Myxammao ubnu Myco
aa-Xopazmi

aBBaJI aMaJIi YyaMby JOXWIM KABC, COHN 3ap0 0a MYpo pacoHMIa MElIaBal.
Kumatu udonman (2,5 + 3,5) - 2,1 -po xucob kapaa, agamy 12,6 xocui
MeKyHeM. buHoOap nH, 6apobapuu

(2,5+3,5-2,1=12,6
HaBUILITAaH MyMKWH acr.
Iy ugpodau adaouu 60 aromamu ,=*“ natvieacmuiyoa, 6apodapuu
adadupo mawikua meouxao.

Aeap xkumamxou mapaghxou uan éa pocmu 6apobapii Xamou K
adad bowao, bapobapii 6apobapuu Aypycm HOM 00pao.

Macanan, 6apobdapuu %:8—1 JIypycT MeOollaa, YyHKM KUMaTu

xap 1y Tapadu oH 0a amanu 7 6apodap acr.
A3 ndonaxou anaan Ba bapodaprxou agaan Ha pakaT agap XMCOOKYHHUXO,
OaIKu 1ap HaBUILUTU XOCUSITXOM aIafix0 HU3 UCTH(oaa MebapaHI.

36
MacanaH, 6apobapun 773 XYCYCHATXOM acOCHU Kacpxo, bapodapun

35+ 21 =21 + 35 Go1an, KOHyHU YOMMBA3KyHMU YaMbpo UPoaa MEKYHA/I.
AKHYH 6a udonmamn amagxou 6 + 12 -3 Hazap MeaHmgoseM. [dap Xxo-
JJaTU pUOSIM TapTUOM XaId aMalax0 HaTuyau JOypycTh ubopat a3
6+ 12-3=6+ 36 =42 xocw1 MeLlIaBas.
Arap TapTMOM XaJIM KaOysuryaapo BalipoH Kappaa, aBBai 6 Ba 12-
PO YamMb KyHeM Ba COHM 0a 3 3ap0 3aHeM, HaTU4yau HOAYPYCTU 54 xocui
MelaBaa. Arap MH Hatuya 0a Mucau udgoaan aBBajgau

6+12) -3

HaBUILTA MEIIYA, OTYPYCT METapamu.

|\l



Maniym MelaBaa, KM OypyCTUU XUCOoO 6a prosl LyJaHU TapTUOX MYPOU
amayixou udogaxou agaan Bodacrta Oymaacrt.

TapTrOu nypomn amanxo 60 anaaxo Jap BaKTU Xa/UT Machajlaxo ouz 6a
eédTaHu KMMaTy agaguu ndoaaxou aareopaBi HU3 UCTU(HOIA MelIaBal.

Jap xotup 60s1 AOIIT, KU 3UHAU ABBANUHU AMAAX0 a3 YaMb Ba TapX,
3uHau dyromu amasxo a3 3apd Ba TakcuM noopat acT. ba kBagpar Ba Ky0
OGapoBaplaH 3uHau ceromuy amaixo HOMUIAa MellaBa/l.

(1) 1) Aeap dap ugoda Kasc Habowao, oap oH xoram A68aAN0 AMAN-
BEd| xou 3uHau ceroM, COHI amaixou 3uHau OyHM 6a 0ap OXup amaixou
3uUHaU AKyM uypo meuiaead. ap bapodbapu uH, amanrxou 3UHAAUIOH
aKxena 4l maepe, Ku HAsUWMa uwasano, 60 XamoH mapmubd uypo
Meulasano.

MacanaHn,
3.52.4-5.4+7=3.25-4-5-4+7=300-20+7=280+7=287.
1S 2) Aeap dap ughoda kasc bowad, oap ux xoram aseanr amasxo 60
i adaoxou 0oxXuau Kaec, COHl ou2ap amanxo uypo meuwasaro. Amasxou

doxuau Kaec eéa OGepyH a3 oH, 60 mapmubu dap 6andu aeean
HUWOHO00auyoa uypo MeuaeaHo.

MacanaH,
(2°4-5)-6+(2+2-4)=(8-4-5)-6+2+2-4) =
=(32-5)6+2+8)=27-6+10=162+10=172.

T 3) Aeap Kumamu kacppo Xxucob kapoan ao3um 6Oowao, neul
Sl a3 xama amanxou dap cypam ea maxpayu Kacp ucmooapo uypo
Kapoa, coHll Hamuyau SKYMpo 6a Hamuyau OyIOM MAaKCUM MeKy-
HAaHO.

Macanan,
2.3-35_227-35_54-15_39 _ 11
3+5° 3425 28 28 28
4) Aeap oap ugooa dap doxuaru Kaec dueap Kaecxo 6oulaHo, neu

az xama amanxou Kaecu as xama O0apyHmapux uypo Kapoa meuia-
8aHo.

(1)

@

MacanaH,
2-8—(5"-4)=2-8-(25-4))=2-(8-21)=2-(~13) =-26.

8 o0



Mamkxo

. AMaxopo n4Ypo KyHes:
1) 2,17+(3,2-0,17); 3) 13%{2,64”%);
2) 9,49—(1,5+0,99); 4) 6%—(3,14—2%].

. Knmatu ndomaxoun aganupo €oen;

1 1 1 1 1 3

—+— === 0,3—— |:|=-1,25{;
o)) v (s

2 3 2 1 1 1

—— === 2,7—— = 4,5 .
o (5sf o i)
. Sxuann udomaxou agaguepo HaBUCEH, KM KumartauoH 6a: 1) §; 2) 0;
3) 1; 4) —14 6apobap Gowas.

. O€ Gapobapn oypycT acT:
12,5-4,1 2,13+4,33 5 1 1
Ll . ==l —+—+-;
D L7+0.4 ) Tss a3 1234
2) 220D 0 1540,25; 4) 892-661_,1 1 1,

538-1,55 9 2 3

ba Hamynu 6apobapuu aganu HaBucen (5—6):

1 1 2 2
. 1) Cymmau agagxou 3 Ba 3 0a dbapku amaaxou 3 Ba 5 bGapobap
acr;

2) Xocumu 3apou apamgxou 40 Ba 0,03 6a xocrmu TakcuMu 6 6a 5 6apobap
acT.

. 1) Ayyanou dapku agaaxou 10 Ba —2 a3 cymMmaum XaMMH agaaxo ce
MapoTuba KajoH acr;

2) CeyaHmay cyMMau anaaxou 2 Ba 6 a3 XOCWIN 3apOU XaMMH aIafaxo Ay
MapoTuoOa 3ué acT.

. TapTnbu amanxopo HUILOH AMXE Ba XMCOO KYHE:
2

1 1,7-32+§-12-15; 3) 48~0,05—(% 54+1,7;

2
2) 27,7—(%) 100+6,4:0,8; 4) (2,5)%15%—0,24:0,6.

9



8. Kumarn ndpomam aganmpo €oen;

1 1)(2 1) 2 1 (7 1)
2 (z*g]'[z‘z} 3) 45*2(19 9}

¢ 3)(L L), LL(3,L
2) (7_5}(5_1} 92773 (14+4)'

9. AManaxopo W4po KyHe.:

2
py 03:5°-15, 3) 131.318,1-(32 +6,1));
3,5+2° 3
4,2:6—31-0,3
2) 3 4) ((7,8:0,3-3%+3,1):0,7.
7,5:0,5
/
______ e
/

§ 2. /| Hpooaxou aazebpasii
/

ba macbanay no€HM bTUOOP MEAUXEM.

Macwanan 1. fdron aganepo ¢puxkp KyHen, oHpo 0a 3 3ap0 3aHen. ba
HaTUYyau XOCWIIIYAa 6-po YaMb KyHe]l, XOCWIA YaMbpo 0a 3 TaKCUM KyHeI
Ba amaau puKpKapaaaToHpo Tapx, KyHen. Kagom agan xocwn meinasas?

A bury3op, anaau pukpKapaaaToH § dolaa. Xamau amaaxopo MyBopU-
KM TapTUOM Jap LIAapTU Machajia Iy30LUTallyaa 1Ypo MEKYHEM:

1) 8:3=24; 2) 24+6=30; 3)30:3=10; 4) 10-8=2.
2 XOCWJI MellIaBajl.

Ananm 0a 2 6apobap Oynau Machbajad Ma3Kyppo Aap 1akiu udomau
agangnu (8 - 3 + 6) : 3 — 8 HaBUIITAaH MyMKHH acT.

Arap, amanu 5-po ¢ukp Kapaa Ooiem, nap OH xogaT HU3 udoaan
amaguy KuMataii 6a 2 6apodap (5 - 3 + 6) : 3 — 5 xocwt Menny.

ba xynocae omagaH MyMKWH acT, KM MO KaaoM aaaaepo (pukp
HakyHeM, Hatuya 0a 2 Gapobap MemaBan. CaHyuga MeOuMHeM. Apgaau
(pukpKapmaaMoHpo 00 a UIIopa MEKYHEM Ba aMaJipo 003 00 TapTUOM Jap
Machajla Joaallyjaa MEHaBUCEM:

(a-3+6):3-a.
A3 XocHATX0M 0a MO MabJIyMM aMayIxou apudmeTukn uctudona Oypaa,
ndoaan Ma3Kyppo Coia MEKYHEM:

(a-3+6):3—-a=a+2-a=2. A
10



Jap xauuu macwana udonau (a-3+6):3—a XOCWI LIyna Oya, Ku a3
xapdu a ndbogaKyHaHIAW afaIn JUIX0X, alaJxon 3 Ba 6, aToMaTXOM aMall
Ba KaBCXO MOOpaT acT.

WH muconu ughodau aneedbpasii MebdolLIa.

ba ndonaxon anredpaBm MUCOIXO MEOPEM:

2im+n), 3a+2ab-7, (a+b)a-b), L.

a

(1) Hgooaxou aneebpasii eygpma, ughodaxoepo menomaund, Ku a3
BEdl| adadxo ea xapghxou 60 aromamxou aman naiveacmuiyoa ubéopa-
mauo.

Aeap 6a youu xapgxou b6a ugooau anreebpasii sopudeapouda s1eoH
adaod ey3owma wiasead 6a amanxou HuuwioHoodauiyoa uypo eapoauo,
nac adadu oap Hamuya xocuautyoa, Kumamu adaouu uH ugpooau
aneebpasii Homuda meulasao.

Macanah, arap a =2, b= 3 6o1aa, KuMaTu udoaau aaredopaBumn
3a+2b-7

0a 5 Gapobap mellaBa, YyHKUA 3-2 +2-3—7 =5 ; KUMaTy anaau XaMuH Ugo-

Jau anredbpaBy xaHromu a = 1; b=0 OyngaH, 6a —4 Gapobap MellaBal, YyHKU
3. 142-0-7=-4.

ba xumaTu n1uixoxu a

(a-3+6):3-a
KuMaTu udonau aaredpasn 6a 2 6Gapobdap acT.
3a+7)b
Macbanaun 2. Kumaru agaauu udoaaun ( aJ_r b) -pO XaHTOMU
a=10, b=5 OynaH, €oen.
A (10475 375 oo
10-5 5 '
Mamkxo

10. Kumatu ugonau anredpaBupo €oe:
1
1) 3a-2b, nap uH 4o a=-, b=1;

2) 2a+3b, tap uH Yo a =3, b=-2;
3) 0,25a-4c¢*, map uH 40 a=4, c=3;

1
4) (202—§b} Jap uH4o a=2, b =9.



11.

12.

13.

14.

15.

16.

17.

Kumatn udonaum anredpaBupo €oen:

1 3
1) ZX—;J’, Iap MH 40 x =8,y =—14;

2 4
2) §x+gy, map uH 4o x =9, y=-10;

a-3b
3) ~35° 7ap ¥H 4o a=4, b=-2;

a+3c

4) , Jap MH 4o a=3, c=-1.

2a-c
A3 KyOypxou Hadtry3ap gap 1 coat 7 T HapT Mery3apaj, aap m coar a3
KyOyp yaHa ToHHa HadpT Mery3apan? Jlap gk madoHapy3-un?
1) map m coat; 2) map p coHus; 3) map m coatT f JaKuKa Ba p COHUS
YyaHJI JaKMKa xact?

Ceyanpau ¢apky agaaxou x Ba y po HaBucen. Kumatu agaguu udoaau
aareOpaBrpo €0e:

1) x=-0,37, y=-0,42; 2) x=-2,98, y=-448;
5 9 2
X=—=, =—— X=—, :_097.
3) 6 y 4 4) 3 y

XOCI/UII/I 38[)61/1 CyMMa Ba XOCWUJIM TapXH adaIXOHn X Ba Yy -pO HABUCC/I.

Kumatu amanuu mudonau anredbpaBupO HABUCE:

) x=—t, y=1: %) x=-2,y=2
- 8: )’—4> ) 89 4)

3) x=0,15 y=-0,75; 4) x=1,32, y=-1,28.

Kumartu aganuu ndgonan anredpasupo €oen (16—17):
2mn(n+ k) 1 1

m=k=—> n=-—;
1) ]’l—k aﬂapMHq‘O 3 2
Gp+D-2p 1 SENE
2) Py +3’ﬂapl/[H‘{0 P—3a [=1.
D 2D sap wn o x=8,31; y=2,29; p=2,01; g=2;
2p+q
2 1 1
2) 5(bC+m),I[ap WH Y0 b:_; c:6; g=—, m=-—.
2g+4- 3 ? ’
g+47



18. A3 bopmynau amanu Toku n =2k + 1 uctudona O0ypaa, KuMaTu n-po

xaHromu k=0, k=1, k=7, k=10 Oynman €6en.

19. Jlap Hamyau udoaau ajaredOpaBid HaBUCE:

20.

21.

22.

23.

24.

25%

1) cymman oy agagd HaTypaJavdu mnail gap maii, 6a n GapoOap acr;
2) XocuJii 3apOu Iy agaay HaTypalIuu Tail gap mnaii, KM KaJJoHTapyHalll
0a m O0apobap act; 3) cymMMau ce agaay HaTypaJluu naigapxaMu 4yt
KM XyparapuHail 6a 2k Gapobap act; 4) XOCWJIM 3apOM ce ajaau
HaTypaJuu Iail nap maiu ToK, K1 XypAaTapuHaii 6a 2p + 1 6apobap
acr.

IlepumeTp Ba MacoxaTu 1IAKJIXOpPO Jap Hamydau udoaau aaredpaBh
HaBucen (pacmu 1):
3,5 a

| b

Pacmu 1.

bapou rapM kapgaHu XOHa p TOHHA aHIMILIT 3axyUpa KapaaHi; a3
XaMUH 3axypa g ToHHaall capd rapaua. YaHa TOHHA aHTUMIIT OOKH|
MoHAa? 1) Xanromu p=20, g=15 OymaH xucob kyHen. 2) O¢ amaau
g a3 ajgaaM p KajoH liyaa mMeTaBoHan? Arap 6a p Gapobap Oolnag-ym?
Hap MycoOMKaxou TVIUTUTUPW #n AOHA 4umTa, KU xap kagome 400
cyMH act Ba xap sike 500 cymMHu m noHa uyunta ypyxra wmya. bapou
xaMau yunTaxo yaHa cyM capd wmyn? bo kumarxou n =200, m=150;
n=100, m=230 xucod KyHen.

Kumatn sik mona anoom 200 cyMm, gk noHa madrap 40 cym, Kk goHa
pyuka 60 cym act. Kumat ymymun ¢ noHa aindbom, a noHa madrap
Ba b noHa pyuykapo 00 xapdu p uillopa Kapaa, Jap LIakau gopmyia
HaBu-cea. Arap ¢=9, a=21, b=4 6owman, a3 pyiiu hopMyan Ma3Kyp
KUMaTU p -po XUcoO KyHes.

A3 KyOypu rasry3ap 0a cTaHCHSIM TapMUIMXA Xap Jakuka 26 m° ras
Mery3apajn; gap 5 madoHapys3, gap m 11aboHapy3 a3 Kyoyp 4yaHg M3
ra3 Merysapan’?

. Teonorxo a3 pym MapupyTd XyI xapakaT Kapaa, 00 CypbaTH c

KMJIOMETp Aap sk coat 3 coaty 10 makuka pox naiMyngaHa; gap gape,
KM cypbaTi yapa€Hail a kuiaoMmeTp aap 1 coart act, 1 coaty 40 makuka
13



LIMHO Kapja, 6aba 00 cypbaT b xutomerp gap 1 coat 2 coaty 30
Jakyka nmuéna rairasa. Japosun MapupyTpo 6o xapdu s vilopa Kapaa,
dopmynau poxu Taiikapaau reojorxopo €oea. Arap a=3,3 KkMm/coar,
b=15,7 xm/coat, c = 10,5 KM/coat Oo1aa, poxu Taiikapaau reojiorxopo
eoen?

$§3. / Myooduaaxou aazebpagii. Dopmyaraxo
/

XaHroMM XaJuii OMCEp Machajlaxou aMaIn 0apou MILIOpau agaaxo a3
xapdxo uctudoaa OypaaH Kynai acT.

MacanaHn, arap a Ba b — papo3uu Tapadxoud poCcTKyHYa OOlIaHI, aap
OH XxoJiaT a - b — macoxar Ba 2 - (a + b) — nepuMeTpu OH MeluaBan. Jlap
MUH Yo 0a BocuTau xaphxou a Ba b agamxou Mycdar — gapo3uu Ttapadxoun
POCTKYHYA MIIOpa Kapjaa 1ryaaaHa. Arap MacoxaTu poCTKyHYapo 00 xapgu
S, nepumeTpu oHpo 00 xapdu P uiIopaT HAMOEM, OH Tox, opMyJIaxou
3epUHPO XOCWJI MEKYHEM:

S=a- b, P=2-(a+b).

Arap gapo3uu Tapadxopo 00 CAaHTUMETP YeH KapaaHU OollieM, OH rox
MacoxaT S 00 caHTUMETpM KBaapaTH, repumerp P 60 caHTuMeTp udoga
Kapaa MeliaBaj.

Bapoun Myxtacap HaMygaHu HaBMIUT ajioMaTy 3ap0 "HykTa" Oelurap
naprodra Mewanaa. MacanaH, S= ab, P=2(a + b) HaBuIlITa MellIaBa/.

Jap Myoauiaaxo amaaxod HOMabAyMpo xaM 00 Xxapdxo uiopar
MeHaMmosIHI. MacajiaH, gap Myoauian

x+12,3=95,1
agagy HoMabiayM 00 xapdu x MInopa 1IyaaacT, Baje aap Myoauiau
2y +3=7

Oolaa, agaaym HoMabJIyM 00 xapdu y uiopa lIyaaacT.
ba Bocutam xapdxo MHYYHMH KOHYHXO Ba XOCHUSTXOM aMajixou
apru(MeTUKMPO HaBUILTAH Kyjai acT. MacajiaH:

a-(b+c)=(a-by-c=a-b-c, (1)
(a+b)-c=a-c+b-c, (2)
(a+b):c=a:c+b:c. (3)




Mamemamuxu mawxypu acpu XVI
Dpancya Buem (1540—1603) acoceyzopu eopud
Hamyoanu pam3u xapgi
b6a aazebpa mebowad.

Hap anredpa sk xapd MeTaBOHal KUMAaTXOM afaJii TYHOTYHPO KaOys
KyHaa. A3 yym7nia, ngap myomwiaumxou (1) Ba (2) a, b, ¢ — amamxou
UXTUEPH MeOoIIaHm; nap Myonuiau (3) Oowuan, a, b — agaaxou AWIXOXaHI,
JekuH ¢ #0 acT, yyHKM 0a cudp TaKkCMM HaMmellaBajl.

bo épumn xapdpxo dopmynam agagxom Hatypaiauu 4YyyPT Ba TOKPO
HaBUILTaH MyMKHWH acT.

Arap a agaau yy¢T 60o11aa, oH 6a 2 TaKCMM HaMellaBaj Ba UH agaapo
0a HamMyIu:

3

a=72n,

HaBUIUTAaH MYMKUH acT, 1ap UH YO #n — ajaAy HaTypasn acrT.

Arap b apanm TOK Ooluaj, XaHroMuM OHpo 0a 2 TakCHMM KapaaH aap
Oakus 1 xocus1 MeliaBan Ba agagd b -po 0a HaMyaM 3epyMH HaBUILTaH
MYMKUWH acT:

b=2n+1,

Jlap MH 40 n — aJaau HaTypaind € cudp acr.
bab3an dhopMysan agaaxou HaTypaJiuy TOKPO YYHUH HABUILTAH HU3
MYMKUH acT:
b=2k-1,

Jap UH 40 kK — afgaay HaTypajIucT.

HMctudona a3 xapdxo 06a HaBUIITAHU POXU XAJLIM SIK KATOp Machajla-
XOM ToMaallloH sIKXeJda MMKOHMAT Meauxad. buéen uyHMH Macbajia-
XOpO a3 Ha3ap ry3apoHeM.

Macwvanau 1. MaigoHu O60Fu xoyaruum depMeph IIAKIHU
POCTKyHYaepo J0pajl, K1 Japo3uaill 0a a KWIoOMeTp, Oapalll 6a b KUJTOMETP
Oapodap act. babay a3 Xy KapaaHu MaiiioH 6eKopxoduaa MacoxaT Mari-
noH 6a 0,88 km? ad3ya. Macoxatu MaiinoHu 00F 4l Kaaap wya? Xucoodpo
xaHromu 1) a=2,2 Ba b=0,8; 2) a=1,4 Ba b=4,3 OynaH U4po HaMoe/.
A To a3 Xy Kap/a LyIaH1 MaiIoH1 6EKOpXo0M/Ia Macoxatii OOF 6a a - b Km>
Oapobap Oy, 6babau a3 Xyn KapaaH oH 0a (ab + 0,88) km? 6apobap 1y,
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1) Arap a=2,2 Ba b=0,8 6oman, 2,2-0,8 +0,88=2,64.
2) Arap a=1,4 Ba b=4,3 6oman, 1,4-4,3+0,88=6,9. A

Macsbanan 2. Caitéx a3 mexa 6a CyM LIaxp paBOH IIYA. Y Tac a3
a KujoMeTp Macogapo nuéaa Tail HamyaaH, 6a aBToOyC caBop 1Ly Ba Jap
t coar Oa maxp pacua. Arap aBToOyc 60 cypwati 60 KMm/coar xapakar
Kapaa 6owan: 1) xanromu: a=35 Ba t=0,5 OygaH, macodau S-u GaliHU
Jexa Ba 1axppo €oen; 2) xaHromu s=70, a=10 OynmaH, ¢ -po €6en.

Caiiéx 60 aBTOOYC map ¢ coat Macodan 60 ¢ KMJIIOMETPPO Tail HaAMYI.
buHob6ap nH macogaun 6aitHu aexa Ba 1axp 60 gpopmyian

s=a+ 60¢
ndoaa kapaa MelaBa.
1) Xanromu a=5 Ba t=0,5 OymaH, s=5 + 60 - 0,5 = 35 kM MelaBaz;
2) A3 pyu dopmynau s=a+ 60t xkumatu ¢ -po Me€beM: =29

60
Xanromu s=70, a=10 6ynaHn, r=(70 - 10) : 60 =1 coat. A

MamkXxo

26. HaBucen:
1) cymmau agaagxou m Ba n;
2) dapku ananxou a Ba b;
3) dapku nyyaHgau agaaxou a Ba b ;
4) xocusm 3apOu aydaHaau aaaaxou m Ba u;
5) XOCUJIM TAaKCUMM CyMMau ajgaaxou #n Ba m 6a papkKy OHXO;
6) XOCWJIM 3apOy CyMMaM aaaxou a Ba b 6a ¢papKu OHXO.

27. Hap udomaxonm mo€HM xapdxo KamoM amaaxopo mdopa kKapaa
MEeTaBOHAH/I;
1) naBoMHOKUM TaHadPyC 1 JaKUKA;
2) nap cuHdU Mo y Hadap JOHUILIOMY3 XaCT;
3) nap cuHdpu VII x paHHU TabIMMA OMYyXTa MellaBaj;
4) nap Ik MoX k 4yaHj py3 xacT?

28. Pagudu cynbuu 3amMuH 00 cypbaTu 9 KM/C xapakat MeKyHaa. Yaasaiu
3€pUHPO Myp KYHE:

Macodau Taitimyna, KM 45000 1350 000

BakTu xapakar, ¢




29.

30.

31.

32.

33.

34.

35.

36.

38.

39.

ABromobum ,,Spark® map macodau 100 kM a 1uTp cy3uLLBOPH capd
MeKyHa. YanBaau 3epuHpo Myp KyHeI:

Macodau Taitiyaa, km 300 800 1000 N

Capdwu cy3uiBopH, 1 Sa 4a

Hap sk xanta m KWJIOTpaMM OpI, Jap XaJiTau aurap Oolllaa Hazap
0a xajTau IKyM n KT KamTap opa xacT. Jlap xajirau IytoM 4aHi KUJI0-
rpamm opa xact? Macbanapo xaHromu 1) m=50 Ba n=12;
2) m=45 Ba n=15 OygaH xaa KyHes.

Muénarapza nap | coar 5 KM pox Tait MeHamosia. Y map: 1) 3 coar yaHz
KMJIOMETp pOX Tail Kapaa MeTaBoHana? 2) nap k coar-uym?

ba nykoH a xanram xap sikeain S0 Kr opa goiuTa, oBapaaHa. ba nykoH
Y¥ Kagap opi oBapaaaH?

Tpakropun nap 1 py3 15 ra 3amuH 1uyarop kapa. TpakTopur gap a py3
YyaHJI TeKTap 3aMUH IIYATrop Kapjaa MeTaBoHa?

6 4y3bIrupHu Xap KaIoM X CYMH Ba 3 0acTa KOFa3u Xap KaaoM y-CyMH
xapuaa uya. Tamomu xapua yaHa cym act?

MommHu Oopkair a3 aHbop 0a AYKOH 15 KyTTH, KM Xap sKe a
KWjiorpaMMB oty gopan Ba 20 KYTTH, KU Xap sIKe b KujorpamMmu
ceb nopan, oBapa. ba 1ykoH yaHa KiyiorpaMM MeBa oBap/a 1yaaacTt?

ba mommH £ xanTta, Ku xap sIKe m KWJOrpaMMU TraHayM JOLIT Ba ¢
XaJITa, K1 Xap sIKe #n KWIOTpaMMM YaB JIOIIT, 00p KapaaH. ba monmn
YyaHJ KWJIOrpaMM Fajuia 0op KapaaaHa?

. Jlapo3uu MaligoHu TaypuOaBUM HA3AMMAaKTaOM, KU LIaKJIA POCTKYH-

ya nopan, 6a a meTp 6apobap, Oapaill a3 mapo3uail b MeTp KYTOX-
tap. DopMysian MacoxaTyi MH MaiioH S -po €oe.

Hap KkuHOoTeaTp m KaTop, K1 Xap sike n-TOTH Yoii Jopan Ba 003 k-To
yoiin mioBaru xact. KuHorearp xamarn yana yoii gopan? @opmynan
XaJUIM MH Machbajapo TapTuO auxed Ba xucodpo xaHromu m = 30,
n=25, k=60 0ymaH n4po HaMOE].

Py3e, xu map yanBanu mapc S5 mapc, ny taHadpdycu 15 gakukarn Ba
oy taHagdycu 10 makukard xact, Tajaba gap mMakTad 4aHA BakT
MemaBan? (1 mapc — 45 gakuka).

.. 2 — AnreGpa, cuudu 7 _ 17



40). ®opmynau xucod KapaaHU NMEPUMETPXO Ba MAcOXaTXou (PUrypaxoepo,
KU aHI03aXO0SIIIIOH 1ap pacMM 2 oBapja LiyJaaH1, HaBUCe/:

n

s

n g y

X

a) 0)

n n
N

a | s =] N x
-QI = y a
¢ Pacmu 2. 2

41. Jdapo3uu pocTKyHYa a3 Tapadu KBagparT 8 M Japo3, Oapall Ooiuaf
a3 Tapadu xaMuH KBaapaT 4 M KyToxTtap acT. Tapacdu kBagpatpo 60
SroH xap¢g uiopa xapaa, 1) mapo3uu Tapadxo; 2) nepumetp; 3)
MacoXaTu POCTKYHYAU XOCUJIIIYIapO HaBUCEI.

42*. ABTOOYC gap f coaT s KMJIOMETP POXpO Tail MeHaMOsia. ABTOMOOWIT
Oapou OH, KM MH Macodapo a3 aBToOyc 1 coaT Te3rap Tail Hamosia 60
KaJioM cypbaT 00511 Xxapakat KyHaj?

43. bo popmynau x =2a + 3b (kM) xaJlii Machaia ou 0a XxapakaTu aBTO-
Oyc HaBuilTa wIyaaact. [llaptu Mmacbanapo TapTud auxen.

44. Macoxat MaiiioH1 TayprOaBMK MaKTad a METpU KBaapaThd MeOoLIaz.
A3 wH wMaiigon 1500 m? Oor Oyma, KucMm OokumoHma 0Oa 20
MaiiioHYaxou 6apobap 4yyao Kapjaa ygaact. MacoxaTu xap sike a3
WH MaiioH4axo 0a ym Oapobap act?

45. ba 6onk 50 000 cym ryzomra 1ya. Ilac a3 gk con OyHEnu oH 0Oa
p % ad3yn. babam gk con Mabyiary OyHEAM OOHK YaH[ CyM Lrygaact?

46. bapou xuco0 KapgaHM MacoxaTW POCTKYHYaM acocall a AM Ba
nepumetpail 42 oM udona raptud auxena. bapou KkumaTxou a, K1 gap
18



yaaBajl oBapAa IIygaaH, KUMaTh MacoxaTu POCTKyHYa S -po (60 1m?)
XUCOO KyHEI:

a 5 6 7,5 10 12 12,5 15

J\@ /| Tarxo 60 épuu 4-mo 9 6a amanxou apgpumemuri ugodau adadue
mapmu6 ouxeo, ku kumamaui 6a 100 bapobap 6ouad.

47*. BenocurieapoH 00 cypbaTh MUEHAM v KWJIOMETP Jap SIK coaT XapakaT
MeKyHaz. Ypo JIO3UM acT, KM TO IeXaW a3 MYHKTU PaBOHIUABH Hap
Macodaun s KM BoKebOyna padra pacan. Arap ¥ 3 KM macodapo Tai
Kapja oolana, 6apou 6a aexa pacugaH 0a Bail 603 yaHd BakT AapKOp
act? Arap ¥ 3 kM Macodapo Taii Kapaa Oomram Ba s=36, v=12
oowraa, o€ To Aexa map 2,5 coar padra mepacan?

48. ABroMmoOwimn sIKyM gap macodau 100 kM 6a xucobu mu€Ha 5 1,
aBpToMoOuM ayoM oowan, gap 100 km 10 1 6eH3uH capd MeKyHa.
Arap jpap 6aku xap sIK aBTOMOOMJI a J1 O€H3UH Oollajl, OHXO KagoM
Macodapo Taii kapaa metaBoHaHna? Arap a= 20 s Ooman Ba
aBToMo0uIx0 a3 Toukang 6a cyu CamapkaH Jap sIK BaKT POX Iell
rupudTa Oomana, Kagom aBToMoom 6a Camapkany pagrta mepacan?
(macodau 6aitnu Towikana Ba Camapkasa 300 km).

§ 4. | Xocuamxou amaaxou apugpmemuxi
1

Bapou xy0 a3 xyn kapaaHu ajredpa XOCUSITXOM aMaIxou apru(pMETUKUPO
Xy0 JOHMCTaH 3apyp acT. ba xoTup MeopeM, K1 aMaaxou apudMeTUKA
rydra, amaaxou yamb, TapX, 3ap0 Ba TAKCUMPO MEHOMAHI. XOCHUSITXOU
MH TYHa aMaJxopo 00 agaaxo Aap 1akjiau (GopMyJaxod KYTOX MEHABUCEM.
XOoCUATXOM acOCMM aMajIX0 OJaTaH KOHYHX0 HOMWJA MellaBaHd. A3
KOHYHXO ucTudoaa Oypaa, Aurap XOCHUSITXOM aMajXOpo HU3 HaBUILTAH
MYMKHWH acr.

1. Yamsb Ba 3apb.
KoHyHxomn acocum yamb Ba 3apOpo Auaga MeOapoeM.
1. KoHyHu youiueaskyHi:

a+b=>b+a, ab=ba. .




2. KonyHu eypyxoanoi:

(a+b)+c=a+(b+c), (ab)c=a(bc). I

3. Konynu makcumom:

a(b+c)=ab+ac. I

ap 6apobapuu Ma3kyp a, b, c —aganxou UXTUEpH MebolaHa. MacanaH,

1,243,5=3,5+1,2; i.(_z):(_z)g;
4| 7 74

(=8)-(125+7) = (=8) - 125+ (~8) - 7.

Bbo épun KoOHyHXOM YaMmb Ba 3ap0 XOCHSITXOM IWTapy aMajxopo HU3
XOCHWJI KapJlaH MyMKMH acT. MacaaH:

a+b+c+d=a+(b+c+d), (abc)d =(ab)(cd),

(a+b+c)d=ad +bd +cd.

Macwanan 1. Xucob kynen: 75 + 37 + 25+ 13.

A Xwucobpo 60 TapTMOM HUILIOHAOAALIYAA NYPO KapJaH MyMKHWH acT: 6a
75 aganu 37-po yamb Kapaa, 6a HaTuya 25-po yaMb Kapjaa, 0a HaTu4yau
oxupuH 13-po yamb KapaaH. JIEKrH, a3 xocusaTxor yaMb uctudoaa oypaa,
XMCOOpO coaia KapaaH MyMKUH acT:

75+37+25+13=(75+25)+(B37+13)=100+50=150. A

A3 MH MucoJ1 bapMeosia, KM a3 XOCUSITXOU aMayixo uctudona oypaa,
X1co0po 00 ycynu comgaTapuH (OKUJIOHA) MYPO KapJaH MyMKHH acT.

XOCHUATXOU aMalixo Jap 4YoMMBa3KyHH, KU 00 Makcaau cojja
rapaoHuaaHu udomaxou aaredOpaBd UYpO Merapaan, HU3 ucTUdoAa
MelllaBaj.

Macwanan 2. Wdonapo conga KyHen:
32a+4b)+5(7a+b).
A 3Q2a+4b)+5(7a+b)=3-2a+3-4b+5-Ta+5-b=6a+12b+35a+5b =
=(6a+35a)+(12b+5b) =(6+35)a+(12+5)b=41la+17b. A
Jap yapa€Hu xaJlyln Machbajia YyHUH M(oJa XOCUI Merapaas;
6a+12b+35a+5b.



Hap vH ndona yambiiaBaHmaxou 6 a Ba 35 ¢ MOHaHJIAH/, YYHKU OHXO
a3 xamMaumrap TaHX0 00 KO3(@UTCUEHTXOSIIOH ¢apK MeKyHaH]I.
YampbiuaBangaxou 12 b Ba 5 b MoHaHa MeOomiaHa. A3 UH cabab 0a you
ndoman 6a + 126+ 35a + 5b nudponant 4la + 17b -po HaBUIITA, AB30XOU
MOHaHJPO YyaMb KapAaH MyMKUH acrT.

Xucobu (ocuaBupo Kn@oxA MYpo Kapaa, HaBUILTA YONUBA3ZKYHUPO
KYTOX KapJaaH MyMKWH acT. MacaiaH,

6(3x+4)+2(x+1)=18x+24+2x+2=20x +26.

2. Tapx.

Macwanan 3. Ilaxpu Yuzzax gap mobaiiHM 1maxpxou TolkaHz
Ba Camapkanj yoirup mygaact. Macogau a3 Tomkana To CaMmapkaHz
300 kM, a3 Tomkang To Yuszax 180 km. Macodau Oaitnu Yuzzax
Ba CamapkaHIpo €0e/.
A buryzop macodau 6arinn Yuzzax Ba CamapKaHI X KWJIOMETp Oolas.
Hap uH xonar

180 + x = 300 memaBaz, mac x =300-180 =120.

YaBo0O. 120 kM. A

Hap myonunau 180 + x = 300 HoMabymMu x 00 €puK amaau Tapx, Ku
Oapbakcu amaji yaMb HOM Jopai, €édTa MellaBa.

TS ‘ Tapxpo 60 épuu yams Kapoanu adaou mMyKobua HU3 Uea3 KapoaH

MYMKUH acm.
a-b=a+(-b). I

A3 1H cabab XOCUITXOM aMaIxou Tapxpo 00 €pUM XOCUSITXOU aMaJl-
XOM YaMb aCOCHOK KapJaH MyMKWH acT:

251+ (49 —-13)=251+49-13 =287, a+(-c)=a+b-c,
123-(23+39)=123-23-39 =61, a—(b+c)=a—b—c,
123-(83-77)=123-83+77 =117, a—(b-c)=a-b+ec.

Macwanan 2.Kumatu nudoaaxopo Xxucod KyHe:
4(3x—-5y)+6(x—y),
1

1
Jap UH 40 X=—, y=—.
P * 2 Y 13

A Tlem a3 xama ndogan AomalIyaapo CoOaIa MEKyHEM:
4B3x-5y)+6(x—y)=12x-20y +6x -6y =18x —26y.



1

1 .
Kumatu ndonan xocwiygam X = 3 y= 73 Po MeeoeM:

181 -26.L-9-2-7.a
2 13

Y bapou ucmughooa a3 xocusmxou anreebpasii new a3z xama ugooapo
codda Kapoan A03um acm, Ku UMKOH Meouxad Kumamu oH 60 poxu
OCOH Xucob Kapda waeao.

3. Takcum.

Macwanan 5. Macoxatu poctkyH4ya 380 cm?, ke a3 Tapadali

95 cm. lapo3uu Tapadu AyrOMU pOCTKYHYApO €0e.

A A3 dpopmynau S = ab uctudona oypna, p = s -po Me€beM. A3 OH cabao,

k1 S=380, a=95 acr, a
_ 380 _

95

b 4.
YaBo6. 4cm. A
Hap myonunau ab = .S HoMabiymu b 60 €pyum aMaiv 3ap0, K1 0apbakcu

amaJii TaKCUM HOM Aopal, é(Ta MeliaBajl

4 ‘ Amanu makcumpo 60 épuu 3apb Kapoaumu adadu MyKoOUa HU3
5| ueaz kapdan mymkun acm.

S|

a_,
4_

A3 MH cabab XOCHUSITXOM aMaJIXOM TaKCUMpPO 00 €puM XOCUSITXOU
aMaJIxou 3ap0 aCOCHOK KapJaH MYMKMH acT:

Macwanaun 6. bapodapupo ncOOT KyHe.:

nap uH yo ¢ # 0.
A Takcumpo 60 3ap0 MBa3 Kapaa, XOCHUJI MEKYHEM:

a+b 1

=(a+b) —.
c
MyBo(pUKU KOHYHU TaKCUMOT, XOCUJ MEKYHEM:

(a+b)-l=a-l+b-l
c Cc Cc




3apbpo 00 TakCuMM MBa3 Kapja,
1 b

1 a
a—-+b-—-=—+-
Cc c c c

-PO XOCHJI MEKYHEM. A

MamkXxo

49. KoHyHXO Ba XOCHSITXOM aMajixou apudMeTukupo uctudona oypaa,
KUMAaTH agaauu udoaapo €oen:

1) 29.0,45+0,45-11;
2) (51,8+44,3+48,2—24,3)-§;
3) 4,07-5,49+8,93-1,51;
4) -11,401-23,17+4,401-10,83.
50. AB30X0M MOHAHIPO MUCIOX KYHE]I.
1) 4a+2b+a-b; 3) 0,1¢-0,3+d-c-2,1d;
2) x-2y-3x+5y; 4) 8,7—2m+n—%m+§n.
51. AB30XO0M MOHAHJIPO UCJIOX, KyHE.
1) 2,3a-0,7a+3,6a—1; p2y-Lp L1y 2y s,
),a—,a+,a—, )6y3 6y3 )

2) 0,485 +3+0,52b-3,7b; 5) 2,Im+n-32n+2m+1,1m—-mn;
1 1 1 5

3) §x+5x—ga—ga+2; 6) 5,7p-2,7¢+0,3p+0,8¢+1,9¢—p.

52. Udonmaxopo conaa KyHe/:
1) 3Q2x+1)+501+3x); 3) 10(n+m)—-4Q2m+Tn);
2) 4Q2+x)-3(1+x); 4) 11(5¢+d)+3(d +c).

53. Udonaxopo coaaa KyHea Ba KUMATU aJaaii OHXOPO €0e;

1

1) 5Gx~7)+2(1-x), nap uH 4o X =

2) 710 - x) +3(2x —1), nap un yo x =-0,048;



3) %(6x—3)+%(5x—15), nap uH 4o x = 3,01;
4) 0,01(2,2x-0,1)+0,1(x -100), map ux yo x =-10.
54. bo nctudona a3 XoCUITXOU aMaJIXOM apu(PMETUKH XUCOO KyHE:

6 3
1)%(@14+;1—15x 3) (182+212):3

1 5 15, 1
2 _(458_0924_192; 4 — ) —.
) 5 ) ) (157+2016) ;

]
§ 5. Il Kouoaxou rxywodanu xaecxo
!

1. Cymman anredOpaBn.

Macwanau 1. [Jlap xoHau OucTynaHyollI€Ha JUPT KOp MEKyHa.
OH aBBai a3 oméHan 8-yM 6 oméHa nact dypoman, 6aba 12 oméHa 6a
000 Oapoman, 4 oméHa nact gypoman, 7 oueéHa 0oyo Gapoman, 13
oméHa nmact ¢gypoman. JIudt nap kamom omeéHa UCTOIAACT?

A bapou gap KagoM oli€éHa uctogaHu JudTpo €draH, Kumatu udoaau
amamnu 8§ -6+ 12—-4+ 7 -13 -po xucob KapaaH 3apyp act. MMH Kumat
0a 4 Gapobap act. AAbHe, MUdT Aap omieHau 4-yM MCTOMAACT. A

A3 Kypcu MatemaTukau cuHgu VI 6a 1ryMo€H MabjiyM acT, K1 udoaaun

8—6+12-4+7-13
-po udonau anredpaBm MeHOMaHA. YyHKM OHpO O0a HAMYIW CyMMau
8 +(=6)+ 12+ (—4) + 7+ (- 13) HaBUIITAaH MYMKUH acT.
Oup 6a cymMmaxou ajireopaBr 003 MHUCOJIXO MEOBapeM:

3-(-7Y+(2), a-b+c-d, a+(-b)—(-c).

XoTHUppacoH MEKyHeM, KM TapX KapaaHW ajgaau (—c), yaMb Kapraa-
HU ajgaau Hucbar 6a (—c¢) MykKoOwi, ssbHe YyaMb KapaaHu c-po Medax-
MoHaza. buHoGap MH cymman anaredpaBUM OXMPUMHPO MH TaBp HaBUILTAH
MYMKUH acCT:

a+(=b)+ec.

Cymmau anreopaBl — HABUILTECT, KM a3 IKYaH1 Udogaxoun ajareopaBumn
00 aiomarxom ,,+“ Ba ,,—“ maiBacTIIyga nOopar acr.

- o0



Opnaran cymmaxou anreopaBuv Hamyau 3 —(=7) + (=2), a+(-=b)—(-c)
-po MyxTacapTap YyHUH MEHaBUCaH]I;

3-(-7)+(-2)=3+7-2; a+(-b)—(-c)=a-b+c.

Hap cymmau anredpaBuu 3 + 7 — 2 agaaxou 3,7 Ba —2 yaMbllaBaHIaXx0
Meoowan, yyHku 3 + 7 -2 =3 + 7 + (-2); nap cymmau airebpaBum a —b +c
amanxou a, —b, ¢ YaMmblIIaBaHIaxo MeboIIan, YHKN g —b+c¢ = a+(—=b) +c.

2. Kymonanm KaBcX0 Ba 0a KaBCXO0 JAOXHJ KapaaH.
NUdonau a + (b+c) -po a3 Hazap Mery3apoHeM: KOHYHU TypyxO0aHIUU
yaMbpo UCTU(OA KapJa, UH TaBp HABUIITAaH MyMKHUH acT;

a+(b+c):a+b+c.I

Hap uH 6apobapn c-po 60 — d uBa3 Kapaa, XOCUI MEKYHEM:

a+(b—d):a+b—a’.'

Hap ndonaxoe, K1 nap Ha3au KaBC ajjoMaTud ,,+ ry3ollTa lLIyaaacT,
YOMMBA3KyHN! J1ap acoOCU XaMMH Oapobaph mypo memaBan. MH 6apoba-
puxo 0a KouJau aBBaJIMHU KYILIOJAHU KABCXO MeOoBapaj:

VS Aeap 6a ughodau ancebpasii cymmau anseebpasuu 6a Kascxo
Bes| cupugpmawyda yams kapda wagad, o 20X AAOMAMU XAD SK
YamMsulaeanoau UH CyMMau aneedpasupo Hu2ox douma, Kaecxopo
napmogmar MymKuH acm.

Macanan:

1) 14+(7-13+2)=14+7-13+2;

2) a+(b+c—-d)y=a+b+c—d,

3) (a-b)+c=a-b+c.

Hap udonaxoe, K1 1ap Ha3au KaBC ajloMaTy ,,—* Ty30IlITa 1I1y1aacT,
UYpoOU YOMMBA3KyHH 0Oa UYYHMH XOCHUSITXOM amajXxoud TapX BoOacra

MeOooLIa;
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—(-a)=a, —(a+b)=-a-b,
a-(b+c)=a-b-c,
a—-(b-c)=a-b+c.

A3 0apobapum Ma3Kyp Koudau 0yiomu KyulooaHu Kaecxo 0apMeosia;

D Aeap a3z ugodau ancebpasii cymmau areebpasuu 6a Kascxo
EEd| eupugpmawyoa mapx kKapoa waead, oH 20X aromamu xap sk
yamsulaeaHoau uH cymmau anreebpasupo b6a mykobusauwl ueas
Kapoa, Kascxopo napmopman MyMKUH acm.

Macasnah:

1) 14-(7-13+2)=14-7+13-2;
2) a-(b+c-d)=a-b-c+d,
3) (a-b)+c=-a+b+c.

Macwanau 2. KaBcxopo Kylloed Ba Coaga HaMOEI:
3x+(5-(8x+3)).
A 3x+(5-8x+3))=3x+5-8x+3)=3x+5-8x-3=2-5x. A
bab3aH gkyaHa yamblIaBaHIAXopo 0a KAaBC JOXWJ KapIaH 3apyp
MelllaBaj.

Macanan:
1) 108—-137+37=108—-(137-37)=108-100=8;

0 | ) a+b—c+a’=a+(b—c+a’).|

Jlap MH Yo el a3 KaBCcXO ajoMaTtu ,,+°“ Ty3oluTa IIygaacT,
OMHOOAp MH aJloMaTXOU XaMau YyambllaBaHAaXou 0a KaBCXO JOXWUJI
1IyJa, HATOX JOIITAa MeELIaBaHI.

3) a—b—c+d=a—(b+c—d).|

Jlap uH 4o meur a3 KaBcxo ajioMaTu ,,— Ty30llUTa ILIyJaacT,
OMHOOap MH aJoMaTXOM XaMau yaMblllaBaHIaxon 0a KaBCXO
JTOXWJI Kapja I1yaa, 6a MyKoOMJIAIlIOH MBa3 Kapaa IIyaaaH/I.

7N
(o ~am|
-




55.

CymMan anredpaBupo 0€ KAaBCXO HaBUCE:
D (#4)+(-3)- (7% 3) (-a)+(Th)+3c
2) (-4)+(-9)-(-11); 4) 2a+(-3b)-4c.

56. YamblliaBaHIaxou CyMMau ajare0paBupo HOMOAp HAMOE:

57.

58.

59.

60.

61.

62.

63.

1) 15-¢; 2) m-T, 3) —a+47, 4) _13-5.
Jlap HaMyIu cyMMau ajure6paBd HaBUCEN:
1) a-b+c; 2) 2+b-c; 3) a-2-b; 4) 3+a-b-c.

Kascxopo kymoen (58—59):

1) a+(2b-3c); 3) a—-(2b+3c);

2) a-(2b-3c); 4) —(a-2b+3c).

1) a+(b-(c-d)); 3) a-((b-c)-d);

2) a-(b-(c-d)); 4) a—(b+(c—(d-k))).

Kagcxopo Kyl1ioen Ba coaia HaMOe/I;

1) 3a—(a+2b); 3) 3m-(5m-(2m-1));

2) 5x-Qy-3x); 4) 4a+2a-Ba+3)).

Ilewr a3 kaBcxo anomaru ,,+“ ry3oiuta, a3 anaau m € (—m) cap Kap-
Ja, XaMal yaMbllIaBaHIax0po 0a KaBCXO TOXMJI HAMOE:

1) a+2b+m-c; 3) a-m+3c+4d,;

2) a-2b+m+c; 4) a-m+3b*-2a’.

ITeur a3 kaBcxo ajiomaru ,,—“ ry3oliTa, a3 anaau m € (—m) cap Kapna,
XaMau yaMbllIaBaHIAax0po 0a KABCXO TOXUJ HAMOE:

1) 2a+3b+m—c; 3) c—m-2a+3b%

2) 2a+b+m+3c; 4) a-m+3b*-2a’.

1) Udponan a+ b—1-po 6a Hamynu cymMmau Ay YaMblllaBaHAaX0e
HaBHCeJl, KU SIKe a3 OHX0 0a a Gapobap acr;
2) Udonau a— b+ 1 -po 6a Hamyau apKu TapxiliaBaHaaall a Oyna
HaBUCe/I;
3) Udonam 2a — b + 4 -po 6a Hamyau dapky TapxXliaBaHaaall 2a oyaa
HaBHCeI,
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4) Udonau a—2b + 8 -po 6a HaMmyau cyMMau 1y YyaMbllaBaHOIaXx0e
HaBHUCe, KM sIKe a3 OHXO0 0a 8 6apobap acr.

64. Iap udonau 2x* + 5x’y —4xy* — y*:

1) meur a3 KaBCXo ajJioMaty ,,— Ty3011Ta, Ce YaMbllIaBaHIal OXUPUHPO
0a KaBcXo JOXWJI HAMOE]T,;
2) Tiell a3 KaBCcXo ajJoMartu ,,+ ry3ouTa, 1y yaMmbllaBaHAau OXUPUHPO
0a KaBCXO JOXMJI HAMOEI;

3) mel a3 KaBCXo ajoMartu ,,—* Ty30llTa, YaMblllaBaHIau JyIOM Ba
ceroMpo 0a KaBCX0 JOXMJ HAMOE/;
4) meln a3 KaBCXO ajloMaTu ,,— Ty30llTa, YaMblllaBaHIau SIKyM Ba
JIYIOMPO 0a KaBCXO JOXMJI HAMOE]I.

65*. ba you HyKTaxo aJoMaTrxou ,,+“ Ba ,,—“ -po UyHOH Ty30peld, K1
Oapobapuu AypycT XOCWII 11aBal;
1) a-(b+c)=a+(...b...c); 3) m—-(n—-a)=m+(...n ...a);
2) c—(a-b)=c+(...a..b); 4) n—-d-DH=n+(.d..1D).

ﬁ) Xyapo oucanyen!
1. Xucob KyHen:
1) (17,2-4,01+4,01-32,8): 1%;

2
1 1 2
——|=1-2]1=1-25-0,03-4.
> 53] ()
2. Udonmaxopo comma KyHell Ba XaHTOMH X = —g, y=0,25
OynaH, KUMaTH agaauu OHpO €0e/;
32y —x)-2(y - 3x).

3. bapou ucrtupoxatroxu 6auyaron 10 goHa moxMor Ba 15 goHa

TVO XxapuaaHi. SK IOXMOT a cyM Ba SIK TYO b cyM Meucras.
Bapou Tamomu xapua yaHg myn capd Lrygaact?

66. Comgnma KyHen:
1) (5a-2b)-(3b->5a); 3) 7x+3y—(-3x+3y);
2) (6a-b)—(2a+3b); 4) 8x-(3x-2y)-Sy.
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67. Myonuiapo Xaa KyHe:

1) Qx+1)+3x=16; 3) (x=3)-(5-3x)=2;
2) (x—4)+(x+6)=4; 4) 23— (x+5)=13.

68. Mdomapo aBBas coma KyHe Ba COHA KMMAaTH afaaiui OHPO €0e:

1) 2c+5d)—(c+4d), nap ua 4o ¢=0,4, d=0,6;
2) (3a—4b)-(2a-3b), nap uH 4o a=0,12, b=1,28;

3) (7x+8y)—(5x—2y), Aap MH Yo x:—%, y =0,025:
1
4) (5¢-6b)—-(3¢c—5b), nap un 4o ¢ =-0,25, b=25.

Mamkxo aoup 60a 6oo0m I

69.

70.

71.

72.

73.

Kumatu ananuu udonau anredpasupo €oen (69—75):

1) a+bc, papunyo a=-1, b=3, ¢=0;

2) a-bc,japuH Yo a=2,b=-1,c=-3;

3) (a+b)c, mapuH yo a=1,b=-3,c=2;

4) (a-b)e, mapuH 4o a=3, b=1,2, c=5;

S5) (a-b)+(c—d), napuH 4o a=4, b=2, c=3, d=-1;
6) (a-b)—(c—d), napuH 4o a=0, b=-4, c=-2, d=3;

1
7) a-(b-c), map un yo a=0,5, bzg, c=-1,2;
8) a—(b-c)—-d, map un 4o a=5,2, b=13, ¢=2,8, d=2,8.

D 5(x-y)% 2) 3(x+y)’s 3 (GSx-y); b GBx+y),

JapuHYyo x =2,5, y =4,5.

1) 2((a-b)*+1); ‘ 3) ((a-b)a-8):2;

2) 43-(a-b)*); 4) S5a-(a+b)):3, nap uH 40 a=15,b=-1.

1) 3(a+b)-2ab; ‘ 3) 3(a-b)+2ab;

2) 3a+b-2ab; 4) 3a—b+2ab, nap uH 4o a=1,2,b=1,8.
1

1) 5b3—302, Jap UH 40 b =-2, c=—%;



2) —0,75a2+1§b2, Jap MH 4o a=-2, b=23;

3) (a® -26)%, map ua 4o a=-5, 4) (a’+26)°, nap un 4o a =-3.

74. 1) 7x* -2ax, nap un 40 x:—g, a=1,5;

2 1
2) 3ax—5x*, map uH Yo X =7, a4=--

3) 2m’(3m* —k)*, map wH 4o m:—%, k=0,75;

4) 3m*(2m* —n)*, Dap vuH 4o n :i, m=-0,5.
75. Xucob KyHex:

| (t-2) R 2a° —4a-1 3
= =-2; — a=-3.
) 32 s ar 1 A@p MH YO ) @r1 HapuH Yo

97\@ 2| Ilap pacm uano cekynya, Keadpam ea
POCMKYHYa masyyod acm?

76. Sk rekrap mapaxT3op Jap sK cojg 70 T yaHTM XaBOpO To3a Kapia
metaBoHan. 10 ra; 100 ra; m ra mapaxT3op gap SIK COJ 4YaHJ TOHHA
YaHTU XaBOPO T03a Kapaa MeTaBoHan? /lapaxT3opu Macoxatv ymymuall
16 000 ra xaBopo a3 yaHJ TOHHA YaHT TO3a Kapla MeTaBOHAa.?

77. Mabaym acT, KU XaHTOMM 1y MapoTuOa 3u€n LIyJaHU CypbaTu
XapakaTty aBTOMOOWJI pOXY TOPMO3MHM OH YOp MapoTHOa 3UE MEIlIaBall.
Yaasanxopo uctudoaa kapaa, Japo3uu poxyd TOPMO3UPO XaHTOMU
a3 30 xm/coaT T0 60 KM/coat 3uéH LIyTaHU CyphaTh XapakaT €0e:

bapou moriHu cabykpaB Bapou MowHK GopKalil
v (KM/coar) t (m) v (Km/coar) t (m)
30 7,25 30 9,5

78%. (Macsanau Abypaiixon bepynii.) Arap 10 nupxam mya gap JaBOMU
oy Mox 5 mupxaMm ¢ompa opan, a3 8§ gupxam IyJa gap JaBOMU ce
MOX 47 Kagap ¢owuna rupudTaH MyMKUH?
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91y Poxu ‘
: TOPMO3 - (6.0 olol

TecTx0 — MamKxou caHyuIA Aoup 0a 600u 1

Jap nmo€H MalKxou cCaHYMIIA (TeCTX0) oBapa liyaaaHa, KU Aap xap
KagOMM OHXO 5 TOTH ,,4yaBo0“ goja 1rygaact. A3 5 ,,4aBo0* TaHXO SIKTOSIII
JIypycT MeOollIa, AUrap xamaall HOOypycT acT. Mallkxou CaHYUILIMPO
WYPpO KyHe € 00 Epur BOCUTAaXOM JUrap 4aBoOU AypyCTpO MyaisiH HaMyia,
HUIIIOHA KyHE/I.

1. a=2,4, b=3,6, h=1,6 Ooiian, KuMatu agaauu udoaau,

s = g (a+ b)-po €oen.

A) 4,8; B) 3,18; C) 6,36; D) 0,48.

2. Arap a=12,5, h=6,4 6owan, Kumaty anamiu udonau s=%ah -po €oeyr.
A) 40; B) 400; C) 4; D) 36,1.

3. Arap a=5,1, b=4,7 6owman, xkumatu agaguu udbonam P =2(a+b) -
po €6en
A) 196; B) 19,6; C) 1,96; D) 18,16.

4. Macoxatu pocTKyH4Ya 6a .§', acocaii 6a a 6apobdap act. bapou €dpranu
MepuMeTpy OH Moaa TapTUd JUXe.

S ) S
A) 22T B) ;+2a; O 2(§+a); D) —ta.

5. TlepumeTrpu cexyH4yam OapoOapmaxjy 6a P, mapo3um acocaur 0a a
O6apobap act. bapou édpranu Tapadu naxayun cekyHya mdoaa Taptud
AUXC.
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A) 2a-P.  B) 2P-a: C) P-a D) %(P—a).

Arap a=2,5, b=2,4 Ba ¢=3,5 6omwan, KuMatu agaauu nudomaun

V =abc -po €6en.
A) 18,3; B) 21; C) 2,1; D) 12,1.

. Arap a=5,b=6,4,c=4,5 6owan, kumatu agaauu udbosau

S =2(ab+ac+ bc) -po ében.
A) 50.,45; B) 83,3; C) 166,6; D) 109.

. Mopap 06apou dap3aHgoHall a cyMnA 8 AoHa ajOdOMM pacMKaIlll,

b cymu 5 noHa pyuka Ba ¢ cymu 20 noHa gadrap xapua. bapou xuco6
KapJaHU TaMOMU Xapua udoma TapTuo TUXeI.

A) 8a+5b+20c; | B) 8a+25(b+c); | C) 800abc; | D) 8a+100ba;

9. Kascxopo Kyoen Ba conna Hamoen: 5a+ (3a—(4a+3)).

10.

11.

12.

13.

14.

A) 8a+3; B) 4a-3; C) —4a-3; D) 3-4a.

MNdonapo conna KyHen Ba KUMaTU OHpoO Jap xoaatu a =2,4; b=1,5

OymaH, €oen: 0,5-(2a—-3b)—(4b+2,5a).
A) 17,4 B) -17.,4; C) -1,4; D) -11,85;

Kumatu anapum ndonapo €oen (11—14):
(64,2-7,02+17,9-14,04):4%

A) 169; B) 16.9; C) 159; D) 15.9.

35 .0,87-2,34.1,8+32 11,

29 3 2

A) 67, B) 3,788; C) -6,2; D) -3,788.

(35,7-12,24—21,4-6,12):1%.

A) 578; B) 306; C) 162; D) 16,2.
(~1,5)-(2,7:(=0,9) = (=7,2) : 3,6) + 2,4 - (=2, 5).
A) —6: B) -7.5; C) 7.5; D) -4.5.



15.

16.

17.

18.

19.

20.

X

Ilepumerpu pocTKyHYa 0a p, acocaiil 6a a 6apodap act. bapou xuco6
KapaaHu 0ajaHauy oH ndojaa TapTuo JUXe/.

p-2a. 2a-p
A) S B) 2a-p; C) 5

Hapo3uu sk Tapadu cekyHya 06a a Gapobap Oyna, a3 Tapadu ayro-
Malll 2 CM KYTOx, a3 Tapadu ceromall 3 cM gapo3 Meodowaa. bapou
X1CO0 KapJiaHU TIepUMETPU UH ceKyHYa 1doaa TapTruo JUXEI.
A) 3a-1; B) 3a-5; C) 3a+35; D) 1-3a;

HMdonapo conna KkyHen Ba KUMaTh OHPO XaHromu a = 2,7, b=4,2 6ynan
¢oen: 3(2a— b) —2(a-2b).

A) 24,36; B) 27,6; O) 8,7, D) 15; E) 14.
Hapo3uu gk Tapadu ceKyHya 06a a Gapobap act. dapo3uu Tapadpu
nytoM 80% wH Tapadpo Tamkwi Meauxaa. Arap Tapadu ceroM Oa
Huchu cymmau Tapadxou SIKyM Ba ayloM Oapobap Oollas, nepumMer-
pu MH ceKyH4yapo €ben.

A) 1,8a; B) 2,7a; C) 3a; D) 3a+0,8.

Arap h=6, r=2, R=4 oOowman, xumMatu wudogau

V= %nh(R2 + Rr+r?) -po ébep.
A) 56 =, B) 55 &; C) 84 «; D) 28 «.

; D) p-2a;

Arap R=4,5, Ba H=06,5 Ooman, kuMati agagnu udonan
S=2n R(R+ H) -po €6en.
A) 100 =; B) 98 m; C) 99 m; D) 98,5 m.

Macbanaxou Tabpuxi

Macsanau an Xopazmi. Arap a3 agaj cesik Ba YOPSIKM OH Tapx Kapja
11aBaji, 8 0OKW MeMoHa. Xyau agaapo eoe.

@ Macsanau an Xopasmi. lllymo maxpo 6a ce TakCMM Kapaea, COHU SIKe

a3 OHXOpo 0a AUrapaill TaKCUM Kapaea, XOCWIN TakcuM yop 1y, [lymo
Jaxpo 4i TyHa 0a KMCMXO TaKCUM Kapaen?

@ Macwsanau Iepon (acpu 1 Munoan). ba xaB3 a3 my Kyoyp 00 Mepesan. A3

Kyoypu sgkym nmap 1 coar 1 M3, a3 KyOypu ayroM map sk coaT 4 m* 00
Mery3apan. Xaymu xaB3 12 M3. Arap a3 xapay Kyoyp 6apobap o0 pe3a,
XaB3 Jap 4M Kajgap BakT 00 00 myp melaBan?

.‘ 3 — Anre6pa, cuHbU 7 33



@ Macsanau Hiomon. A3 ny nexae, Ku macodau OaitHamr 59 mui acr,
maxcu A Ba B 6a Mykoowiu xamaurap 6a pox 6apomagasa. Illaxcu B
Hucoar 0a maxcu A 1 coat peprap 6a pox Gapoman. Illaxcu A map
JaBoMu 2 coaT 7 Mui, maxcu B pap 3 coat 8 mui pox naiimya. To 60
maxcu B BoxypaaH, maxcu A yaHpg coaT 6osin pox rapaaa? (Mwn
yeHaku Japos3m oyna, 1 mui = 1,852 KM acrT.)

MabayMOTXO0H TabpUXH

Acapxou 06a coxau apudmetuka (,,Jlap Oopau aaropusamum Xucoou
XUHIK ) Ba ajireopa (,,Angadp Baj MyKoOajia“) daxiuuaairyaan pué3auaoH
Ba HYYYMIIMHOCH MallIXypHy XaMMexaHu Mo AGyaoaysuiox Myxamman MOHU
Myco an Xopasmu (783—850) nap nHKuUII0(pM MaTeMaThKa caxMu Ooca3oe
ry3oiuraact. OHXo 6a 3a00HXOM TYHOTYH TapyyMma 1yJia, 1ap 1aBOMU aCpXou
3uén 6a cudatu JacTypy pueE3n Xxu3Mart Kapaaacr.

Tapuymau notHUM acapu ,,Jlap 6opau aJropu3amMu Xucoor XUHANA“ nap
oro3u acpu XII xono gap Yausepcuret Kemopuyu AHIms Maxgys acr.
ba tydaiinu acapu Maskypu ajn Xopa3mu 6a ABpyno cucTeMau JaXyuu XUcoo
BOPUJI TapIuIAaCT.

Hycxaun apabuu anre6pau an Xopa3mn — ,, Kutodbu myxracap nap 6opau
xycobu ayyabp Bay Mykobasna“ nap kutooxoHau boaneanu YHuBepcureTu
Oxcdopa HUTOX JolITa MellaBaa. Acapyu Ma3Kyp a3 ce KUCM Mbopat acr:

1) kucmu anredpa; 2) KUCMU TeoMeTpust; 3) KUCMU BacusSITXO (Xopa3Mi
OHpO,, Kutobu BacusTxo“ Homuaaact). Ai Xopa3Mma Aap acapxou Xy 0a¢H
Ba XaJIJI1 Machajlaxou 3uéaepo 00 KaJuMaxo A01aacT. X.eY I'yHa aJloMaTxo
Ba ndonaxou xapdn uctudoaa Hauryraana. Aia Xopa3Mi HaBUILITAaacT: ,,MaH
,, Kntobm myxracap gap Oopau xucobu aayadOp Baja MykKoOana“-po, Ku
Macbhajaaxou OIM Ba MypakkaOu apudmMeTrukapo gap 6ap merupan, Tabaud
HamynaM. YyHKM XaHIOMM TaKCMMM MEpPOC, T'y30lLUTaHMW BacUSTHOMA,
TaKCMMOTHU MOJIy MYJIK Ba KOPXOM ajjIvsl, CaBI0 Ba 1IapTHOMAaXOu Jurap,
XaMUYYHMH Y€HAKU 3aMMH, Ty3apOHMIAHU HaXpX0, MYXaHIMCH Ba AUrap
KOpxou 0a OH MOHaHJ, XeJie 3apyp acT®. A3 UH 4o OapMeosia, KU OJJUM UH
acapu Xyapo 00 HazapAOIITH Tajaad Ba 3XTUEYM 3aMOHA TabJIU(d HaMyIaacT.
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Macwbanau 3epuHpPO XaJa MEHaAMOEM.
Macwana. Kanam Ba xarkamak 370 cym meucran. Kamam a3
xaTkamak 90 cyMm ap3oHTap acT. Ap3MIlM XaTKallakpo €0en.

A burys3op xaTkaiak x cymM Hapx gopaj, oH rox Kaiaam (x—90) cym
MeucTaa. MyBo(gUKH 1IapTH Machajia
x+(x-90) =370,
a3 MH 40 2x-90=370, 2x =460, x=230.
YaBo0. Xarkamak 230 cyMm MeucTaa. A
Hap 6apobapuu x +(x —90) =370 xapdu x aganu HomabIymMpo udona
MEHaMOSI]I.

T bapobapue, ku adaou Homasaymu 60 xapgh uwopauiyoapo dapoap
wad| Mmeeupad, myodunra nomuoa mewasad.

Hdgpodaxoe, ku dap uwan éa pocmu aromamu bapobapi meucmauo,
KUcMxou uan 6éa pocmu Myoouaa HoMuoa meuwiasamo. Xap K
YamMsuaeaHoau Kucmu 4an € pocmu myoouna as3ou Myoouia HOMuoa
Meuasao.

Hap myomunan 2x —90 =370 xkucmu 4yan 2x— 90, Oyga, KUCMU POCT
370 meboman. Xanromu x =230 OymaH, KUCMM 4Yanv MH Myonuiaa 6a 370
6apobap act, yyHkH 2 - 230 — 90 = 370; kucmu poct HM3 6a 370 Gapobap acr.
AbHe xaHromu x =230 OymaH uH Myonuiaa 6a Gapobapum mypycrtu 2 - 230 —
— 90 = 370 Tabmui Me€oan. Ananu 230 -po pewau myodunau dodautyoa MEHOMAH]I,

1)

Pewau myoouna eygpma, xamon Kumamu HOMABAYMPO MEHO-
MaHo, Ku oap oH myooura 6a bapobapuu OJypycm maboun meeé-
6ao.

Macanan, agaau 1 perran myoguian
2x+3=5
Mebowan, YyyHku 2-1+3 =5 — G6apobapuu nypycT acT.
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Myonuna gopou ay, ce Ba 3u€n pela Oyga MeTaBoHaia. MacajaH,
Myoauiaan
(x-D(x-2)=0

Jopou ay peina Meboman: 1 Ba 2, yyHKM gap myomwnaad x=1 Ba x=2
OGapobapu 6a 6bapobapuu AypycT TaOAUI Me€oa.
Myonunan

(x=-3)(x+4)(x-5=0

Jopou ce peia medowan: 3, —4 Ba 5.
Ananu pelaxou Mmyoausa 6eoxup 3uéa HA3 1yaa MeTaBoHaa. MacaiaH,
agagy pelaxou bapodapum
2(x-1)=2x-2

Oeoxup 3UEN acT: KUMATU IWJIXOXM X pelllad MyOAuJa 1yJa MeTaBOHa/,
YYHKM J1ap Xap SIK X KUCMU Yaru 6apobdapr 6a KUCMM pocT 6apodap MeOolLIa/.

Myonuia OuayHM pella HU3 1Iyaa MeTaBoHal. MacaiaH, 1ap Myoau-
Jam 2x+5=2x+3 pela By4Yyyl Haaopald, YyHKMU Jap KUMaTU JIUJIXOXHU
X KMCMM 4YalM MH 06apobaph a3 KMCMU pOCTalll KaJIOH MellaBa/.

) Xana kapoanu myodunsa — uH égpmanu xamau peuiaxou oH € HUUOH
dodanu 8yyyo HadowmaHu peuaxocm.

Jlap X01aTXou o7 KUMATXOM X -po, KU pellian Myoauia MeOoIIaH/I,
MHTUXO00 KapaaH MyMKHWH acT. MacaiaH, 6a OCOHM AuaaH MyMKHMH acT,
kM agaau 1 pemnan myonunau 2x +1 =3 mebowuan. Bane, gap xojiarxou xene
Mypakkab ssKbopa €(pTaHu pelra OCOH HecT. MacajiaH, XaHromu x = 7 OynaH,
0a Gapobapuu aypycT Tabaua €praHu Myoauian

x—6+4(x+3) 1= x-1 +3 _Ix-1
5 2 2 10

-po maitxac HaMmyJaH xeJjie AYLIBOp acT. A3 XaMUH cababd oMyXTaHU XaJlIi

MyoJuIa MyXUM acT.

177 | Xamwm Machaiaxou 3u€ 6a 6apodapuu IAKINA

ax=>b (1)

Meopa, K1 Jap MH 40 a Ba b — ajgaaxou nojallyaa, x — agaau
HoMabJyM Meboiuana. Myoaunau (1) myodurau xammii HoMuaa

(@ ~am)

3 1
MewiaBaa. Macanan, 3x=1, -2x=3, gx ==y = MYOJMJIau XaTTH

MeOoI1IaI.
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MamkKxo

79. ba Hamynu 6apobapr HaBUCEI:
1) apanu 34 a3 agagu x 18 Boxunm 3uén acr;
2) agaau 56 a3 amagu 14 x mapotn6a 3uén acr;
3) nyyaHnau papku ananxou x Ba 3 6a 4 6apobap acr;
4) Huchu cymMau aiaaxou x Ba 5 6a XoCcUJIM 3apOou OHXO0 Oapobap acr.

80. Kagome a3 agagxou 3; —2; 1 peliau Myoauiaau 3epuH acT:
1) 3x=-6; 3) 4x-4=x+5;
2) x+3=6; 4) 5x-8=2x+4?
81. (IUudoxm.) dap kagoM KuMaty x Myoauia 6a Gapodapuu 1ypycT TaOau1
Meeoa;
) x+5=-6; | 2) 4-x=-1; | 3) 2x-1=0; | 4)3x+2=0?

82. O¢ map OaitHu amagxou —1; % ; 1 pewran myonunau 3epyuH Bydy JOPa;
1) 4(x-1)=2x-3; 3) 3(x+2)=4+2x;
2) 71(x+1)-6x=10; 4) 5(x+1)-4x=4.

83. Myoaunaepo TapTiO AMXea, KA peluaall:
1) ananu 5; 2) ananu 3; 3) ananu —6; 4) ananu —4 Goiuan.

84. Ananu a-po YyHOH MHTUXO0 KyHel, KU Myoauwnan 4x—-3=2x+a
JIOpOM pelau 3epuH OolLLIa;

§7. /  Xaaau myoduiaxou oapayau axymu
: J AKHOMaAsAYMA

Hap acapu an Xopasmn ,,Kutob anmyxrtacap ¢u xucod anyadbp Bai
MyKoOana“ aayabp 6apkapop KapJaHu ab30XO0M MycOaT, sSTbHE ab30XOU
MaH(MUpPOo a3 sIK KUCMU Myoausa 6a KUCMU AUrapyd myoauaa 60 ajaoma-
T MycOaT ry3apoHuaaH, eas mykobaara Ooluan, capdu Hazap Kap-
JaHU oy ab30ou Oapobapu Jap KMCMXOM 4Yall Ba pOCTU Myojausaa Oyaapo
MedaxMOHa/.

MH HuIIOH Meauxaa, KM XaUIM MYOAMJIaXOMU Aapayau SIKyMU
SIKHOMabJIyMa Jap aCOCU XOCUSITXOU 0a 1IIyMO MabIyMu 6apo0dapyxou AypycT

ry3apoHHMIa MellaBaj.
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Hamyznn ymymun HaBuiuTi Muicon

Ndomau mmdboxum xocusit
¢don boxu OCHSIT

1. Arap Ga xap 11y KucMu 6apobapuit | Arap nap a = b, | agamu
IypyCT aianu sikxena yaMb Kapaa | uxTuépu Oolaz, nap oH
maBazg € a3 xap ay KucMmu 0apo- | xoinaTr a +1=5 + 1,
Oapuu IypycT ajaay gkxena tapx | @ — 1= b — 1 mewmasan.
Kapfa ImaBaza, 6apodapuu IypycT
XOCHJI MeIlIaBal.

2. Arap xap oy Kucmu 6apobapuu | Arap nap a=b, m# 0
OypycT 0a ajgagu skxejia 3ap0 | Oowan, nap oH xoJsar

Kapya IaBaj € xap Iy KUCM 6a | @ m=b-mBa a:m=b:m
agagy sikxejaau raipucudpnu | MELaBal.

TaKCHM Kapyia I11aBaji, OH ToX, 6apo-
Oapuu qypycT XOCHJI MEIlIaBajl.

A3 XOocuITU SKyM Oapmeosin, KM ajJoMaTH YyaMblllaBaHAZaxopo 0Oa
MYKOOWMJIAILIOH MBa3 HaMy/1a, a3 IK KUCMM Oapobapr 6a KUCMU IUTapy OH
ry3apoOHUAaH MyMKHWH acT.

O burysop, a=b+m Goian, oH Iox
a+(-m)y=b+m+(-m); a-m=>b. @

YyHUH xocugaTH 6apobapuxo Jap Xalad MyOAuaxo Y’ TaBp TaTOMK,
Kapja MelllaBaH, 111a MebapoeM.

Macwanaun 1. Myoaunanm 9x —23=5x—11 xaa KyHeS.

A @ap3 MeKyHeM, KM X pellaum Myoaujgaum Ma3Kyp, SIbHE X
— YYHMH ajaje, K1 Jap oH Mmyoauia 6a 6apodapuu aypyct Tadbaui Meeoas.

Ab30U 5x -po, K1 JOPOU HOMABJIYM acT, 00 ajloMatu ,,— 6a KUCMU Yarl
Mery3apoHeM, agaau —23 -po Oowraa, 60 ajomaru ,,+“ 06a KUCMU POCT

MeTy3apOHEM.
Hap Hatrya 603 Obapobdapuu 1ypycTu
Ox-5x=23-11
naiao Meliasal.

Hap xap oy KMCMM MyoauJia ab30XOM MOHAHAPO MCJIOX Hamyaa,
MyOauIan
4x =12
-pO XOCWJI MEKYHEM. Xap Ay KMcMu Oapobapupo 0a 4 TakCMM Hamyna,
x =3 -po meebeM.
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XaMUH TapuK, pella JolITaHu Myoauaapo ¢dap3 Hamyda, XOCHIJI
KapaeM, K1 WH pellia TaHxo 0a anaau 3 6apobap Oyma MetaBoHaa. MecaHyeM,
KU X = 3 1ap XaKUKAT pellayd Myoawian aBBajia Meoowan: 9-3-23=5-3-11.
MNHu 6apobapyl mypycT acT, YyHKM KMCMXOM 4all Ba POCTH OH TaHXO Oa
aganu 4 6apodapan.

I1ac, Myonunau gpopalilya TaHXO SIK pellla JIoIITaacT: X = 3. A

Tabkua MeHaMOeM, KM CaHYMIIPO MYPO HaKapAaH XaM MYMKUH acT,
3epo UCTU(OIaN XOCUITXOM Oapobapr Oa MBa3LIABUU SIK 0apodapuu AypycT
0a Gapobapuu OypycTu AUrap MMKOH Meauxa. Jlap uH Tap3u xaji 10MMO
HaTUYyau IypycT XOCWJI MellaBaj (ajdaTra arap XaHromu xuco0b 0a xaTord
pOX J0Ja HalllaBaj).

AJIYABP: 3x, 6a Tapadu yan

_ ol
5x@= 0+ 11 3x 1yaa merysapin!
-7, Ty 6a Ttapadu poct +7 1yga
!
Sx-3x=11+7 METySapit

A —B+2x ="+ 8-5 | BAI MYKOBAJIA: - 5Ba 4x -u
KMCMXOM 4Yall Ba POCT, 00 IIYMOEH
2x=18 Xapyxyl MeKyHeM!

XaHroOMM HABUIUTHU XaJIJIM MyOaujIa YyH Aap Xa/UIM Macbhasiau 1 6aéHu
Ta(CcuIM XaTTUPO OBapJaH 1IapT HECT.

MacanaH, xaum myonwian 5x+17 =2x+5-po MH TaBp HaBUIUTAH
MYMKMH acr:

Sx-2x=5-17, 3x=-12, x=-4.
YaBob: x=-4.

Macbvanan 2.Myommnan 2(x+3)-3(x+2)=5-4(x+1) -po xan
HaMoe/I.

A Kycmxou yam Ba pocTM MyOAWIApO COAJa MEHAMOEM: KaBCXOPO
MEKYIIOEM Ba ab30XOM MOHAHAPO MCJIOX MeHamoeM. Jlap Hatmya 2x + 6 —
-3x-6=5-4x-4, —x=—4x+ 1 XOCUJT MEKYHEM.
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1

Ilac, 3x=1,Ku jTap MH4Y0 X==. A

3
x-3

5 -5
Macwvanau 3. Myogunau e Rl -pO XaJ1 KyHen.

2 3 6

A Xap Iy KUCMM MyoJujiapo 6a Maxpayu YMyMUM Kacpxo, ibHe 6a 6

3ap6 MeHaMoeM. OH rox,

57?‘-6—"7‘3-6=1-6+"T‘5.6, 15x—2(x—3) = 64 (x—5).

McelaBan.

Kchxopo MEKYILIOEM Ba ab30XOU MOHAHAPO NCJIOX MEKYHEM!

15x-2x+6=6+x-5, 13x+6=x+1,
5

a3 MH Y0 12x=-5, x=——. A

12

H’bHe, XaHTOMHM XaJlJIKW MYOIMJIaXO XOCHUATXOM aCOCUHN 3CPpUHU

Myonuaaxo uctudoaa Kapaa MelaBaHI.

o)

)

Xocuatu 1. Aromamu as3ou ouaxoxu myoousapo ba mMyKoousau
ueas Hamyoda, a3 K Kucm 6a Kucmu oueap 2y3apoHudan MymMKUH acm.

Xocusaty 2. Xap dy Kucmu myodunapo 6a sk adadu ratupucugpii
3apb € makcum Kapoan MyMKUH acm.

MH XocHsITXO MMKOHMAT MEAWXAHJ, KU Xap T'yHa MyoAuau
Jnapayau SIKyMU SIKHOMabJlyma Xajl Kap/a 1IaBajl.

1) ab30x0epo, KM HOMabIyMpo gapdap MerupaHg 60a KUcMU
yar, ab30X0epo, KM HOMabIyMpo aapOap HaMerupaHa 6a Kucmu
POCT ry3apoHMIAaH 3apyp acT (xocusTtu 1);

2) ab30X0M MOHAHAPO MCJIOX KapJaH 3apyp acT;

3) xap Ay KUcMHU Myoauaapo 6a Kod(p@duCUEeHTU Ha3au
HoMabJyM (arap oH 0a cudp 6apobdap HaboIllIam) TAKCMM KapaaH
3apyp acT (XOCUsITH 2).

Jap Muconxou MyorHaluIyaa xap sik MyoJnia JIOpou sk pelia oya. Bane

nap 0ab3e X01aTxo Japavyau SIKyMHU SIKHOMabJyMa pellla HaJollTaHall &
pemiaxon OUCEp OolUTaHAIl MyMKHUH acT. ba 4yHMH Myoauiaxo MHCOJ
MEOpEM.
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Macwvanau 4. Jopou pemaxo HaOygaHM MyoaAuJau
2(x+1)—1=3-(1-2x) -pO HALLIOH IUXEI.

A Xap 1y KUCMUA MYOJIMJIapO COMIIa MEHAMOEM:
2x+2-1=3-1+2x, 2x+1=2+2x,
a3 uH Yyo
2x-2x=2-1,0-x=1.

HNH Myonuna peliaxo Hagopa, YyHKM Kucmu yan 0 - x — gap Kuma-
T IUIXoxM x 6a cudp 6apodap acT, rmac 6a 1 6apodap HecT. A

Macwvanau 5. Huwon nuxen, ku myomunau 3(1-x)+2=5-3x
SIKYaH]I pelaxo 10paj.

A Myoaunapo conna meHamoeM: 3—3x+2=5-3x; 5-3x=5-3x.
Bapobapuu oxvpuH map KMMaTH ITWIXOXW X OypycT acT. Ilac, kumatm
JVJIXOXU X pelllad Myoauia MeOoIIa. A

Mamkxo
Myonunapo xai Hamoen (85 — 96):
85. 1) 11x=50; | 2) -9x=243; | 3)4x=0,24; | 4)7x=7,063.
2 1 1 3 1
= 3 =2—; - =3; —_ =—.
86. 1) 9x 5 2) 3x=22 3) 5% 4) L X =7
87. 1) 0,3x=6; | 2) 1,3x=-1,69; | 3) 0,7x=49; | 4) 10x=0,5.
1
88. 1) 8x=8; 2) Zx=16; 3) 3*°x=243; 4) 16x=16.
5Y 4y 3 )
89. 1) 5x:(7]; 2) 4x=—(§); 3) 20.1x=10": | 4) 0,3x=10"
90. 1) 25x-1=9; 3) 3x-5=10-x;
2) 7x+8=11; 4) 4x+4=x+5.
91. 1) 5x+3(3x+7)=35; 3) 8y-9-4y+5=12y—-4-5y;
2) 8x—-(7x+8)=9; 4) 4+8y+8=2y-10-7y+9.
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11 _2-x 3x 6+x x X y oy
_:_; —:_; _+_:8, _+_:14
92. 1) === ‘2)5 : ‘3)3 : ‘4)3 4
93. 1) 3y+5=4 9—%); 3) 3(5% 442x:
2) 8(11_%Z =16Z—44; 4) 2(3—% =5+x

94. 1) 0,71x+1,98=0,37x-1,76;
2) 0,18y -7,4=0,05y-5,71;
3) 5(5x-1)-2,7x+0,2x=6,5-0,5x;
4) 0,36x-0,6=0,3(0,4x—1,2).

6x+7 5x-3
95. 1) 112x-51=32422 3) _3. 23,
3 6 4 4 7 8
2) 12§+Ey=X—IOL; 4) 10_3X—l:6x+3‘
4 7 2 28 2 11
96. 1) 4x—51_17—3x:x+5; 3) 9x—5_3+5x_8x—2:2
3 4 2 2 3 4
2) 3x—7_9x+11:3—x; 4) 4x—3_5—2x:3x—4
4 8 2 2 3 3

97\/0@ 3 — bubuyon, nabepaamon uanocoaa?

- — Man uano con dowma bowam, Habepau MaH XaAMoH Kaodap
Mox dopad.
— bubuyon, wiymo wanocosa xacmeo?
— Aeap coau Habepaampo b6a coau mau yams KyHeo, 65 mewasad.
Coau Habepaampo aKHyH Xyoamou é6eo.

97. HuioH auxen, KM MyoaWIa pelaxo HaTopa:
1) 28 — 20x = 2x + 25 — 16x —12 - 6x;
2) 25x - 17 =4x -5 - 13x + 14 + 34x;

x—1+5x+2 _5+3x )
3 12 4

2x+1_7x+5_x—2
3 15 5

3) 4)
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98. HwumoH nuxen, KM KUMaTU TUJIXOXHM X pelliad Myoauia MeOolIa;
I) 10-4x+3=9x-2-6x+9-7x+6;
2) 9x+4-5x=8+7x-9-3x+35;
3) 6(1,2x-0,5)-1,3x=5,9x-3;
4) 8(1,3x+0,25)—-6,6x=3,8x+2.
99. Myoauiapo xajl HAMOE/I;
1) 3(x-1)-2(x+2)=4x+8;
2) 4(x+1,5)+3(1-x)=10;
3) 483x+2)-7(x+1)=3(x-1);
4) 2,5Q2x+3)-2(x+2,5)=3,5+2x.

100. Myoaunapo xaja HaMO€/I:

96 _ 4x+300 . L
D T 3) 42:(2x-7)=10:7;
3x+14,7 7.5 1o e
04 10 4) 411.10—4,5.(3x I).
______ ,'_______________________________________

Tatouky Myoauiaxo xauim OUCEpP Machbajaxopo OCOH MerapiaoHas.
OpataH xa/uiMm Macbhaiaxo a3 Iy 3uHa uoopar acr.

1) a3 pyu mapTu Macbaaa TapTud J0JaHU MYOAWJIa;

2) XaJl KapAaHu MyOJWJIau XOCWJIIILY1a.

Macnbaian 3epuHpPO XaJl MEKYHEM.

Macwana. Kema 060 caii€xoH a3 OaHmap 00 paBUILIN Yapa€HU Jape
XapakaT Kapaa, 6abau 5 coat 6osia 6o3ramTa osa. CypbaTy yapa€Hu gapé
3 KM/coart; cypbaTtu Kema gap oou opoMm 18 kM/coar. Arap caii€xoH el
a3 OozraiuTt gap coxwa 3 coaT aaM TupudTa OolaHa, OHXO a3 OaHmap
TO 6a KagoM macoda IMHO KapaaaHa?

A 1) bury3op macogau Matityd x kuiaomeTp ooman. Kema nn macogapo

a3 pyitn yapaéH 6o cypbatu 18 + 3 = 21 (kM/coar) xapakaT MEeKyHaj Ba %

coatpo capd meHamosia. Kema nap 6o3raiut 60 cypbatu 18 — 3 = 15 (km/coar)
XapakaT MeHaMosi1 Ba 6apou MH % coar capd mexkyHaza. Cail€xoH mgap
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X X
coxusl 3 coar uctupoxat mMekyHaHa. Ilac, Tamomu caéxar E+E+ 3]
coaT JaBOM MEKYHaJl, Ki MyBO(MKH IapTH Machasa 6a 5 coat 6apodap acr.
XaMUH Tapuk, MO Oapou MyailssH KapaaHu Macodan HOMabiIyM (X)
MyOaWIan

1+i+3—5' I H
21 15 > =PO XOCUJI HAMYICM.

2) AKHYH 0a xaJ KapJaHu MyOoJIWJIau XOCWIIIyAau
XX
21 15
Mery3apeM. Xap oy KUCMU UH myoaujapo 6a 105 (xypatapuH Kapatuu
ymymuu agaaxou 21 Ba 15) 3ap0 Kapaa, XocuJ MeHamMoeM: S5x + 7x =
=210, 12x=210, a3 un yo x=17,5.
XaMuH TapukK, KeMa a3 OaHmap To Macogau 17,5 KM ILIMHO Me-
HaMOSII. A

Hap 3vHau SIKyMM XaJIIi Machia (s’bHe Jap TapTuO JOoJaHU MYOIMJIA)
uctudoaa KapaaHu TAMOMU MabJIyMXOM Machajla axaMUSITU MyXUM J0Opaj.
MacanaH, nap Machajad MyOMHaIlIyaa JOHUCTAH JIO3UM Oy, KU XaHTOMU
xapakaT a3 pyiu yapaéH 0a cypbaTM TEIUIOXOH CypbhbaTU YyapaéH YyaMb
Kapja MelllaBajl, Bajle XaHTOMU XapakaT 0a MyKOOMJIM YyapaéH a3 cypbaTu
TEIUIOXOM CypbhaTHU Yyapa€H Tapx KapjJa MellaBal Ba Macodau 0a cypbaT
TaKCUMIIyJIa BaKTU XapaKaT MeOOoIa/.

Hap 3uHau ayoMm (sSTbHe Jap Xajd KapJaHW MYOAWJIad XOCHUJILIYa)
Taylad Kapaa MellaBaJ, KM a3 XOCUSITXOM OMYXTalllygau Iaparpadxou
aBBajlau MyoIwiaxo UCcTUdoaa MEeHAMOEM.

Iaptu macwanapo uctudoma Kapaa, IypycTUM Xaaiud €rairyaapo
caHYyuJaH MyMKHMH acT. MacajaH, caHYMILM XaJIpo MH TaBp I'y3apoOHUAaH
MYMKMH acT.

CaiiéxoHn a3 Ganmap 06a macodau 17,5 km mmHo Hamynanpa. Ilac,

OHXO a3 pyitu yapaéuu mapé 17,5:21= % coar 1MHo HamynaHa. CaiiéxoH

Oapou poxu 6ozramt 17,5:15= 1% coar BakT cap¢d HaMmydaHI.

JHap coxun 3 coar gaMm ruprudTaHu caiiéxoH 0a Ha3ap rupudTa 11aBaj,

BaKTU YMyMMHM caexaT 0a §+3+1l =5 coar 6apobap MelIaBaa, KU UH

YYH IIApPTU Machajia MeOOILIA].
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101.

102.

103.

104.

105.

Mamkxo

1) doHnuiomy3 agagepo ¢ukp Kapa. Arap oHpo 6a 4 3ap0 3ama, 6a
XOCHWJIM 3ap0 8-po yamMb HAMOSI, Ba CyMMau XOCUIIIyAapo 0a 2 TakCuM
kyHan, 10 memaBaz. JloHUIIIOMY3 KaJioM agaapo (pukp KapaaacT?
2) Iaxce agpagepo puKp Kapa Ba 6a OH 5-po yaMb KapiA, XOCWUIU
TaKCUMM Taiigouryaapo 6a 3 Takcum Kapa, 0a XOCHUJIM TaKCUM S- po
yamb Kap/ Ba agaau (prkpKapaalyaapo Xocui Kapa. Baii kanom anaapo
¢uKp Kapgaact?

1) Map ce cuHd xamar? 119 Hadap noHuiomys xact. lap cuHdu
SKyM Haszap 0a cuHdu aywoM 4 Hadap 3uéa Ba Hazap 0a cuHdpU
cetoM 3 Haap Kam goHUIIOMY3 XacT. [lap xap sk cuH® YyaHaHada-
pHA JOHUILIOMY3 XacT?

2) Iloe3n a3 cucrepHaxo, IIaTopmaxo Ba BaroHxXOM OopKalll
nbopar act. CuctepHaxo Hazap 0a riatdopmaxo 4-To KaM Ba Hazap
0a BaroHxou Oopkaill 8-To KaM MeOolaHa. Arap MUKIOPU YMyMUU
CHUCTEepHaxo, Iuiatr¢opMaxo Ba BaroHxom Oopkamr 60-To OGoran,
Jap moesd a3 Xap SK HaMyJl 4YaHATOr| XacT?

1) Hap ce cexu 3aBox 624 Hacdap koprap Kop MekyHaH#a. KoprapoH
Jap cexy OyloM Hazap 0a sIKyM 5 MapoTuba 3W€aaH Ba Aap CEXu
CEIOM IIIyMOpau OHXO 0a IIyMopau SIKY0sIM KOPrapoHM Iy CEXU aBBajia
Oapobap act. [lap xap cex yaHaHadapy Koprap xacT?

2) Ilap ce cex 792 nmeran Taii€p HamyaaHa. Cexu ayioM Hazap 0a
cexu sIKyM 3 MapoTuba 3uén aeTaa Tal€p HaMyll, Cexu CeloM Oolla
Hazap 0a cexu AyoM 2 MapoTuOa KaM. Xap SIK ceX YMKaaapm aeTail
Tailép Hamymaact?

1) Ilepumerpu cexyHyaum Oapobapriaxyiay 6a 25 cm Gapobap acr.
Arap pgapo3uu Tapadu naxjaym Hazap 0a acoc 5 cMm 3uén Oouan,
Japo3un Tapadxou ceKyH4yapo €oes.

3
2) Jlap cexyHyau Gapobapmaxjy acoc 7 xuccaun Tapadu naxJayupo

TalUKWJI Meauxaa. Arap rmepMMeTpu MH ceKyH4ya 6a 22 cM 6apobap

Oowan, 1apo3uu Tapadxopo €oe.

1) Hap arpody MaligoHM pOCTKYHYalllakja, KM Oapain 22 M acr,

yyit kaugaHa. Jlapo3uu 4yii 1 km act. dapo3un MaiigoHpo €0e.

2) MaiinoHu poCTKyHYalllaKjJIpo, KM Aapo3uall Ha3ap 0a Oapaiu 2
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106.
107.

108.

109.

110.

111.

OGapobap KayoH acT, 60 aeBopu gapo3uaiun 120 M MxoTa HaMyAaH.I.
Hapo3n Ba 6apu MaiiioHpo €0e/.

Ce amanm naii nap maiipo €6e1, Ku cymMaalioH 6a 81 6apobap acr.

Yop amagu 4ydTH Maii gap maii xact. Arap a3 AydyaHIad CyMMau
ajagxouM KaHOpW ceudaHgaum ¢apkKyd MycOaTh anaaxou MoOaiHn
Tapx, Kapja 1maBaj, 22 xocus MelnaBaa. MH agaaxopo €0en.

1) dap conu "busHecu Xypa Ba TaAOUPKOPUU XYCYCH'" Xoyarum OOF-
JOPUU XyCYCH Haklllau Xappy3au Xyapo S cp 3uéarap uypo Kapjia,
cynopuim xadranHapo (py3u Kopuu 6 py3a) gap 4 py3 nypo HaMyl.
Xoyarn jap sIK py3 4yaHj CEHTHEp MeBa CyInopuaaacT?

2) Jlap cex aBTOMAT Ty3OlLUTaHA, KM camMapaHOKMAall Jaap sIK coaT
Hazap 0a Kopu Koprap 8 geran 3u€nrap act. babau 2 coatu Kop
aBTOMAT HakllaM 1ialicoatan Koprappo uypo Hamya. CamapaHo-
KM aBTOMAT 0a un 6apodap act?

1) Mogpap 50 cona, gyxrap Oowian, 28 cona act. YaHg con ka6
JyxTap a3z Mojaap 2 6apobap xyparap oyn?

2) Mamap 40 coma, mucap 6oman, 16 coma act. babam yanm con
nazaap a3 nucap 2 6apodap KajaoHTap MeliaBaja’?

1) Jdap xanrtau sikym 50 Kr, gap xaiatau ayrom oomag 80 Kr makap
Oyn. A3 xaiaTam IyroM Hazap 0a sgkym 3 Oapobap 3uéarap liakap
rupudTaH Ba OH ToX Jap XajJTau sIKyM Haszap 0a ayioM gy Oapooap
3UEATAp 1aKap MOHI. A3 Xap XaJiTa YMKagapH 1akap rupugrani?
2) lap sneBaTopH sIKyM Haszap 0a ayiom 2 GapoOap 3uéarap rajjia
Oya. Az aneBatopu sikym 750 T Fajuta OypaaHa, 6a aeBaTopy AyIOM
ooman 350 T rFayuta oBapmaHA, KM Oaba gap Xap Ay BJeBaTop
yuKagapm rajana oya?

1) ba KyTTMX0M FyHYOUIIAIOH 9,2 KWJIOrpaMMU YOUTUD KapIaHu
aHTypH uymMaallyaa neionHn myaa oya. Bane 6a 4yoitn UH KyTTHXO
KYTTUXOM FyHYyoullamoH 13,2 kujgorpaMMmd TupudTaHa Ba Aap
Hatrya 50 Kr KaMTap KyTTHA Jo3uM 1uyad. Jlap KyTTUX0 Xxamaru yaHi
KWJIOTpaMM aHTyp YOMTup Kapaa urya?

2) Macodau 6aitHu uctroxxou A Ba B-po moe3nu MycodupKalll
Hazap 0a moe3am Oopkaiun 45 gakuka Te3rap Tail MekyHaja. Arap
cypbaTu Xapakatu noe3nau mycodupkain 48 KM /coar, Moe3au
oopkamr 36 kM/coar Gomian, Macodan OaifHM MCTTOXXOPO E0e.



112. 1) dap 6a3am Hapt 6340 T 6en3uH Oyn. basa py3u gytom Hazap Oa

113*.

sakyM 423 T 3u€arap, py3u cerom Oolnaa Hazap 6a py3u ayiom 204 T
KamTap 6eH3uH noa. baba a3 uH gap 6a3a 3196 T 6eH31H OOKH MOHI.
Py3u sskym 6a3a yaHa ToHHA O€H3UH J0AaacT?

2) AykoH map ce py3 110 kr paBraH ¢pypyxT. Py3u nyiom % Xyccau

py3u SKyM dypyxTairyaapo, py3m ceroMm 0ollaa XaMOH MUKIOPEPO,

Ky 1y py3u aBBai ¢ypyxta Oya, dypyxr. JAYKOH py3u sIKyM YaH[
KWJIOTpaMM paBFaH (pypyxraact?

1) Ycro 60 nucapain cynopuiupo o6osa gap 10 py3 uuypo Mexap.
OnHxo xap py3 Hazap 0a Hakuia 27 nertan 3uéarap Tal€p Kapna,
CyIopHuIiIpo aap 7 py3 nypo Hamy Ba 003 0a TaBpu ujoBa 54 meran
Taiiép Kap. YCTo Ba mucapalll Xap py3 YaHITOI’ JeTasl Taiiép KapaaacT?

2) 3aBoa cymopully ouja 6a MCTEXCOJAM MOIIMHXOpPO aap 15 py3
MYPO KapaaHalll JJo3uM Oyi. 3aBoj TEXHOJIOTMSIM HAaBPO YOpH HaMy/a,
2 py3 neur a3 MyxjaT Ha (pakat Haklapo MYpo Kapi, Oajiku 3uéaa
a3 OH 6 MOIIMH MCTEXCOJI HaMyJl, YyHKU Xap py3 WioBa 0a Hakla
2 MOIIMH MUCTEXCoa MeKapa. MyBoduMKM Haka 3aBon gap 15 py3
YaHJ MOLLIMH OOS MCTEeXCOJ mMeKapa?

Xyapo oucanyen!

1. O¢ pgap Oaiinm amaaxou 1; 0; —4 pewmam myoamaau
3(x-7)+4=7x-1 By4yn nopan?

2. Myoaunapo xaja KyHes:

1) 2x-3(x-1)=4+2(x-1);

—+—=2.

2) 3 4

3) 1 xr anryp 300 cym, 1 kr anyup 400 cym Meucran. bapou
XallT KUJIOorpaMM aHTyp Ba aHyup xamaru 2700 cym gomaH.
YaHa KujaorpaMM aHTyp Ba 4YaHA KUJIOTpaMM aHYUp Xapu-
JnaHa?
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Mamkxo noup 06a 6o6m II

114.

115.

116.

117.

118.

Myonunapo xaji KyHe:
) 5(x-3)-2(x-7)+7Q2x+6) =17,

2) 11(y—4)+10(5-3y)—3(4—3y) =—6;
3) 5(87—1)-7(4z+1)+8(7—47)=09;
4) 10(3x—-2)=3(5x +2)+511-4x) = 25.

x-4 2x+4 8- 5-4 +6
1) = =9+ 2 3) =X+ =22
5 9 6 3 2
3x-7 17 4x+7 3x-2 5x-2
%) 2- x-7 x+ _0: 4 x+7 3x=2 5x-2_4,
4 5 5 2 2

Maccau aBBaiau ay xamcagapu cyHbuM 3aMuH 6a 592,4 kr 6apobdap
acT. Xamcadapu CyHbUU SIKyM Hazap 0a cerom 1243,4 kr cabykrap
Oyn, xamcadapu cyHbuH ayioM Oorang — 818,2 kr cabykrap. Maccau
Xap siKe a3 aBBaJIMH ce XaMmcadapu CyHbUU 3aMUHPO €0e.

Kauk 6a mykoOunu yapaéHu papé 2,4 coaT Ba 00 caMTH YapacH
3,2 coar mmHO Kapa. Macodau 6a MyKoOMIM gape 1MHO 11yia Hucoat
0a yapaénu gapé 13,2 kM 3uén mya. Arap cypbaTv yapaéH 3,5 KMm/coaT
Oollam, cypbaTu KAauKpo aap oou opoM €oe.

Jlap MycoObuMKaxou MakTabW oujg 0a IIMHOBApW HOHMIIO-
M¥3 Macogapo 6a paBullM YyapaéHu gapé aap 24 coHust Ba 6a MyKo-
owim yapaéH nap 40 coHus Ttait Hamyn. Cypbatu yapaéHu gapeé
25 cMm/conus acT. CypbaTu ILIMHOBAPPO a3 UOTUIO TO MHTUXO JOMMMA
¢gap3 Hamyga, cypbaTh XOCH Ypo €0e.

bapou uybpo 6a ce kucm maxcum kapoan 12 oakuka dapkop acm.

97\/@ 4 | bapou xamun uyopo 6a 4 kKucm yyoo kapoan yano oakuka 3apyp

119.

acm?

ba six an6opu cab3aBot 145 1 480 kT, ap ayromaii 89 T 7 cp KapTollKa

oBapaaHa. A3 aHOopu sIKyM 0a nYKoH xap py3 4 T 40 kr, a3 aH60opu
aytom 2 T 550 Kr kaprolukapo ¢dupucrtogaHa. baba a3 yana py3 nap
aHOoOpM NyloM Hazap 0a aHOopM sIKyM 2 Oapobap KaM KapTollKa
MeMoHau?



120. Az maxpxou A Ba B, ku Macodau 6aitHamoH 6a 230 kM 6apobap
acT, Jap K BakKT 0a UCTUKOOIU SIKAUTAp Oy MOTOCUKJIPOH PaBOH
wrynaHa. bavau 3 coat notumou xapakar Macogau 6aitHu oHxo 20 KM
Oya. Arap cypbaTu sike a3 cypbaTu aurape 10 km/coaT kam Oo1uas,
CypbaTU MOTOCUKJIPOHXOPO €0eI.

TecTtxo — MamKkxou caHyuii aoup 6a 00om 11

5x-3 11-3
1. Arap x, pelan Myoauian x8 = % +3+ al Oolan, KuMatu udonau
x; +1 -po €ben.
A) 50; B) 10; O) 5; D) 37.
2x+1 3x-2 x+1

+2=

2. Arap x, peuiau Myoauiau +T oowiaa, KUMaTu

2
udomnau 18 : x; -po Xucob KyHe.

A) 6; B) 7; Q) -7; D) 46%.

3. Arap x,peurau myonuaau (x +3) : (x —2) =5:3 Gourazn, Kumaru udonau
2x,+ 61 -po €6en1.
A) -80; B) 70; C) 80; D) 81.

4. Arap x, peian Mmyonuian 4 : (2x +5) =2 : (3x—2) Oowan, KUMaTh anaain
ubomau 4x, + 11 €oex.
A) -18; B) -20; C) 19; D) 20.

5. Arap x,pemtan myoaunau 0,8 - (1,5x—2) —0,4x=0,3 - (bx —5) — 2,6
oowan, kumaTn agagun udonan x,2 — 0,5 x, -po €6ex.
A) 5; B) 1,25; C) 6,25; D) -5.

6. Jlap ce yeBoHM KMTOOMOHM xamard 385 noHa KuToO xacT. Jlap yeBoHU
JKyM HHUcOaTr 0a myioM 8 goHa 3ME KUTOO XacT, aMMO KHMTOOXO

Hazap 6a yeBOHU ceroM 9 noHa KamTapaHz. Jdap xap 4eBOH YaHATOIrA
KUTOO XacT?

A) 128; 120; 137; B) 127; 119; 139;
C) 127; 122; 136; D) 126; 134; 125.

.. 4 —Anre6pa, cuHpu 7 ﬁ



7. TlepumeTpu cekyHyaum OGapoOapraxjay 6a 51 cm Gapobap act. Acocu
OH HMcOaT 6a Tapadu maxiayn 6 cMm maposrap act. Hucbatu tapadpu
naxJIyuu XaM1H CeKyH4Yapo 6a acoc €oe/.

A) 7:5; B) 5:7; C) 2:3; D) 10:7.

8. IlepumeTpu cexyHyau 6apobapmaxyiy 6a 42 cm 6apobap act. Tapadu

2
nax; iy 3 XMCCaM acocpo TALLIKMIT MEANXAL. Hucbaru Tapacdu naxyiyum

ceKyHyYyapo 0a acoc €be.
A) 7.5 cm; B) 6,5 cm; C) 6 cm; D) 7 cm.

9. Hap tyrm gaxkym 75 M, map tynu ayiom 120 M amiac xacT. A3 Tymnu
JIyIoM HucOaT 6a gkyM 3 GapoOap 3uéarap amiac ¢ypyxra mya. Hap
HaTW4ya aap TYIU SIKyM HMcOaT 6a ayroM 2 0apobap 3uéa aTyiac MOHII.
A3 xap SK TYI 4YaHIMETpHW amiac (pypyxra Liymaact?

A) 24 m; 72 m; B) 30 m; 90 M; C) 15m45 em;

D) 33 M; 99 m.

10. YcTo Gosim CymopHLIpo aap 8 py3 Mypo Mekapa. Y xap py3 6 Torn
MaxCyJI0TallIpo a3 Haklla 3ué Taiép Kapaa, CylmopHuIIpo aap S5 py3
MYpo Hakapaa, 0ajku 12 qoHa MaxCyaoTpo 3uéaTrap Taiép Kkapa. Ycro

MYBO(UKH HaK]IIa aap SIK py3 00siT YaH/I TOHA MaxCyJIOT Tait€ép Mekapa?
A) 6; B) 4; C) 5; D) 7.

Myonunaxopo xai kyHen: (11—19):
11. 8(x+2)-5x=-2(x+4,5).

A) -5; B) 5; C) 6; D) —4,5.
12, 3(x+2)-2(x+3)=7-5(x+1).

1 1
A) —g; B) §§ O -1; D) 2.

x-4 _ _x=2
13. g +2=1,5x 7

A) 2; B) 4; C) = D) xan Hagopan.
14. 8(x+2)-6=7—-(5-8x).

A) -2; B) 0,5; C) 1,6; D) pema Hagopaz.



15. 6-(2,3x—1)=3,5x+0,7x =0,5(x — 14).
2 2
A) =5 B) 10,5; C) 5 D) 7.

16. 1,5-(2—x)+1:2(2—%x}

8
A) Xaniu 6eoxup aopan; B) 5; O 2; D)

17. (1-3x):5=2-x):2.

A) 8:; B) -8; C) 2; D) -1.
18. 3(4,5+5,5x) =4(11,5—4x).
A) 3; B) -2; Q) I; D) -1.

1. 7;:10:5,4:(4x—1).
A) —I; B) —0,25; C) 0,75; D) 2.

20. Sk Tapadu cekyHya HucOat 6a Tapadu 1yroM 3 cM J1apo3Tap, a3 Tapapu
ceroMm Oowan, 5 cM KYTox. Arap nepuMeTpy 4YopkyHya 41 cMm Ooluan,
Tapadu a3 xama Japo3TapMHU OH, HUCOAT 0a Tapadu KyToXTapuHalll
yaHg Mapotuba napo3 act? A)2; B) 1,5; O) 1,3; D) 1,8.

21. JlexxoH 0a xapuaopu SIKyM HUC(HU OMpUHYM XaJITau sIKyM Ba 003 1 KT,
06a xapunopu 2 Huchu OMPUHYM Jap XajaTa OOKMMOHAA Ba 003 1 Kr
oupuHYy pypyxt. dap xanta 603 14 kr 6upuHy MoHA. Jlap xaiTa aBBaj
4y Kagap oupuHy Oyn?

A) 64 Kr; B) 62 «r; C) 68 xr; D) 70 xr.

X Macbanaxou Tabpuxi

Myoaunaxou 1—12 oBappalnyga sike a3 Myoaujaxoe MeOoluan,
KM Ma3MyHM Macbajaxou sike a3 000xou "Kutodbu BacusTxo"-u
an-Xopasmn ,,Kutodbu myxrtacap gap O6opau xucobu anyadp Bal
MyKoOana“ -po akc MmekyHaa. MH Myoauiapo xajl KyHes.

@ IO;X :4.




x 1
@ x+2 2
B 1) 10:6=x:4; 2) 10:8=4:x; 3) 30:10=6:x.

@ lO;—x:x.

41042 +1 210+ x)-1

@ 1) =X 2) =X

®) 214+20-x=2.50.
2 3
@ 1 )110—x+§(20+x)—x:4x;

2) 90—x+%(10+x)—x:4—x;

3) 90—x+§=2x.
1 300—x+§=2x; 2) 300—x+%-(100—10—x)—20:2x.
O) 300—x+%[500—(300—x)]+300—x:4x
1) 500—x+100—§:2(100+x);

2) 500—x+100—§—%x=2-(100+x+%x).

a 300—x+100—§:2x; 2) 300—x—§+100—§=2x.

© 300—x—i+100—1—x—i=4(x+i).
3 3 3 3

Macpanau a3 kutobdu ,,Kamuau uamu xuco06*“ Fuécupnun Yamiuen
an-Kowm rupudrainyaapo xan kyHen (13—14).

@ Maccan rappaHOaHaM a3 TWIJIO Ba MapBOPM, coXTalllyaa 3 MUCKOJ,
Hapxawr 24 puHOp acT. Arap 1 MHCKOJI TWUIO 5 AUHOP, 1 MMCKOJ
MapBopua 15 quHop Gowan, gap rapaaHOaHI YaHI MUCKOJ TUJLIO Ba
MapBOPUI XacT?



@ Ananu pukpkapaauygapo 6a 2 3ap0 3aga, 6a agagu xocuaiyaa 1 yamb
KapJa 11aBaj, cymMmapo 0a 3 3ap0 3amga, 6a Xocwiu OH 2 yaMb Kapaa
11aBajl, agaav Xocuiinygapo 6a 4 3ap0 3aaa, 6a Xxocuau 3apd 3 yamb
Kapzaa maBaj, 95 xocua Melasan. Anaav (pukpkapaairyaapo ¢oen.

MabaymMOoOTXOH TabpHUXi

Koupaxou ,,anyabp®, ,,Baa Mykobana“-u 6a , Kutodbu myxracap
Jap Oopau xucobM anyadbp Bajd MykKoOajia“ goxujakapaalnyaau
Myxamman noHu Myco an-Xopa3MUpO MO TaHXO Jap XOCUSTXOU
acocuy Myoausiaxo gap § 7 6aéH KapaeM.

Hap anrebpa ce HaMyau aaaaxo uMcTUdoaa MellaBaH, rygraacT
an-Xopa3Mi. OHXO:

— pemia € yu3 (agaay X HOMabJyMU MYOAUJa);

— KBazpar (Mos) (KBaapaTh HOMAbIyM — X 2);

— ajgaau onAvd (amamv HaATypaiad Jap Hasap JOIITA IIyaaacT).

Xopa3MHi BobOacTarum WH Ceé MMUKIOPPO TaXJIWi Kapaa, YyHUH
YCYJIXOU XaJUId MYOAWUJIAXOPO HMILIOH MEIMXA:

1) cx®=bx — xBazparxo 6a peliaxo 6apodapaHi;

2) cx’=a — KBaaparxo 0a amaaxo GapobapaHi;

3) bx=a — pemwaxo 6a aman GapobapaHi;

4) cx* +bx =a— KBagpaTxo Ba pellaxo 06a amaaxo GapobapaHi;

5) ex?+a=bx — KBamparxo Ba amazn 6a pewiaxo 6apooap;

0) bx+a=cx? — peliaxo Ba agan 0a KBaapaTxo OGapooOap.

Mo pap cuHpU 7 TaHXO MYOAMJIAXOW XaTTUPO MEOMY3EM
[Myonunan bx=a OaHau (3)]. bokumoHma map cuHpM 8 oMyxTa
MellaBad. Xap KaaoM MYOIWJau XaTTH € KBaapaTUupo Aap HaTUyau

YOMMBAa3KyHUU ,,aqadp”, ,,Baja MyKobaia“ 0a ke a3 6 Myommiaxou
Jap 000 HUIIOHIOJAIIyAa OBapAaH MYMKHWH acr.
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I{aMH/I agaaxou 6apobappo 60 3apOallloH MBa3 KapJaaH MyMKHWH acT:
3+3+3+3+3=3-5 ata+a+a+..+a=a-n
5 Mapotuba n MapoTtuba

Xocuim 3apOu anaaxom sIKxeaapo HU3 gap OMcEp xo0aTxo 00 HaBUILITU
MyxTacap udoaa KkapaaH Kyjaaid act. KBaaparepo HUILIOH MeAUXEM, KU
Japo3uu Tapadxosiin 6a 5 Boxua 6apobap act (pacmu 3). OH a3z 5-5=25
BOXMIU KBanpaTh udopat act. Kyou naposuu tapadxosiii 6a 5 Boxua 6apodap
(pacmu 4) 6owran, 5-5-5=125 Boxuau Kyopo nap 6ap Mmerupas.

Ba 1mymMo€H MablIyM acT, KM XOCHJIM 3apou 5 - 5 - 5? (xoHma MelaBaz;
«IIaHY, Jap KBaapaT»); XOCWJIM 3apou S5 - 5 - 5 6owian, 53 (xoHma MelaBa;
»IaHYy aap Ky0“) 4yyHMH A0J1a MelllaBaj;

5:5=5% 5-5-5=5%

3apbu agaaxou Gapobappo 60 amanu HaB — bOa dapaya 6apdowman
M“Ba3 KapAaH MyMKWH acT:

3.3.3.3.3 % 111 (1Y

5....6_, o RiEIE

MapoTHDa 9 mapotuba
0,4=(0,4)".

bapou myalisiH KapaHu XOCWJIM 3apOu n-TO 3apOKyHaHIaxou 6apoodap
a3 HaBMILUTH @" uctudona medapaH;

a-a-a-a-...a=a".
gaada-..a

n MapoTtuba

OH 4YyHMH XOHJa MelllaBa: ,,Japayau a 60 HUILLIOHAUXaHaau »n*. OmnaraH
MyXxTacap: ,, 1apayau n-u a*“ MEXOHaH]I.
Japayau adadu a 60 Huwonouxanoau Hamypasuu n 2yghma, xocuau 3apou

n-mo 3apOKyHaHOapo MeHoOMaHo, Ku xap KU ox 6a a bapobap acm.
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Pacmu 3. Pacmu 4.

a"=a-a-a-...-a
—
n MapoTtuba

Adadu a (3apbkynandau makpopwasaroa)-po acocu odapaya,
aoaou n-po (wand mapomuba maxKpop ulyoaru 3apoKyHaHoapo HUUOH
Meduxad) HuwoHouxanHoau oapaya MeHOMAaHO.

MacanaH,
3#=3-3-3-3=81,
Jap MH 4o 3 — acocH gapaya, 4 — HUILIOHAMXAHIau Japaya, 81 kuMaru
nJapayau 3* meoola.
A3 yymJia, japayau IKyMUHM anan rydra, Xyau agaapo MEHOMAaH/I,.
a'=a.

1
Macanan, 5'=5,25' =25, (%) = %

Tabkup KapgaH 4you3 acCT, KM aCOCH Japaydya agaar AWIXOX LIyJda
MCTaBOHAI. MacaﬂaH,

3
25=2.2.2.2.2=32; (%) =222_38.

(-2 =(-2)(-2)(-2)-(-2)-(-2) =32,

C2) (L2 (L2 (2 2) s,
3] | 3 3 3 3] 81’
0,2°=0,2-0,2-0,2=0,008;

D =D DD D=1 (=D =1
0°=0-0-0=0; 10*=10-10-10-10=10000.

Amanu 6agapayabapaoprd — aMmajiy 3MHau celoM Meboluana. Arap aap
ndoaa KaBcxo HabollaHA, 1ap OH X0JaT aBBaj aMajXOM 3UHau CEIOM,
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COHM aMaJIXOM 3MHaM AyoM (3ap0 Ba TAKCUM) Ba HUXOST aMajIXOu 3MHau
SKyM (4aMb Ba Tapx) UYpo 00sia Kap/.

Macpana. Xucob kyHen: 7 - 24 —5- 32
7-24-5-32=7-16-5-9=112-45=67.

Hapuimu aganxo 60 €épuu gapaya gap Ouceép xoaaTxo uctudoaa Kapaa
MelllaBajl, MacajaH, 0apou 0a HaMyIM CyMMau YaMblllaBaHAaX0W pa3psian
HaBUIUTAHU aIaJX0W HaTypaJIn:

A 3245=3-1000+2-100+4-10+5=3-10°+2-10* +4-10+5. A

bapou HaBuiTaHU amanxou KajoH Oewrrtap mapayaxou 10 nctudona
Kapaa MeiaBan. MacanaH, macoda a3 3amuH 1o OdTo0, K1 TakprbdaH 6a
150 maH KM OGapobap acrt, map makiau 1,5-10%8 kM HaBuMIITAa MelIaBai;
pagyycu Kypau 3aMuH, KM TakpubaH 6a 6,37 mutH M Gapobap acTt, nap
mwakia  6,37-10° M HaBuITa MelaBan; Macoda a3 3aMUH TO CUTOpau
HaszgukTapuH (oo CeHTtaBp) aap wmakiay 4-10'° KM HaBWIITA MEIIaBaI.

Xap sk adadu a3z 10 karonpo 6a Hamyou a - 10" Hasuwman MymKuH
acm, ku un yo 1<a < 10 6a n — adadu namypanii. YyHun wakiu
Hasuwm Hamyou cmaunoapmuu adad Homuda meulasao.

-
ICR

A

MacanaH,
4578 =4,578 - 103, 45,78 =4,578 - 10, 103000 =1,03 - 10°.

XaHromu omy3uiiud (aHxou ¢Gusumka Ba KUMUE, XUCOO 00
MMKPOKAJIKYJIITOp Ba JUrap X0JaTXO a3 1IakKjau CTaHJAapTUM HaBUIITH
agan uctudona medapaH,.

MamkXxo

Cymmapo 6a Hamyau xocusu 3ap6 HaBucen (121—122):

121. 1) 4+4+4+4+4; 3) c+c+c;
2) 6+6+6+6; 4) a+a+a+a+a.
122. 1) 2m+2m+2m; 3) (c-2d)+(c-2d);
2) 17ab+17ab+17ab; 4) 3b-a)+(Bb-a)+(3b-a);

L o0



5) 3+3+...+3; 7y mtmt..+m;

21 mapoTuba n Mapotuba
6) 23+ +3; 8) b+b+..+b.
17 mapoTtuba k MapoTtunba

Xocuau 3apopo 6a Hamynu Aapaya HaBucen (123—125):

11111 3Y(3)(3)
123. 1) 2.2.2.2.2; 2) 55555, 3) (Z)(Z)(Z}
4 (-2,7)-(-2,7)-(-2,7)-(-2,7)
124. 1) x-x-x-x-X; 3) 2a)-(2a)-(2a);
2) m-m-m-m-m; 4) (=3b)-(=3b)-(3b)-(3b).
125 1) (x=p)-(x=p)-(x=p); 3 o

ba Hamyau pmapaya HaBUINTAaHM XOCWJIM 3apOpo uctudonma xapaa,
udomnapo conga Hamoen (126—128):

126. 1) 2-2-2-15; 3) 5:5:-8:-8-8-2-2;
2) 4:4-4-4-21; 4)6-6-7-7-3-3-3.
127. 1) 1,2-1,2:2-2-5-5; 2)0,5-:0,5-0,5:2-2-4-4;
777717 333
X x X .
128. 1)9:99-a-a-a; 3) — == (x=y)-(x-y);
y yy
D) x x"x-x"33; 4) %-%-(8a—b)-(8a—b)-(8a—b).
Ndonapo conna kynen (129—130):
129. H)p-p-p-ptq-q; 3Yarata-ata-a;
2)a-a+tb-b-b-b,; Hx - x-x+x-x-x.
130. 1) c-c+c-c+...+C-C, 3) a-a-....a + bbb ;
k mapoTtuba n Mapotnba m mMapotruoba
2) a-a-a+a-a-a+..+a-a-a; 4) 55...5 + a-a-...-.a .
n MapoTnba k mapotuba 17 mapoTuba
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131. Udonapo xoHea, acocu Japada, HUILIOHANXAHAAN Japayapo HoMOap

KyHEl.
41
1) 3% 3) (‘%) : 5) (4m+n)";
3 7
3. 39. 2a
2) [18), 9 L)% 6 (3b)~
Xucob kyHen (132—139):
132. 1) 23 2) 3% 3) 44 4) 5.
133. 1) 15 2) (-1)7; 3) 0% 4) 0°.
2Y 3V 2} 1y
fulll I i ) 2- 1.
134.1)[3), 2)(5], 3) [ 7), 4)( 3)
135. 1) (2,5)% 2) (1,7)% 3) (=0,2)% 4) (-0,2).
1Y 1Y
136. 1) (-5)3; 2) 5% 3) (_ZZJ ; 4) —(22) )
-0,2)" 3 3,2)° 2,6)
137. 1 0.2, 2 ©.3) . 3 ( ; 4) =7
) 0,1° ° ) -0,1)*’ ) (1,6)* )(1,3)2
138. 1) 2-(3)% | 2) =5-(=2)% | 3) —%-(—4)2; [ 4 —%(—3)2.
3 2
139. 1) <—5>2-(—g); ) (—3)3-(—5}
3) ~(=3)-2%; 4) ~(-3)-(-2)’.
140. XaHromu x 11 ; —5 OynaH, kumati udonam —x’; (-x)*; (=x)’ -po
eoeJI. 2
141. Kumatu udonam x* -po 6apou KMMaTXOU Aap yaaBaja JoAallyaau x
X1CO0 KyHen:
x| o0 1 |-1]2|=2|3|-3|4|-4]5]|-5|]6]1-6
xZ
142. Kumatu udomam x* -po 0apoum KMMATXOM Jap YaaBay Aomallygan
X XUCOO KyHEI:
x| 0| 1 |=1]2|=213|-3|4|-4]51]|-5]61]--6
x3
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143*. Apaau nmypakamapo 0a HamMyay cyMMaM yaMblllaBaHIAXOU pa3psian
WH TaBp HaBMIUTaH MyMKUH acT: a-10+bH, ku MH 4o a — amaau
Jaxuxo, b —amagu BOXMOXO; aJaau cepakamapo 0a HaMyau
a -10>+b -10+¢ HaBUIITaH MyMKHWH acT, KA MH Y0 a — aJaay Caauxo,
b —anmanm paxuxo; ¢ —amaau BOXUIXO. Arap ryeM, KM Jap anaau
4OppaKaMa @ — anajiu Xa30puxo, b —anaiu Camxo; ¢ — anaIu 1axuxo,
d — ajmanu BOXMAXO Oomian, WH amaapo 6a HaMyau cymMMau
yaMbllIaBaHIaXOW pa3psiifi HaBUCE/.

144. Ananpo 6a HaMyau cymMMaM YyaMmblllaBaHIAax0U pa3psiAd HaBUCE/:

1) 127359; 2) 5432135; 3) 1027305; 4) 12350107.
145. Apanu 6a HaMyau cymMMau YambllaBaHAAX0U paspsan udopairyna-
PO HaBUCEN:

1) 2105+ 3-10*+ 5- 103+ 1 - 102+ 210 +1;
2) 3-10°+ 5105+ 3 10*+ 2- 10°+ 310 + 7;
3) 7105+ 1-10°+5- 102+ §;

4) 1-105+1- 103+ 1.

______ e e e e e —

§ 10. /| Xocusmu dapayau numonouxanoaaws Hamypaii

U

7/
ba napaya 6GapmomiTad SsK4aHI XOCUSITA MyXUM JOpPaJ.

79| Xocuaru 1.

a® . a ="

Xaneomu 3apb kapoaunu 0apayaxou acoCX0AUlOH SKXeAd acoc
bemartiup MemMoOHA0 6a HUWOHOUXAHOAxou 0apayaxo yams Kapoa
Meuasano.

O MyBoduky Tabprdu 1apavyau HUIIOHIUXAHAAAIl HATypaan

2.2%= (22 - (222 =

——
2 mapotuba 3 mapoTtuba

a"-a"=(a-a-a-.. ax(aa-..a)=
m MapoTuba  n mMapoTuba

MyBODUKH Irypyx0aHauu 3apo
=2.-2.2.2.2 = = aaa-..a =
5 MapoTuba | (m+n) Mmapotuda

MYBO(UKM Tabpudu 1apayad HUILIOHAMXAHAAall HaTypain
=25 | =qgntn
XaMuH TaBp,
22. 793 = D2+3 | am- an:am+n.



77 Xocusitu 2.

hoe _
a”:ad"=a"" m>na+0.

Xaneomu maxcum Kapoanu 0apayaxou acocxosaulon AKxeaa acoc
bemariup mMeMoHaod 6a HUWOHOUXAHOaxou dapayaxo mapx Kapoa
Meulasaxo.

O MyBouKHU 1IapT
5> 3. m>n,a#0.

MyBo(dUKM XOCUSITH IKyMU Japaya

2273-23=2, a" " a'=a".
buHoOGap uH,

2573=25:23 ar~"=am: a.
XaMUuH TaBp,

25:23=2573, ar:a'=a"" ", m>n a+0.@®

n
Kaiin MmeHaMmoeM, Ku a_n =1, a#0 act.
a

1) Xocugartu 3.

(am)n :amn_

Xaneomu 6a dapaya bapdowmanu oapaya acoc bemaruup me-
MOHAO0 6a HUWIOHOUXAHOAX0U 0apayaxo 3apb Kapoa MeulaéaHo.

O MyBopuKky Tabpudu napayaxorm HUIIOHAMXAHIAaalll HATypaan

(2°)?=2%.2°= @'=a"-a"-a". .. . a" =
n MapoTtuba

MYBO(MUKM XOCUSITU SIKYMU Japaya

iis n Mapotuba
=2 = _ gMmrmAm _
MyBoUKHU Tabpudu 3apo
=232 = a™,
XaMuH TaBp,
(23)2=23"2 (a™)'=gm. @
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7| XocusiTtu 4.
(ab)" =a"b".

Xarneomu 6a dapaya 6apoowmanu xocuau 3apo xap K 3apoKyHaHoa
ba xamun dapaya bapdowima meuiasao.

(ab)" = (ab)(ab)...(ab) =

n MapoTuoda

O (2-3’=(2-3)-(2-3)-(2-3) =
3 Mapotuba
MYBO(UMKU KOHYHU TypyXOaHIHW Ba YOMMBA3KYHUU 3ap0
= (2:2:2) - (3:3-3) =‘ =(a-a-..-a) (b-b;...~b)=
3 mapotuba 3 maporuba n Maporuba n MmapoTuba

MyBo(UMKHM Tabprdu Aapayarl HUIIOHIWXaHIaalll HaTypain

=23-33, | =a" b
XaMuH TaBp,
(2-3)°=2°-3° (ab)"=a"l". @
1| Xocusaru 5. noon
21 =% b0,

b
Xaneomu 6a oapaya bapdowmaru kKacp cypam eéa maxpay oOa

Xamuu oapaya bapdowima meuiasao.
O MyBoduku Tabpudu Japayau HULLIOHAWXAHAAAIl HATypani

2y _(222)_ aY_(aa a)_
3 333 b b b b
M

3 MapoTuba n MapoTtuoa
MYBO(UKM KOMJau 3apOu Kacpxo
3 mapotuba n MapoTuoa
—t— ———
222 _a-a.-a
© 333 b-b..b
n MapoTuoa

[y —
3 MapoTuba

MyBOGUKM Tabpudu Japayar HUIIOHAMXAHIAAIl HATypaJin
n

_23 _a
_3_3. _b_n.
XaMUH TaBp,
3 3 n n
) 4 =L b0,
3 3 b b



117.73 .3
11°.7.3*

117771 1=11-49=539. a

Macwanan 1. X1cob KyHe;
N .73

11°.7.3%
Macwanan 2. CypbaTi naxHIIaBUU pyIIHON Takpuban 3-10° M/c acr;

Macodau MuéHa a3 Op1ob 1o 3amuH 1,5 - 10'' m. Hypu pyiuHon macodau
a3 OdTob6 To 3aMMHPO Jap YaH] BaKT Mery3apaji’?

A Jlap acocu dopmynam s= vt poxyd XaMBOPM TaWlIIymapo UYyHUH
MEOBapeEM:

1,5-10"=3-108- 7,

11
1ap UH 40 t:l’;'llo(; ~0,5-10° =500,

YaBo06: 500c=8 mak 20 c. A
MamkKxo

Xocuau 3apopo gap 1makiu gapaya HaBucen (146—152):

146. 1) 3°- 3% 2) 77 T4 3) 6°- 6; 4) 5-55.
147. 1) &~ ¢% 2) @ at 3) (%a) (%a); 4) (3b)(3b)°.
148. 1) (=2)*- (—2)% 3) (—0,5)* (0,5)%

2) (=3)*- (3)% 4) (—1,2)°- (-1,2)%
149. 1) 23- 22- 2% 3) (—5)° (—5)3 (5%
150. 1) (1,3)*-(1,3)(1,3) 3) VY,

2)(2Y (2Y .

DGR aess
151. 1) (—2,5a)* (2,5a)%; 3) (x—a) (x—a)';

2) (—%x] (—%x) ; 4) (ntm)>(n+m)’.
152. 1) 4*- 45, 2) 3% 37

3) ¢® ey 4) a"a*(n — amagy HaTypasn).
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153. Jlapayapo 6a HaMyau XOCHJIM 3apOu Ay Japayau acocallloH sSKxejia

HaBHCEI:
5 5
3| 2) (;) Dl 4 e | 5) (o | 6) (—11nn.
Ananxopo 6a Hamyau gapayau acocail 2 HaBucen (154—157):
154. 1) 32; 2) 4; 3) 2; 4) 128.
155. 1) 16; 2) 64; 3) 256; 4) 1024.
156. 1) 2 - 2% 2) 24- 23- 27, 3) 8 - 27; 4) 16 - 2°.
157. 1) 27-128; 3) 2. 8;
2) 210- 32 - 256; 4) 16 - 2" (n — natural son).
Ananxopo 06a Hamyau aapayau acocai 3 HaBucen (158—161):
158. 1) 9; 2) 3; 3) 27; 4) 81.
159. 1) 729; 2) 243; 3) 3-3% 4) 36-3,
Paxamu oxupuru adao dap Hamyou daxii 6a uano bapobap acm:
97\@ 5 847 1987 1998 2009
1) 846 ; 2) 1987 3) 1998 4) 2009 ?
160. 1) 35- 37 3; 2) 32- 311 35, 3) 3°- 27, 4) 81 - 32
161. 1) 37 3% 3) 371 81,
2) 33" 4) 27 - 3" (n — agaau HaTypaIn).

Xocuay TakcuMpo 6a Hamyau napaya HaBucen (162—164):

162. 1) 7'9: 7% 2) 43 4; 3) (0,2)*: (0,2)% 4) 102 104
9 8 9 5 1 18 1 17
. Sl - . J— -l — . 21 . 7 24 . 12
163.1)(7]-( 7), 2)(17) -[17), ) x2:x7; | 4)d*dP.
SANER
164. 1) i R E 3) (a —b): (a — by,
2) 2a)’: 2a)’; 4) (m + n)'°: (m + n)°.
Ananxopo 6a HaMmyau gapayau acocail 2 HaBucen (165—166):
165.1) 23:2; 2) 24: 4; 3) 64 : 4; 4) 32 : 23



27 210

166. 1) 8 : 2% 2) 256 : 32; 3) PEE 4) -

Ananxopo 6a Hamynu gapayau acocaiu 3 HaBucen (167—168):

167. 1) 35: 32 2) 3¢: 3; 3) 34: 9; 4) 27 : 32
315 38
168. 1) 243 : 27, 2) 81:09; 3) T; 4) 7
Xwucob kyHen (169—171):
169. 1) =5 2) S5 3) Ty Y T
8.3 11°-4% 24.20.2% 36.3°
M-y Pame VY ey
=5’ 6 6 3607
171. 1) ——; ) S 3) 7 Y

Myonunaxopo xai kyHen (172—174):
172.1) x:32=3% | 2) x:2¢=27% | 3) x - 20= 125 | 4) x- 3= 3%
173.1) 5x=57; 2) 45x = 4%; 3) 38: x= 3% 4) 21 x=12°.
174. 1) 2%=22; 2) 312=33; 3) ?:25; 4) §=37»
Mdonapo nap makinu gapayau acocaiu a HaBucen (175—177):
175. 1) (@); 2) (a¥)7; 3) (a?)ab; 4) a’(a?)®.
176. ) da(a% | 2) @ (@) a; | 3) (@) a (a5 | 4) @ (@) (a).

(a3 )5 at a (a4 )4

R

177. 1) (d) (@) | 2) (@) (@) | 3)

al2

178. Map kagoM KUMaTu n bapodaph AypycCT acT:
D3=9; | 2128=2% | 3)@r=16; | 4) 3)=812

Ananxopo 6a HaMyaM Japayaud HulloHAuxaHaaa 2 HaBucen (179—181):

9
179. 1) 0,01; 2) %; 3) 1 4) 0,0004.
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) 24

180. 1) 5% 2) 7¢; 3) (-0,7)'% 4) (—5) .

181. 1) a 2) bo; 3) ¢ 4) x¥.
Xocwuiu 3apopo 0a napaya 6apnopen (182—187):

182.1) 3-5% D (765 3)(13-8)% 4 (4%)'

183. 1) a3 2) (3x)% 3) (~4x)5; 4) (- 8h).
184. 1) (ax)'; 2) (6)°; 3) (2,5¢d); 4) (3nm)’.
185. 1) (abe); 2) (xp2); 3) (35118 4) (2:4-9).
186. 1) (0°)% 2) (a’b)’; 3) (2b%); 4) (0,1¢%).

187. 1) (10mm3)%; | 2) Ba*v’)%; | 3) (—2.3&0%% | 4) (—2nmd)*,

Xocunu 3apopo a3 pyu 32b*= (3b)? map Hamyau aapaya HaBHCEI
(188—190):

188. 1) 4°x3 2) 2%a’ 3) 5474 4) 25- 35

189. 1) (%)2 a’; 2) (3,4)%b% 3) (—1,2)%%; 4) (—%)2 a.

190. 1) 164% 2) 81r% 3) 9n’m’; 4) 15%a*h°.
HMdonapo 6a Hamynu napayau HALLOHAMXaHAaai 2 HaBucen (191—193):

191. 1) ¢2d ' 2) a*b’; 3) 25a% 4) 81m?.

192. 1) a*boc?; 2) X 3) 498y, 4) 100c8x 6.

193. 1) 0,254"°"; ‘ 2) 0,49w°m"; ‘ 3) gx”y“‘; 4)61—265a‘°b16.

HMdonapo 6a Hamynu napayay HUlLoHauxaHaaai 3 HaBucen (194—197):

194. 1) a®; 2) b? 3) 55 4) 49,

2 15
195. 1) (-0,2)"%; 2) (—5) ; 3) -0,125; 4) -0,001.
196. 1) X% 2) a‘bh’; 3) bcd; 4) x'»°7.
197. 1) =27 2) —100054°; 3) —125n°m®; 4) —0,008x%”.

.. 5 — Anrebpa, cundpu7 £



Xwucob kyHen (198—202):

4 17 5 17
198. 1) (0,25)7-47; |2) (5] (Z] ;13) (=0,125)!1- 811

3
6
199. 1) (-0,25)°- (-4)°; 3) (H) (8,9
2 Y 1Y
) (——] (3.5 9 (—) @.5).
7 9
28.3% 4.3 10°
200. 1) Pl 2) BT 3) PR
6'2 .42 410310 154
WLD e Dgmeed D 3ggs
8-27° 28 (7 16°-3°
202. 1) ¥ 2) ViRE 3) 7
Kacppo 6a napaya 6apaopen (203—206):
2} 5Y 3)
203. 1) 5) ; 2) 7) ; 3) ;) ;
2 2 3
204. 1) _HJ ) 2) n ) ) 3) —2) )
4 4 3V
ay . 36 . 27 .
205. 1) 5) ) 2) 56) ) 3) 32) ’
a+b) ) 7Y ) min) )
206. 1) 3 ] ; 2) 2—+c) ; 3) m_nJ ;
Kacppo nap namynu napaya HaBucen (207—209):
37 2° m’
207. 1) i 2) 5—5; 3) > 4)
6 3
X . a, 25,
(2b)* . (4x)* . 1
209. 1) (3b)2 s 2) (3y)4 s 3) —_8’ 4)
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Xucob kynen (210—211):
3} 5 7 (5Y. 2Y (3Y 3 (4
o ()5 L2 F3) 1o (3)63) 1o (3)(3)
o (37(8) (12). NEANEANEN
11. 1) 48) (7 ik ) | @ (5) (5)
14Y (3Y , 7Y (5Y (3)
o e o561

212. 1) Maccau 3amuH 6a 6-10* kr 6apodap act. Maccan O¢p1o6 6a 2-10%°
Kr. Maccau 3amuH a3 Maccan OpTo0 yaHg MmapoTuda Xypa act?
2) Macoda a3 3amuH 1o 6a cutopau Cupuyc 83 000 000 000 000 km
acT. X1coO HamMoeI, KM TakKpubaH Hypu pYyIIHO! a3 3aMuH To Cu-
pUyC ap 4aHJ COJI Mepacaj.

213. Kumatu ucdonapo €oen;

2-p’ 3a
1) > , 1ap UH 40 b=-2; Z)maﬂapHH‘{O a=-3.
214*. Wdonmapo nap Hamyau gapaya HaBUCE/:
6n-4 _4n+l
3n+4 g2n-1 . ghe2, a’a .

1) 5. 52nt . gl 3) —5r
Sn-3,3n+2

2) 3.3 3 4y 5 b (n—ananu narypann).

pin
215. [ap xagoM KMMatu n 6apobapn aypycT acT:
) @yr= 41 | 2) (smp=5 | 3)2m=45 | 4) 3(3)r= 312

216. Xocuau 3apOpo 6a gapaya 6apaopen:
1) 8a?b'e); | 2) Oxy*2)% | 3) (-1,26y72)% | 4) (—1,2a°P¢)’.

217. WUdonmapo nap Hamyau Aapayau acocalll @ HaBUCEI:

a8a5 ) a9a6 ' (03)4(a4)3 ) aﬁ(a3)5
R i = R v
218. Kamome a3 agaaxo KaJIoOHTap acT:
1) 54% ¢ 21'%; 3) 100% € 9000,
2) 102 ¢ 20'7; 4) 620 & 3407



219. Xucob KyHen:

2.52.9.52 (437 +7.3").57
D= ) Taeary
5.2% 4.2 53-7°-19.7')
2) — 4) 716 3715
220. Myoaunapo xaja KyHeq:
1 x:1,75:7,125—3é; 3) 18,9:x =0,021-100;
2 i+L_ﬂx- 4) 754,5:(37,1 15
) 12 18 12 2 ) ) ( 9 +X)— .
221. Amanxopo jap LIaKJIA CTaHAapTH HaBUCEL:
1) 26 000; 2) 8647 000;

3) Macodau a3 3amun 1o Opto6 149 500 000 KM.

§11./ Hamyou cmandapmuu axasso

XaHTOMU XaJl KaplaH! MachaJlaxOM TYHOTYH M(omaxor aaredpaBur Hamy-

1 . .
o ab, Eabc’ 3a’b 6ucép Bomexypann. MacanaH, FYHYOMIIN MOILIMHK

SIXJIOH, KM YeHAKXOSIILI Jap PACMU 5 HULLIOH JoJaIIyiaacT, 6a 3abc Gapobap acr.

HNdonau 3abc xocunm 3apou yop 3apOKyHaHIa MeOOIIaa, KU a3 OHXO
3apOKyHaHIau sKyM 00 pakaM Ba ce 3apOKyHaHaau OOKMMOHaa 00
xapdxou a, b, ¢ udoma kapaa urygaact.

7Y 3apbkynandaxoe, Ku 00 épuu pakKamxo HAGUUIMA ULy0aauo,
Eadl| 3apbkynandaxou adadi ea 3apOKyHanoaxoe, Ku 60 xapgxo uuwiopam
Kapoa wydaano — 3apOKyHanoaxou Xapi Homuda meulasauo.
Hdghodau aneebpasuepo, ku az xocuau 3apou 3apokynanoaxou adadi
ea xapgu ubopam acm, AKaAs30 MEHOMAHO.

MacanaH, ugongaxou
abe, (~4)a - 3ab, %a(—O, 3)bab.

Azbacku Xxocuu 3apou 3apOKyHaHOAAX0U
Oapobappo 0a HaMyou napayayd HMILIOH-
IUXaHJaall HATypaJl HaBUIUTAaH MYMKWH
acT, Japayau ajaa Ba XOCWJIM 3apOu ja-
payaxom azaaxopo HU3 IKab30X0 MEHOMAaH/I.




Macanan, ndgongaxou

3 ) i
(—) , (-7), ¢, 4a’, (——)cfb.
4 2

A3zbacku xap 9K agaapo 0a HaMyau XOCUJIM 3apOu MH afaj Ba BOXU
HaBUIITaH MYMKHMH acT, OMHOOap WH udomaxom HaMmyou da, 2, = -po
HU3 SIKab30 MeXUCOOaHI. 8

Macwana. KumaTtu 1Kab30po XMCOO KyHEI:
16ac-(0,5)a-(0,25)b,

1 9
apuHyo a=—, b=34, c==.
Aap 9 3 17

A Kumatu xapdxopo 0a sikab30 ry3oiuta, KiMaTi OHpPO Me€oeM, sTbHe
XOCHJIM 3apOu XadT amaapo XMcod MEKyHEM:

16-1.2.0,5.1.0,25.34.
3 17 3
SAx amanpo 0a amaau aurap 60 XaMOH TapTUOE, KM HABMILTA 1IyJaaH/I,
3ap0 KapaaH MyMKHWH acT:

3323 17 17717 7 17°
24 1 8§ 8 1 2 2

L8381 2 . 34=4

7 7°17 21717

KoHyHX0oM 4oiinBa3KyHM Ba rypyx0aHaum 3apopo nctrudoaa kapaa, Xucoo-
PO MyxTacaprap WYypo KapaaH MyMKHWH acT:
16ac (0,5) a(0,25)b = (16-0,5-0,25) (a-a) be = 2a%bc.

AKHYH KMMaTH SIKab3ou 2a*bc-po XaHromu d = 3’ b=34,c= % OymaH

MeeoeM:
2
2(1) .34.222'34'9:4, A
3 17 9.17

XaHroMmu 00 yCyau AYIOM XWUCOO KaplaH sKab30W [ojalnyga Oa
HaMyIM OIAuTap HaBUIUTA 1uyaa Oya: 2a*bc. IH Muconu sikab3ou Hamyou
cmaHnoapmii MeOollIal.

7N
(0~}
\

Ymyman, axassoe, ku akam sk 3apbkynanoau adaduu oap youu
AKYM Ucmanoa éa oapayaxou 0opou acocxou xapghuu eyHoeyHpo oapoap
meaupao, AKas30u Hamyou CmaHoapmii HoMuoa meuaeao.
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(D SAkas3ou duaxoxpo 6a Hamyou cmavoapmii HABUUWMAH MYMKUH
acm. bapou un xamau 3apokynanoaxou adadupo 6a xam 3apb kapoa,
xocuau 3apbu oHX0po oap Youu aeean Hasuwimawr 3apyp acm. baso
xocuau 3apou 3apoKyHaHoaxou xapghupo ba Hamyou 0apayaxo HaBUWMaH
a03um. HMgooaxou xapgupo bewmap éaxm, aeap un wapm Habouiao
xam, 6a mapmubu arugbo youeup MeKyHaHo.

Kauio menamoem, Ku oap Hamyou cmanoapmuu SKas30 xapghxou
aKxena masyyo HecmaHo.

3apbkynandau adaduu skas3oe, Ku 6a Hamyou cmanoapmii
Hasuwma uwiyoaacm, Koagpucuenmu uH IKas30 HOMUOQ Meulasao.

MacanaH, KoadhdutcreHTH sikab3ou 2a 6a 2 6apodap acT; KoahUTCUEHTH
5
6
(—7) 6apobap act. [ap XojaT OXUPHUH SIKab30po 0€¢ KAaBC HABUILITAH MyMKWH

5
sKkab3on —ab’ Ga 3 6apobap act, KoahdUCUEeHTH sTKab3ou (—7)a*b’c Ga

acr:
(-7)@’b’c =-Ta’bc.

Koadpducuenrepo, ku 6a 1 6apodap act, ogataH HaMEHaBUCHA, YYHKU
XaHroMM ajgaapo 0a Boxua 3ap0 KapaaH OH TarFiup Hameeban. MacanaH,
1-abc>=abc?, spHE KO03hdMUCHEHTH SIKab3oM abc’ 6a Boxun O0apobap acrT.

Arap koa(pducueHt 6a (—1) 6apodap Golan, 1ap WH X0JaT BOXUI Ba
KABCXOPO HAHABUINTA, TAHXO aJJOMaTH «—» -PO TY30IITaH MyMKHH acr.
Macanan, (—1)abc =-abc, 9pHe Ko3bducueHTH sikab3ou —abc Oa
—1 6apobap acr.

MamkKxo
®dukpxon mmdoxu OGaéHIIymapo map Hamyau udomaud aaredOpaBn
HaBucen (222—224):

222. 1) xocuau 3apOu Ay4yaHIau agaaxou a Ba b ;
2) xocwuiM 3apOM ceyaHaau anaaxou b Ba c;
3) xocuiu 3apOM KBaJpaTXOM aJaaxou X Ba y;
4) xocwiu 3apOu anaaM a Ba KBaapaTu agaau b.

223. 1) xocuum 3apObu KyOM agaay m Ba KBaapaTH afaau p;
2) XOCWJIM 3apOu ceyaHau KBaapaTy ajaau a Ba agaau b.

224. 1) amangy COHUSIXO Aap f coar;

2) amaay CaHTUMETPXO Jap # METP.
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225. KBagpate, KM aHI03aXx01II 1ap pacMK 6 HUILIOH Joja IIygaacT, 6a
YOp POCTKYHYA Yya0 Kapaa 1rygaact. MacoxaTu oHXopo €0e.

S | S 1
S 11
S 11 11 v
N ]
N 111 v
a Ja a a 3a
Pacmu 6.

226. Kumatu agaguu sikab3opo €0e.

1) %as, Jlap MH 40 a =-2;
2) 0,5b°, Aap uH 4o b=—4;

b

OSTRE

3) 3abc, nap uH Yo a:2,b:%,c:
1

4) 4[)611', Jap UH 40 p:%’q:3)r:g’

6) éy(—0,3)x2, nap uH yo y =—15,x=6.

227. Slkab30po Aap HaMyau CTaHAAPTA HABUCE/L:

1) 3m’m; 3) ab-0,5; 5) 5°pq’ (~4) pa;
2) 7°7°2; 4y (-m) (-m’); 6) 23qp2(—3)2pq.

228. fxba3zopo jgap 1IAKJIM CTaHAApPTH HaBUCEH Ba KUMaTU aJaauu
OHpO €0ex;

1) acl2e, map ux 4o a:—%,c:4;

1 0,23, 3 1
2) EaSb Zba , Jap WH 40 a:—2,b:5,
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229*. (Macsanrau kadumii.) ba xaB3 yop KyOyp ryzapoHuza uyaaact. Kyoypu
SIKyM XaB3po Aap SIK py3, KyOypu AyIoM aap oy py3, KyOypu ceroMm
Jap ce py3, Kyoypu 4opyM aap 4yop py3 60 00 myp MeKyHazd. Xap 4yop
KyOyp 6apobap xaB3po Aap YaH[ BaKT Myp Kapaa MeTaBoHaz?

______ L
§ 12 /I 3ap6 rkapoanu axaszoxo

/

Macnbaiau 3epuHPO X1 MEKYHEM:

Macnana. XayMmu napajuieenuIieIn pocTKyHYa a3 pyiiu opmyaan
V= abc xycob Kapaa MelliaBa, K1 1ap MH YO a — JapO3UM napajijie/iernuIie,
b — Gap Ba ¢ — OanaHam meOomIan. Arap Japo3uy UH NapajjiesienuIesn 5
MapoTtuba, 6apaiu 2z Mapotuba, OamaHauain 3n MapoTuOa 3u€n Kapaa
11aBajl, XayMu Iapajuieruiieu HaB 6a un 6apobap melaBan?

A AH03aX0M MapajijieJieNnuIieIn HaBpo MeedeM: 1apo3n Sa, 6ap 2nb,
oamaHan’ 3nc. OH rox XayMu OH

V.=(5a):(2nb)-(3nc)
MellaBaa. A
Hdonau (5a):(2nb)-(3nc) xocunm 3apou ce sikab3o Medoluan: Sa, 2nb,
3nc. MyBouKu Koraau 3apou agaaxo 6apodapuu
(5a)-(2nb)-(3nc) = 5a 2nb -3nc = (5-2:3)(annbc) = 30n’abc.

Hap Hatnyau 3ap0 KapaaHu sIKab30X0 003 sSIK sIKab30 XOCUJT MellIaBaj,
KA OHpO 0a HaMyIM CTaHAApTHA HaBUINITA, CONJA KapIaH 3apyp acT,
MacaJjlaH:

(3a’b’c):(4ab?) = 3a’b’c-4ab’ = 12a°b’c.

Xocwm 3apou Ay € SIKYaH ab30XOU SIKXeJIapo, STbHE 1apayau sSIKab30po
MyoMHa MeHamoeM, MacaiaH:((5a’b’c)?. A30acKu UH SIKabh30 XOCUIU 3apou
3apOKyHaHmaxou S5, a@°, b> ¢ meOolan, 6uHOOAp WMH a3 pYyiM XOCUSITU
0a mapaya OGapAOlUTaHW XOCWJIX 3ap0 Maija MEKYHEM:

(5a3b*c)? = 5(@®)X(b?)*c? = 25a°b*c?.

Mucian XaMuH:

2pg’)’=2p(¢°)’ = 8p’¢.

Jap Hatnyam sIKab30po 0a Japayau HaTypaar OapaolluTaH 003 SKab30

XOCWJI MelllaBaj.

Z_ o0



230.

231. 1)

232.

233. 1

234.

235.

236.

237.

Axkab3zoxopo 3ap6 kyHen (230—237):

1) (2a) (3b);
(2p) (—3c2)'

2) (-5m*) (-7

-
) o) )

2) 8m3) 0,25n);

()

—4x? )(7x )

(3ab)
1) 3a2b5c) (6a3bc2);
2)

-

(

(7a’b’c) (-3ab'c);
D (-
-

-0,4x°y°z ) ( 1,2xy7’ )
-2,5n"m

2) 4 52)(3nmr)

1 ( ; 2)( 24n) (4mn);

> (oo

1) (-a) (3b) (4a’b) (5ab*);

(3a) (2b);

)
2) (5q) (a2b2) (-2b) (-3a);

3) b*(-3b%);
3) (44%) (6a°);
4 (-50") (85°).

4 (-

2
» (g (ag)
) y 502 )
I 2,53 I 3,24
4) (ZZabc)(—3§abc).

2) (—18n) (—%mz] (=Smn);
4) (-13a’bc) (-Sab’c) (-0,4abc’).
3) (=1,5ab) (i bc) (2ac) (24ab) ;

4) (1,2a2)[—§ab) (—=5bc) (2c2
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Axan3zoxopo O6a gapaya 6apaopen (238—241):
238. 1) (2a)%; 2) (5b)%; 3) (3p)*; 4) 2a’).
239. 1) (-3ab)*; 2) (-4ab)’; 3) (-abe)’; 4) (-2xyz)’.

240. 1) (<2a%)%; | 2 (=a®be)’; | 3) (3% | 4 (<2x).

3 1 4
241. 1) (%nmz); 2) (E;ﬁmz) ;

AManxopo n4po KyHesn (242—243):
242. 1) (2a)’ (-3a); 3) (<0,2b¢*)* (20ex? );
2) (-a)’ (2a); 4) (-0,1ab’c)’ (IOObyz).

3
3 1
243. 1) (—1§x3y2)(—5c2x2); 3) (-3b¢*) (2ab?)’;

3) (-0,1a°p); | 4) (0,4a°b*).

2
2) (2 % X’ y) (% xy’ ) ; 4) (-2a%) (-a’b’) .
244. SIxab3opo 60a HaMyau KBagpaTU SIKAb30M IUTap HAaBUCE/:
1) 9a?% 2) 16x 4 3) 25a*b%
4) 81x%% 5) 36x'%74 6) 1,21a4%*
245. 3apbu 1Kab30X0po MYPO HaMoe Ba KUMATU UPoJau XOCUILIyIapo
eoe:

1 5
1) 502-302[), JIap UH 4o a:—2,b=;;
2
2) gmn-10n2, nap uH 4o m=0,8,n=4;

3) 4a'%a2b2c, Jap UH 40 a=4,b= c=3;

1 .

Z ’
4) 0,7m’n-100np, mnap ua 9o m=0,3,n=-0,2,p=4.

246. (Macesansau kadumii.) A3 ce sIK Xuccald MOXHW Jap JIOi, a3 4op sIK
xuccaall gap 3epy o0 Ba ce Bayaoalil 60101 06 acT. JJapo3uu Mmoxu
y® Kagap oymgaact?
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§ 13. ,/ Bucépassoxo

/
Hap anrebpa Gerrrap nudonaxou aaredpaBsue uctudoaa kKapaa MelllaBaHI,
KU a3 cyMMa Ba (hapkKu sIKab30X0 MOOpaTaH/I.
MacanaH, MacoxaTy KUCMU IUTPUXOHUAALIYIAM 1LIAaKJIe, KU Jap pacMU

. 1
7 a TacBup €draact, 6a Eac +b? OGapobap Oyna, MacoxaTu 1IAKJIW Aap

1
pacmu 7 b tacBupédra 6a ab—c? 6apobap act. Udonan 5 ac+b> cymman iy

1
SIKab30 aCT: 3 ac Ba b* Jlap udonau ab — ¢ dhapku ny sikab3ou ab Ba c?

cyMMaun sgkab3oxou ab Ba (—c?) mebowan. UH mndomaxo cymmaxou

ajarebpaBum sIKab30x0 MeboiaHa. YyHuH ndoaaxo 6ucépaszoxo HOMU-
Jla MelllaBaH/I.

b c b
a) 0)

Pacmu 7.

o)

Cymmau aneebpasuu AK4aH0 KaAs30X0 OUCEPAB30 HOMUOA Me-
wasad. Hkas3ox0e, Kku a3z oHxo bucépas3o mapmub dooa uyoaacm,
as30X0U UH OUCEPAB30 HOMUOA MEUABAHO.

Macanan, Snm?—3m?k—7Tnk*+4nm an3oxou Oucépab3ou Snm?,
—3m?k, —Tnk, 4nm MmebOolIaHI.

Bucépab3oe, ki a3 my abp3o0 MOOpar acT, dyas30 HOMUAA MellaBan;
Ooucépan3oe, KM a3 ce ab30 MOOpaT acT, ceas3o0 HOMKIA MellaBaj Ba
X0Kas3o0.

Muconxou ayan3o: a* — b?, Sab + 4c.
1
Muconxom ceanso: a+2b— 3¢, 5 - bc+3ab.

SAxab30po HU3 OMCEPAB30 MELIYMOPEM.
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Arap 0ab3e abp30xoM OMcEpab3o Oa HaMydM CTaHAAPTH HABUILTA LIIyaa
OollIaHI, OH ToX XxaMaul ab30XOoM OMcEpab3opo 0a HaMyau CTaHAAPTHA
oBapa, OHPO COAJa KapAaaH MyMKHH acrT.

. 1
Macnana. bucépansou 2a4b—Sabac+9bc 3 C -po colia HAMOE].
A XaMmau ab30X0U MH OMCEpab30po 0a HaMyau CTaHz[apTITI MEHaBHCEM:

2a4b=8ab; —5abac——5a2bc 9bc c=3bc’.
Mac, 2a4b- 5abac+9bc c=8ab- 5a2bc+3bc

MamkXxo
247. fxab3oxo0epo HOMOAp KyHel, Ku OMCEpab30po TAIIKWJI KapaaacT:
, 1, 2
1) —-2x* +3x-1; 3) Ta —gb—gc;
2) 4x*-3x+6; 4) —3a+0,5x-2x>.
248. bucépab3oxou 3epMHPO 0a HaMydu CyMMaM sSIKab30XO0 HaBUCE/:
1) 7a* -9a° -2a+11; 3) 1,6a’b—4a*b* +13ab’® — b*;
2) —6x° +3x* —12x% +5; 4)2,5x" —18x’y —16x%y - 3xy°.
249. A3 sIKab30X0 OMCEpab30 TapTUO OUXE:
1) 6x*,7x Ba 9; 4) a’, —a' Ba a;
2) 2x*, —11x Ba 3; 5) 8a,4a’b, —2ab’ Ba b’;
3) —x*,x* Ba—x; 6) 4a’b, —2a’b*, —Sab’.
250. Xap gk ab3ou Ouceépab3opo 0a HaMydu CTaHAAPTHA HABUILITA, OHPO
cona HaMOe/I;

1) 12a’3ba-2ab3ab* +11aba;
2) 2ab*4ab-3a*8aba-2abab’;
3) 1,5xy* (—4)xyz —4mnk5m’nk;
4) 4ec’c (—i)bc +5xyxy°.

251. Xap sIK yambllaBaHgapo 06a HaMyau CTaHAApTH HaBuluTa, Udoaa-
PO conia HaMOe/T;

1) 3aaa (—1 % ab )+ 4xxx3xy;
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2) 1,5yyy (—4xyz)—4mnk - 5m’nk’;
1 1

3) (2ab) (Z a’b’ ) - (3a2b) (gb);
1 1

4) (3a) (gabz )— (40°) (Eazb).

252. Kumatu agagum 6ucépab3opo €oe;
1) 2a®+ 3ab + b, nap un 4o a = 0,5, b:%;

2) 2a*— ab + 2b*, pgap uH 4o a =1, b=-0,5;
3) X)— 2xy + )?, nap uH 4o x = y =—4,2;
4) X+ 2xy+y’ , japunyo x= 1,2, y=-1,2.
253. bucépab3opo comga Hamoea Ba KMMaTU afaauy OHPO €0e:

1) —aba + a*b2ab*+ 4, nap H Yo a = 2, b:%;

2) B5ab — 5a5°b, 1ap MH Yo d=-, b=—2;

53
3) Xyxy — xy2xy + xy, jap uH 40 x =—3, y =2;
4) xy x 2y — xyxy, nap uH 4o x =-2, y = 3.

Macpanapo xaja MEHaMOEM.

Macwanan 1. Jly xutob xacT, Ku gap xap caxudgau OHXO agaau
xapdxo Gapobap act; gap xap caxuda zn caTp Ba gap Xap K catp m xapd
yoiirup Mewasan. Jdap kuroou sskym 300 caxuda Ba gap KMTOOU AyIOM
500 caxuda xacrt. [dap ay kutod xamarw yaHg xapd xacrt?

Yeyau 1. Ananm xapdxo nap xap caxuda 6a mn 6apobap act. Jlap Ku-
toou sgkym 300 nm xapd, map xkutoou ayom 500 nm xapd Oyma, map
Iy KUTOO

300nm + 500 nm = 800nm
xapd Xacr.

Yeyau 2. Anagu xapdxo nap xap sk caxuga 6a mn OGapobap acT. Anaau
caxudaxo map ay kutodo 6a 300+500=800, amamu xapdxo Ooiuang 0Oa
800 nm Gapobap acr.

daxmocT, K1 xap Ay 4aBoO mypycraHa, OmHoOap MH

300nm + 500 nm = 800nm.
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Bane, nap xucob6apopuxo yaBoou ayiom Oexrap Meiasaa. MacamaH,
arap n =40, m = 50 6owan, gap oH xouaat nm = 2 000 Ba 300nm+500nm
acT Ba 6apou xucod6 kapaanu udoaau 300nm—+500nm 603 ce amanpo UYpo
KapJaH 3apyp acT.

300 - 2000 + 500 - 2000 = 600 000 + 1 000 000 = 1 600 000.

Baine, 6apou xuco6 kapaanu udoman 800nm TaHXO K amMaapo MYpo
KapzaaH 3apyp act: 800 - 2000 = 1 600 000.
Max3 a3 xamMuH cabab coanga kapaaHu ugoaaxou aaredpaByl axaMUsITU

MYXUM J0paj.
Hyan3oun 300nm+500nm cymman ny sikab30xo MeOoI1an;
300nm Ba 500nm.

HNH sgxab30x0 a3 xamaurap TaHxo 00 KO3(PPUCUEHTXOSIIOH (hapkK
MeKyHaHa. YyHMH 9Kab30X0po MOHAHI MeHOMaHA. MacaiaH, SKab30X0u
abc Ba 3abc MOHaHIaHJ, SIKab30XOM 2pg’> Ba 5¢’p MOHaAHIAHI, aMMO
IKab30X0U a’b Ba ab’> MOHAH]I HECTAHI.

SIkab30xoM SKxeJapo HU3 MOHAHI MexucobeM. MaciaH, 2a’b Ba 2a’b
0a xamaurap MoHaHIaH/I.

Macwanan 2. bucépanzou 3ab — 2bc + 4ac — ab + 3bc +4ab -po
CO/IJIa MEKYHEM.

A SIkab30xoM MOHaHAPO 4Yyao MeKyHeM: fAxkan3oxoum 3ab, —ab, 4ab
MOHaAHJAHII, a3 3¢pyU OHXO SIKTOTM XaT Mery3apoHeM. A3 3epu SIKab30u
MOHaHAu —2bc Ba 3bc mytorn xat MekauieMm. ba sikab3on 4ac MOHaHIXO
MaBYy/ HECTaH[, a3 3epd OH XaT MeKallleM. XOCHUJ MelllaBaj;

3ab — 2bc + 4ac — ab + 3bc + 4ab .

Yoiixon ab30Xou OMCEPAB3OPO YYHOH MBA3 MEKYHEM, KM ab30XOM MO-
HaHJI Maxjy 0a maxjiy ucTaHa Ba ab30XOM MOHAHAPO 0a KABCXO JAOXMWIJI
MEKYHEM.
(3ab — ab + 4ab) + (-2bc + 3bc) + 4ac.
Azbacku
3ab —ab + 4ab= (3 -1 + 4)ab = 6ab,
—2bc + 3bc = (-2 + 3)bc = bc

act, ouHOOap MH

3ab — 2bc + 4ac — ab + 3bc + 4ab = 6ab + bc + 4ac. A
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TS Yynun codda kapoanu bucépas3o, Ku 0ap oH cymmau ateedpasuu
bucépas3oxou MOHAHO 00 K as30 UBA3 KaApoa Meulaéamo, Uciox
KapoaHu as30X0U MOHAHO HOM 00pao.

Jap 6ucépaszou 6ab+ bc+ 4 ac xap ak as3o0 6a Hamyou
cmanoapmii Haguwima uyoaacm éa oap OAUHUu OHX0 As30X0U MOHAHO
8yyyd Hadopad. Yymun Hamyou Oucépaszopo Hamyou cmauvoapmii
MEHOMAHO.

1) bucépaszou dunxoxpo 6a Hamyou cmanoapmii HABUUWIMAH MYMKUH
msdl| acm. bapou un aesan xap AK as30u OUcépas3opo b6a Hamyou
cmanoapmii HasUWmMaH 6a 06as0 as30X0U MOHAHOPO UCA0X KAPOAH
3apyp acm.

Macwanau 3. bucépab3opo 6a HaMyIu CTaHAAPTA Ope/.
1 2 1 2 1 2
6ab§ac—3aca—80 5b+25a —c+aba-abc.

A 6ab§ac—3aca—8az%b+25a2§c+aba—a2bc =

=2a’bc-3a*c-4a*b+5a°c+ a’b-a’bc=

= (a’*bc - a’bc) +(-3a’c+ 5a2c)_+(—4a2b +a’h) =
=a’bc+2a*c-3a’b. A

MamkXxo
AB30X0M MOHAHAPO UCIOX KyHen (254—255):

254, 1) 2 X+ X+x; 3) 2y -yt syt
D 3x 6 )3 16 32 477

5 1 1 3 9. 59 | ) 3 9
2y——y-=y; Za*b-2a*b+-a*b—=a’b.

2 V3T R A T

255. 1) 2m+q+q—4m; 3) x?+3y? +4x-y%;
2) 3a+2b-b-a; 4) 5a* —4b* -3a* + b.
bucépanzopo 6a Hamynu ctaHgapTh open (256—261):

256. 1) 11x* +4x—-x*—4x; 3) 0,3¢*-0,1¢*-0,5¢°;
2) 2y* =3y +2y-2y% 4) 1,2a* +3,4a* - 0,84>.



1, 1.2 5,1 1 5 3,5, 47 3.9
. — X —=y+=X"+-y; —a +=b"+—-a —-=b";
257. 1) 3 3773 37 2) 5 4 5 4

3)2ab+0,7b* —5ab+1,2b* +8ab;
4) S5xy-3,5y*-2xy+1,3y* —xy.

258. 1) > xy+2x2y+xy —>xy—Ly;
D) XXy =Xy -y
%) ~ab—Lab?+2 a2 b Lap?;
2 8 4 8 2
3)-9,387a—3,806+8,197a —1,116—0,81a;

4) 8,53x-4,73y -5,12x+2,27y+0,59x.

259. 1) 2a*b—8b* +5a°b+5c¢> —3b* +4c?;
2) 8xy? +4x’ —5x%y -3x’ +4x’y -9xy*;

1 3 2 6 3 3
3y —ab+-a’-=b+-ab-=-a’ +=b’;
7 8 5 7 8 5

3 2 1 8 2 3 1
4) Zab’-Zab+-a’+-ab+=ab’-=a’ +-a’.
5 3 4 3 5 4 2

260. 1) 5b3b—4c3b—5b2c—4c(-2)c;
2) b8b—3¢c8b+5¢hb—-3c5c;

3) 6a’2a’ +5b°2a* —6a*4b* —5b°4b%;
1 1 1 4
2x*~y——ab3a+1~y=x* +aab.
4) X oy-sabla+loyox"+aa
261. 1) —9a2§b+azb+24a2ic;
2) 2ab§ac—4aca—a2bc;
3 4 21 _l b 4 i 2 .
) 4x 2y 3a 9a+ ysx +aba;

1, 2 (1 1 (1
S5a—b+=a|-b* |-5b(0,5a)-~a’| —ab |.
Y 243 +3a(4) (0,5a) 3a(15a)
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§ 15. /I Yams ea mapx kapoanu Oucépas3oxo

/
— b
CeKyH‘{aepo MyOHMHa MCHaMOCM, KM aH- o

J03ax0s1l Aap pacMu 8 HUILIOH AoAa luygaaHd. 3|
Ilepumerpu oH P 6a cymMau gapo3uu Tapapxo
Oapobap acr: S
N
S

P=(2a+ 3b) + (4a + b) + (2a + 4b).

ol N PN 2

MH udona cymman ce oucépab3o MeOOLLIAI;
2a + 3b, 4a + b, 2a + 4b.

A3 pyiin Kouaau KylIoJaH! KaBCX0 MH TaBp HaBUILITAaH MyMKUH acT:

Pacmu 8.

P=2a+3b+4a+ b+ 2a+ 4b.
AB30X0M MOHAHIPO MCJIOX, Kap/a, XOCUJI MEKYHeM:
P=8a+ 8b
CyMMmau ajnreOpaBuM afaau AWIXOXUW OMCEPAb30XO HU3 XaMUH TaBp
co/uia Kap/a MelaBaz. MacaiaH,
(20* —m*)—(* —m® +3¢* ) =21 —m* —n’ + m* =3¢* =n* - 3¢’;
(3ab—4bc)+(bc—ab)—(ac-3bc)=
=3ab-4bc+bc—ab—-ac+3bc=2ab-ac.

Jap HaTMyau 4yamMb Ba TapxX KapJaHM sIKYaHJ OucEépab3oxo 003
OMCEPab30X0 XOCUJT MELLIaBaI.

\/0 ‘\J
__4

bapou cymmau aneebpasuu sakuano oOucépas3oxopo 6a Hamyou
bucépaszou Hamyou cmaHoapmii HABUWIMAH, KABCXO0PO Kyuiooa
as30X0U MOHAHOPO UCAO0X KAPOAH N03UM acCm.

bab3an cymma € ¢apku oucépan3zoxopo 00 ycyam "cyTtyHYa" édraH
O6omaBpun act. Jlap aitH1 X0JI ab30X0M MOHAH/IPO Jap 3¢py XaM MEHABHCAH]I,
MacaJiaH,

.‘ 6 — Anrebpa, cunbu 7 i



Sa—4bc+3ac Sabc -2ab+4ac - be

) + 3bc—-Tac | 2) = 3abc—3ab - ac+3be
5a-bc—4ac’ 2abc+ab+5ac—4bc’
MamkKxo

CyMmmau anreopaBum oucépan3oxopo €oen (262—267):

262. 1) 8a+(-3b+5a); 3) (6a-2b)-(5a+3b);
2) Sx-(2x-3y); 4) (4x+2)+(-x-1).
263. 1) 3x’—(4x7 +2y); 3)0,6a’ —(0,5a* -0,4a);
, Loy (hp2 1
2) 2a2_(b2—3a2), 4) IEb (2b 14).
3p 32 (L2 2135
264. 1) (25b 4b )+(4b lsb),
2) (0,1c-0,4¢*)-(0,1c-0,5¢%);

)

3) (I3x-11y+10z)—-(-15x+10y-15z);

4) (17a+12b-14c)—(11a-10b-14c).

265. 1) (7Tm* —4mn—n*) — (2m* —mn+n*);

2) (54>~ 11ab+8)+(-26* ~7a® +Sab);
(11ac+13bc+17b%)—(10ac +10bc—3b°) ;

4) (41z+13az+26az>)-(16z+13az—4az’).

266. 1 (1 ) (— —%b)+(a+bﬁ

2) (0,3a-1,2b)+(a-b)-(1,3a-0,2b);

3) (1p*=2p*)=(p*=p*)+(-5p" -3p");

4) (5 +6x7)+(x* —x?)—(-2x° +4x7).
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267.

268.

269.

270.

271.

272.

1) (—2x3+xy2) + (xzy—l) + (x2y—xy2+3x3);
2) (3x2+5xy+7x2y)—(5xy+3x2)—(7x2y—3x2);
3) (84’ -10ab-b") +(-6a" +2ab-b*)—(a’ ~8ab+4b");

4) (4a® -2ab—-b*)—(-a’ +b* —2ab)+(3a’ + b’ —ab).

CymMa Ba (apku OMcEpab30xopo €0en:

1) 0,1x*+0,02y* Ba 0,17x>—0,08y?;

2) 0,1x*-0,02y* Ba—0,17x*+0,08y?;

3) @’ -0,125° Ba 0,394 - b°;

4) a’+0,12b° Ba—0,39a° + b°.

CymMan OucEpab30Xxopo a3 pyiiu ycyau ,,cyTyH4ya“ €0en:

1) 3ab+a®-2b* Ba 2a*> —3ab;

2) 3x*+2xy—4y? Ba 4y? —2xy +3x%y? —x°.

dapky 6MCcEpab30Xopo a3 pyiiM yCcysn ,,CyTyH4ua™ €0en:

1) 3a*+8a-4 Ba 3+8a-35a°;

2) b’ -3b*+4b Ba b+2b* + 1.

1) Arap P=5a>+ b, Q=—-4a’>- b 6oman, udpomam P+ Q Ga un
Gapobap act?

2) Arap P=2p* -3¢, Q=2p*— 44> Oowman, udomgau P — Q 6a un
Oapobap act?

3)Arap A = a*> - b +ab, B=2a’ +3ab -5, C =-4a*>+ 2ab -3

ooman, A+ B+ C -po €oen;

4) Arap A=2a*>-3ab + 4%, B=3a*+ 4ab - b?, C= a*+ 2ab +

+ 3b? 6omran, A — B+ C -po €oen.

Mcbot kyHen, ku

1) cymmau maHy ajaav HaTypajiviuy Taid gap maii 6a 5 TakcuM MellaBaj;

2) cymau 4op agaaM HaTypaavuu nai aap nai 6a 4 TakcuM HamelllaBaj;

3) cymMau 4op agaaud TOKHU Tai gap mai 6a 8 TakcuM MellaBaj;
4) cymMmau 4yop aganu yydTu maii gap maii 6a 4 TakcuM MelaBaj.

273*. ap aBTobOyc n Hadap mycodup Oya. ap a1y uctroxu aBBaj m Ha-

dapn a3 aBrodyc hapoMamaHa, 1ap UCTTOXM CElOM Kace Hadapomar,
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BaJie skyaHa Hacdap 0a aBTooyc napomanani. Lllymopau mycodupon k
Hadap 1ya. Jlap uctroxu cerom 6a aBro0yc yaH1 Hadap bapoMagaHa?

[Tapannenenuneny pocTKyHYaepo MyoruHa
MEKYHeM, K1 aH103aX0sI11I JIap pacMU 9 HULLIOH
Joja IIymaacT. XayMu OH 0a XOCWJIM 3apou
OajaHaM Ba MacoxaTu acoc 6apobap acr:

(a + 2b+ ¢)(3ab).

MH ndpona xocunu 3apobu oucepan3on a + 2b + ¢
0a 3ab mebowan.

XocusaT TaKCMMOTH 3apOpo uctudoga
Kapja, MH TaBp HaBUILTaH MyMKUH acT:

(a + 2b + ¢)(3ab) = a(3ab) + 2b(3ab)+
+c(3ab) = 3a’b + 6ab*+ 3abc.

3ap6u OMceépab30Xou IUIIX0X, 0a IKab30 HU3
Pacvm 9. XaMWH TaBp MYPpO Kapaa MelllaBaa, MacajiaH,

(2°m=3nm*) (~4nm)=(2n*m) (~4nm)+(=-3nm’) (~4nm)=
=-8n’m* +12n*m’;
(3a2 —4ab+ 502) (—=5bc)=3a’ (-5bc)—4ab (-5bc)+
+5¢* (=5bc)=—15a*bc+20ab*c —25bc’.

bapou 6ucépassopo 6a sakas3o 3apb kapoaHn, xap AK as30u
bucépas3opo 6a uH AKas30 3apb Kapoa, xocuau 3apoxou XoCUauLy-
dapo yams Kapoau 3apyp acm.

an
| @~
N //

Hap Hatuyau Ouceépab3opo 0a siIkab3o 3apd KapaaH, 603 Ouceépab3o
XOCWJI MellaBaja. Xap 9K ab30M OMCEPAb30M XOCWIILIyAapo 0a HaMyau
CTaHJIpaTH HaBUIITA, OHPO COJIA KapJaH JIO3UM acT. 3apOu IKab30X0PO
murdoxd nYpo Kapaa, HaTuyam ModbaitHMPO HaHABUILITA YaBOOpO sIKOOpa
HaBUILITaH MyMKHH acT, MacajlaH:
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(~3ab + 24> - 45?) (—%ab)z ~a'b’ — @b+ 2ab’
ba Gucépan3o 3apbd KapgaHU SKab30pO HU3 XaMUH TaBp MYpPO Kap-
JaH MYMKWH acT, YyHKHM 00 MBa3 KapAaH! YoM 3apOKYHAHIAX0 XOCUJIN
3ap0 Tariiup Hameeban, macanaH, 4pg(3p*— q + 2) = 12p°q — 4pq* + 8pq.

Xocuiau 3apbu 61cépan3o Ba sskab3opo oen (274—278):

274. 1) (-5)(10+m); 5) 2(3a’ —4a+38);
2) (—% (-2+x); 6) (—%)(m—n+p);
3) (20-5) (—;]; 7) (3a-5b+be) (=3);
4) (-2m+3n) (-10); 8) (-5) (3x*+7x* —x).
275. 1) (a-b)n; 3) —6x(5y-2x);
2) (-5x+4y)2z; 4) (xz—x+1)x.
276. 1) Tab(2a+3b); 3) 12p2q(q2p—q2);
2) 5a*b(15b+3); 4) 3xy’ (xy—2x3).
277. 1) 17a(5a+6b-3ab); 3) 3x°y(5Sx+6y+7z);
2) 8ab(2b—3ac+c2); 4) xyz(x2+2y2+3zz).
278. 1) %a3b2—%ab4)§a3b; 2) §02b4+§a3b %ab%

3) (lia3x3 _23 2% —11ax* ) (—2£ax6 )
7 4 11
HMdonapo conna kynen (279—281):
279. 1) 6(2t-3n)-3(3t-2n); 3) 2(3x-2y)-5(2y-3x);
2) 5(a—b) -4 (2a-3b); 4) 7(4p+3)-6(5+7p).
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280. 1)( )3x ( 2)2x;
2) (4a*-3b)2b-(3a> - 4b)3b;
3) 2(3a+4)+3(a-7)-7(2a-7);
4) 3(2x-1)-5(x-3)+6(3x-4).

281. 1) 5(0,8y—0,1) 0,7 (4y +1) +8(0,7-0,4y);

O N S T
4) 0,2(5y+6)-4(0,25y-1,3)+5(0,1y—-1,62).
282. Kumatu udonau aaredpaBupo €oe:
1) 7(4a+3b) —6(5a+7b), nap un 4o a=2,b=-3;
2) a(2b+1)-b(2a-1), nap ur yo a=10, b=-5;
3) 3ab(4a’ - b*)+4ab (b’ -3a*), nap nu vo a=10,b=-5;
4) 4a’ (5a—-3b)-5a’ (4a+b), nap un 4o a=-2,b=-3.

______ e
§ 17. /| ba 6ucépasso 3ap6 xapoanu 6ucépas3o

Macrwanan 3epruHpO AuIa MedapoeM.

Macwana. MacoxaTtu caTxy AeBOpepo, KM YeBOHX0 O0aH]I KapAaaaH]l Ba
aHJ03axos1I0H Jdap pacmu 10 HUIIOH Joaa 1IygaacT, €0ex.
A Catxu 1eBop, KM YeBOHX0 OaHJ KapJaaH, poCTKYHYau Tapadxosii

2a+c+2a=4a+cBa a+b+a=2a+b

Mebolaa. Macoxatu poctkyHya 6a S= (4a + c¢)(2a + b) 6apobap act. A
Ndonan (4a+ c)(2a+ b) xocunu 3apou Oucépab3oxou (4a+c) Ba
(2a + b) mebowam.
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XOoCUATH TaKCUMOTHU 3apOM amagxopo McTUdoma Kapma, MH TaBp
HaBUILITaH MyMKWH acT.

S=M@a+c)2a+b)=4a(2a+ b) + c(2a+ b)

Azbacku 4a(2a+ b) = 8a*> +4ab Ba c(2a + b) = 2ac + bc act, buHOOAp WH,
S'=8a’+4ab+2ac+ bc.

c

2a ,/\” g \\(‘ ;

T AT HAN \
TR /o 1 i \ \ | L : N
4 n!."’ i I ’!1 i if v

I '
el et

FH il l AT l
!' ,‘] \ /;I..-':E: l’i.ll . ”"'!’ \‘-

Pacum 10.

0.
I
b Tt
i '.‘.:"

XaMUH Tapuk, O6apou €dpTaHM XOCWUJIM 3apOu OMCEpab30XOoM Mas-
Kyp JIO3UM acT, KM Xap 1K ab30M 0uceépab3on 4a + ¢ -po 06a xap siK Oucep-
ab30 2a+ b3apb Kapga, HaTUYaxo YyaMb Kapja liaBaH. 3ap0 HaMyJaHU
Iy OMcEépab3oM IUJIXOX, HU3 ailHaH XaMMH TaBp MYpO Kapjaa MellaBaH/I.

(7Tn—2m) (3n-5m)=(7n)-(3n)+(7n)-(-5m)+(-2m)-(3n) +
+(-2m)-(-5m) =21n* = 35nm—6mn+10m* = 21n*> —41nm+10m*.

71 bapou 6ucépaszopo 6a bucépaszo 3apb kapoaH, xap K as30U K
bucépaszopo 6a xap Ak as3ou bucépassou oueap 3apod Hamyoa, Xocuiu
3apbx0u X0CUAULYOapo Yyams Kapoax A03UM ACm.

Hap Hatmyam 6uceépab3opo 6a 6rceépab3o 3apd KapaaH, 003 OMcEpab3o
XOCWJ MewaBana. bucépab3om xocwinymapo 0a HaMyau CTaHAApTH
HaBUINITAH 3apyp act. Jlap aiiHM X0JI, 3apOu SIKAb30poO MIM(POXA UYPO
KapJa, HaTM4yaxou MOOAMHMPO HaBMILITAaH MYMKMH acT, MacajlaH:

(2a—4b+3c)(5b—c)=10ab-2ac— 20b* +4bc +

+15bc-3c* =10ab-2ac -20b* +19bc — 3¢>.
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3apbu sikyaHa OMcépab30Xopo OO0 HABOAT MYPO KapaaH JIO3UM acT,
MacaJiaH:

(a+b)(a+2b)(a-3b)= (a2 +3ab+2b2)(a—3b)=
=a’ -3a’b+3a’b-9ab® +2ab*> - 6b* = a’ —Tab* - 6b°.

———amkxe
bucépabzoxopo 3ap6 kyHen (283—291):
283. 1) (a+2) (a+3); 3)(m+6) (n-1);
2) (z-1)(z+4); 4) (b+4) (c+95).
284. 1) (c-4) (d-3); 3) (x+y) (x+1);
2) (a-10) (-a-2); 4) (-p+q) (-1-9q).
285. 1) (2x+1) (x+4); 3)(3m-2) 2m-1);
2) (2a+3) (5a-4); 4) (5p-3q) (4p—q).
286. 1) (%a+3b)(%a—3b]; 3) (—a 2b)(§a+2b)
2) (0,3-m) (m+0,3); 4) (0,2a+0,5x) (0,2a-0,5x).
287. 1) (a®+b) (a+b); 3)(a* +2b) (2a+b*);
2) (5x*-6y*) (6x -5y7); 4) (X +2x+1) (x+3).
288. 1) (2a-b) (4a* +2ab+b);
2) (3a-2b) (94> +6ab+4b");
3) (5x+3y) (25x7 —15xy +9y7);
4) (3a+2b) (94’ —6ab+4b%).
289. 1) (5c-4y) (-8c-2x+6y); 3) (4x-3y+2z) 3x-3y);
2) (4b—c) (-5b+3c—-4y); 4) (3a—3b+4c) (3a-5b).
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1 1 1
290. 1) (0,2x+0,2y—-2) (x—y); ‘ 3) (Em—§n+§p)(60m+12);

2) (0,3x-0,3y+2z) (x+y); | 4) (0,1a>-0,3a+1) (3a* -10).

291. 1) (a-b) (a+b) (a-3b); 3) (x+3) (2x-1) 3x+2);
2) (a+b) (a-b) (a+3b); 4) (x-2) (3x+1) (4x-3).

1
292. 1) HulioH guxen, KM XaHTOMU X = 27 OymaH, kumatu udogan

Ox—1)(x+3)-(x—2)(5x—4) 6a 49 6apobap acT;
2) HullloH nuxen, KU xaHromMu a=-— 3,5 OymaH, Kumatu udomaun
(@a+3)%a-8)—(2+a)9a-1) 6a -29 6apobap acr.

293. Kumatu udomapo xucod HaMOE:

1) (n+l)(n2 1n+1) 51
= ——h+t—1|, mfapuHyo n=-2—;
2 ) 4| HapuHA 5

2) [n 1)(n2+1n+1) 7
-— —n+— |, TapuH Yo n=—.

294*. 1) Macoxatu poctkyH4yau ABCD a3 Hazap ryzapoHuaa (pacMu
11) HUIIOH OuXen, KU

(a+b) (c+d)=ac+bc+ad+bd
acT.
2) Macoxatu poctkyHyau ABFFE po a3 Hazap ryzapoHuaa (pacMu
12), HULLIOH IUXeHd, K1

(a+b) (c—d):ac+bc—ad—bd acr.

B E C M N K
~ ~
M 7 B 7
S Q
A A
a A b D a P b £
Pacmu 11. Pacmu 12.
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§ 18. /| ba axas3o maxcum xapoanu sxasso ea
/  bucépasso

Hap naparpadxou mneiutapa HUILIOH JoAa 1iIyaa Oyd, K1 Jap HaTuyau
yaMb, Tapx, 3ap0 Ba 0a mapayay HaTypaJl OapIolUTaHU SIKYaHJ SKab30
Ba OMCEPAB30X0 003 OMCEpPab30 Xocua MelaBan. Jap amanxor HoMmbOapiiyaa
amajy TakcuM Byuyn Hagopaa. Mdomaxoe, Ku amaau Takcumpo aapoap
Merupasa, gap 6o6u VI mydaccan nupa meliaBaHI.

1. ba sgKab30 TaKCHM KapJaHH SAKab30.

Macnana. fxan3om 32a’h* -po 6a gkab3on 44> TAKCMM HaMOE]I.

A3 xocusITh 6a XOCWIM 3ap0 TaKCHMM KapIaHU afgaa McTugoaa MEKyHeM:
XaHroMu 0Oa XxocuJu 3ap0 TaKCUM KapAaHW ajgajl MH ajaapo 0Oa
3apOKyHaHIau SIKyMU XOCWIM 3ap0 TakCUM Hamyda, Oabl HaTuyau
XOCHJILIyIapo 0a 3apOKyHaHIau OYIOMM XOCWJIM 3ap0 TaKCUM KapaaH
JIO3MM acT. XOCUJI MEKYHEM:

(322°0) : (40’ )=((324°0) : 4) : &,

AKHYH KOMIau 3epuHpo UcTrudoaa MedapeM: xaneomu ba adad makcum
Kapdanu xocuau 3apb ske a3 3apbokyHandaxou xocuau 3apopo b6a ux adad
makcum Kapoaw 3apyp acm. X OCAJl MEKYHEM:

(32a3b2) 14 = (32 : 4) a’b* =8a’h’;
(8a3b2) cat = (8(13 : az) b* = 8ab’.
XaMUH TaBp,
(32a3b2) : (4a2)=8ab2.
SAxab30X0 map X0JaTXOM OUTap HU3 XaMWUH TaBp TaKCUM Kapja
MelllaBaH/, MacajlaH:

4a’b’ : (4a’b’)=1;
(66a4b2c) : (22a2b) =3a’bc;
(9w’ m?) = (<3kn’m”) = -3k.
Hatuyau takcumMpo 60 poxu 3ap0 caHYuAaH MYMKWH acT: maKcum-
waeanda 6a xocuau 3apou MaxKCUMKYHaHOa 6a XOCUuau makcum oOapobap

wyoaunau 3apyp acm.
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MacanaH, TaKCUMHU (56a5b3c) . (7a2b2c):8a3b NYPYCT MYpO

wynaacr, ayHku 56a°b’c = (7a’*b’c) 8a’h.
2. ba sKab30 TakCHM KapaaHu OMCEpan30.

Macwaa. bucépansou 2a’bh + 4ab’> + 8abc 6a saxab3ou 2ab TaKCUM
HaMmoe/I.

A A3 koujgam 3epuH ucTUdoma MEKYHEM: xaHeomu b6a adad makcum
Kapoanu cymma xap K yamsuasanoapo 6a un adad makcum KapoaH 3apyp
acm. XOCUJ1 MEHaMOEM:

(2azb+4ab2 +8abc) : (2ab):(2a2b) : (2ab)+
+(4ab2) : (2ab)+(8abc) : (2ab)=a+2b+4c. a

BHcépa1>3o 0a sIKab30 Jap XO0JIaTXOu Aurap HMU3 XaMMH TaBp TaKCUM
Kapaa MeiaaBaJ, MaCajlaH:

(9a°0* =3a’b* + @’ : (3a°h* )=
(0352 - (22252 \ 2 (27253 - (34252 202\ - (3252 =2 ht L
—(9ab).(3ab)+( 3ab).(3ab)+(ab).(3ab) 3a b+3.

bapou 6a skas30 makcum Kapoanu Oucépasso xap sAK as30u
bucépas3opo 6a uH AKAs30 MaKcum Kapoa, Hamuyaxou Xocuiulyoapo
Yyams KapoaH A03UM acm.

(o -

Haruyau 6a sikab30 TaKCUMM KapaaHu OUcEpab30opo 00 poxy 3apOKyHH

CaHYMIAaH MyMKMH acT. MacaiaH, TaKCUMU (36n4m2 —45n°m* ) : (9}12m2 ) =
=4n’ —5m” JypycT M4pO LIYAAACT, YyHKHU

36n*m* —45n*m* = (4n2 —5m2) (9n2m2) acr.

Hap Mucojxou 00J0 MyouMHa HaMyldeM, KM XaHTOMU 0Oa SIKab30
(bucépab3o) TaKkCUM KapiaaHu sikab3o (Obucépab3o) 003 sgKab3o (OUCEp-
ab30) Xocus MewaBan. UyHuH xonaTxopo OeOakusi (OyTyH) TakCUM
LIyJaHu $sIKab3o (Oucépab3o) Oa sIKab30 MEeHOMaHA. AMMO OeOakusi
(OyTyH) TakCMM KapJaaHM sIKab3o (O0uce€pab3o) Oa sIKab3o XaMa BakT 0a
amasn Hameosin. MacanaH, 6ucépab3on ab + ac 06a skab3ou ab O0edakus
(OyTyH) TakCuMM HamellaBaj.

dap3 KyHeM, KM XaHTOMHU TaKCUM KapJaHM gKab30 (0ucépab3o) Oa
sIKab30 Xaphxo KuMarepo KaOyal MeKYHaHI, KW TakKCHMIIaBaHAa 0Oa
cudp HobGapobap acr.
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Takcumpo nypo kyHen (295—305):
295. 1) b°: b 2) y'iy 3a :a'; 4 b,

296. 1) 12x: 4;

2) (-15a):5; | 3)(-18y):6; | 4) 10c: (-2).

2) %a:S; ‘ 3)(—%b):2; ‘ 4) 3c:(—§).

o (Pl o 2 )

297. 1) 8c: (-2);

2
298. 1) $X (-2);

299. 1) 5a: a; 2) 8x:x; 3) Sa: (-a); H(7y): ().
300. 1) (-6x) : (2x); 3) (=6xy) : (-3xy);
2) 15z: (5z2); 4) 12ab: (—4ab).
301. 1) 3a: (%a); 3) (-3¢): (%c);
2) %bi [—éb); 4) (-1,69n) : (1,3n).
302. 1) 8abc: (—4a); 3) (-6,4xy): (—4x);
2) (-10pq) : (69); 4) (-0,24abc) : (-0,6ab).
303. 1) 14a’: (7a°); 3) (-0,24") : (-a");

2) (-42m’) : (6m); 4) (—Z%a”) : (-24"7).

1 2
304. 1) (gm%zpz): [—gnfnzpz); ‘ 3)28,9p°¢*y 1 (-1,7p*y%);

2) [—I%a“b%z) : [—%cﬁbcz );

4) (-6a’b’c): (-2a%bc).
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305.

306.

307.

308.

309.

310.

311.

312.

1) 20m*n’ (Sm 3) 3) (§a4x3y2) (—%

2);

2) ( 13a3x2y3) (16,9a2xy); 4) (—%a5b3c) : (—I%azbzc).
Mdonapo conna KyHen:

1) (4a3b2)3:(2azb)2; 3) (— abcz)sz(— azbc3)2;

2) (9x2y)3:(3xy)2; 4) (— x2y3z)4:(xyz)-

Taxkcumpo nypo kyHen (307—310):

1) (12a+6) : 3; 3) (14m-8) :(-2);

2) (106-5) :5; 4) (-6+3x) : (-3).

1) (5mn—6np) : n; 3) (x—xy) :x;

2) (4a’ -3ab) : a; 4) (cd-d) : (-d).

1) (3a*b—4ab’) : (Sab); 2) (20" +3¢'p’) 1 (-3¢*D’);

3) (-27&4P21K31%) < (-10k312) (~a%b3+3a%? ) -

1) (6a—8b+10) : 2; 3) (10a2—12ab+8a) :(2a);
2) (8x+12y-16) : (-4); 4) (2ab+6a*b>-4b) : (2b).
Ndonapo conna kyHen:

1) (6a’-34%) : @’ +(12a* +9a) : (3a);

2) (8x3—4x) (2x) (4x* -3x) : x;

3) (3x3—2x2y) x? - 2xy +xy (%xy),
4) (azb—3ab2) : (—ab)+ (6b3 5ab2)
Kumatu ugonau anredopaBupo €oen;

1) (15a3+25a2) : (5a)-9a" : (3a2), nap uH 4o a="7,;
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2) (18a*-27a%) : (94*)-10a’: (5a), nap uH 40 a=-8;
3) (3%’ +4x%y) : x* = (10xy +15y%) : (5y), Hapunyo x =2,y =-5;

4)(2xy* =5y°) 1 y* +(12xy +6x7) : (3x), MPUHYO x =3,y =—12.

Xyapo oucanyen!
1. Udonapo nap Hamynu gapaya HaBUCEI:

53 5% 3836 (23)% 3525
2. Udonapo comna kyuen: (3b+c? —d)—(c* =2d).

3. AMaJIXOpo UYpO KYHE]I:
(-0,25a’b*c) - (5abec); (Tm* —=20mn—10m) : (10m).

4. Udomapo compa KyHel Ba KMMaTU aJaJuid OHPO Jap XOJaTh
m=-0,25 OynaH, €oen;
2m(m—-1)+(m-2)(m+2)+2m.

Mamkxo goup 0a 6o00m III

313. Hasucen:

1) xBagpatu agagu m;

2) KyOu agamm a;

3) KBagpaTHu XOCUJIM 3apOu ¢ Ba 3;
4) xocwiu 3apOu KBaapaTu c¢ Ba 3.

314. Hasucen;

1) KBagpaTtu XOCWIN Tapxu n Ba m;
2) XOCWIM TapXy KBaapaTu # Ba mi;
3) KyOu XOCWIM Tapxyu 7 Ba m;

1
4) KyOu XOCWJIM Tapxy ajangaxou 5 Ba b.

315. Tapadxou kBagpat 6a ¢ metp 6apobap act. [lepumeTp Ba MacoxaTu
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316.

317.

318.

319.

320.

321.

322.

323.

324.

325.

Terau ky06 06a k cantumeTp 6apobap act. MacoxaTu caTx Ba XayMu
OHpO €0e/.

ke a3 Tapadxou poCTKyHYapo 00 X MIIOpaT Hamynaa, dpapMyiaan
MacoxaTu pOCTKYHYaepo HaBHCell, KU K Tapadalll a3 Tapadgu aurap
3 mMapoTtuba KajoH acT.

Arap kyou Teraamn 6a 1 meTp OapobOap 0a KyOXoM IOpOM TeFau
1 caHTUMETpHW 4yyao Kapiaa liyga, OOJOM XaM TIy3OllTa IIaBaH,
CYTYHM JOPOU YW TyHa OajaHIM JIOIITa XOCWUJ MellaBan?

Arap nunm omam map 1 makuka 6a xpcoow mMuEHa 75 mMapoTtuba
TaNIuII Xypaa, Aap JaBOMU SIK 1Ia0OHapy3 YaH MapoTuOa Tarlmuiil
mexypan?

O€ monuiomy3 1 M3 mykpo Gappoiura meraBoHan? (Maccau 1 cm?
nyk 6a 0,2 r 6apobap acr).

Ananxou 3eppo 0a HaMyau CTaHIAPTH HaBUCE:

1) Illymopan momnekyiaxon 1 cM® ra3, ku ¢puimopu 760 MM CyTyHU
cumo6n nopan, nap 0° C 6a 27 000 000 000 000 000 000 6apobap acr;
2) mapcek (4eHaku Aapo3ue, KU Jap aCTPOHOMMS KaOyJl 1IydaacT)
o6a 30 800 000 000 000 xm Gapobap acr;

3) mamumHam xucobb6apopu ssekTpoHn gap 1 conus 1 000 000
aMaJIpo MYPO Kapjaa METaBOHA/.

Macoxatu carxu 3amuH a3 510 MJIH Km? 3uéaTrap acT. XauyMu
3amun a3 1000 mupn km? 3uéarap act. MH agaaxopo 60a HaMynmn
CTaHJIApPTA HaBUCE/.

Hap 1 1 obu 6axp 6a xucodbu muéHa 0,00001 mr Twuio xact. Hap
1 xM? oOM Oaxp yW Kamap TWJUIO lIyJaHall MyMKMH acT?

bucépanzopo 6a HaMynau cTaHIAPTH HABUCE/:
1) (2m) (4n)—3a(2b)—(0,2n) (5m)+b(5a)—5nm+8ab;
2) 13ab-0,2xy —(2a) (5b)+(6x) (0,2y)+a(-3) b;

3) 2abc5a+1§a2lbc—2zab(—§)a;
7 12 3 8

4) 3nmkdn—2nm 22 nk+2n’m (—41)/6.
8 3 9 2

Kumaru 6ucépan3opo €oe:

1) —0,08x+73xy*+27xy?, mapunyox=4,y=0,2;
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2) —2a’b+4b+11a’b, nap uH 4o a=—§,b=2%;

3) 5p°-3p*+11p-Tp—6p>~Tp*+ p, napunyo p=—1;

4) 8x* —7x> +6x-5x"+2x +3x* —8x, Iap MH 4o x =1.
326. Xocuau 3apou ajareopaBruu OUCEPaBL30X0po E0e/:

D) (26" +xp? )+ (xPy 1)+ (X*y —xp? +3x°);

2) (3x2 +5xy+7x2y)—(5xy+3x2)—(7x2y—3x2) :

3) (84’ -10ab—b*)+(-6a’ +2ab—b*)-(d’ —8ab+4b2) ;
4) (4a’-2ab+b*)—(-a’ +b* -2ab)+(3a’ +b* -

97\/_@ 6 Coxubu asmomawunau Spark“ [ ‘
- uapxxou mMasyyoa 6a 3axupasupo oap
wakau dap pacm HuuioHoodautyoa
ueas mexkapo. Ilac az 30 000 km
POX mail HamMyO0aH, Masiym uLyo, Ku
xamau apxxou Spark “ sax xen xypoa ><
wydaano. Xap aK uapx 4aHo Kuio-
memp pox naumyoaacm? @

bucépanzoxopo 3ap06 KyHen (327—328):

327. 1) (0,3x+0,3y - 2)(x - 2); 3) Gm—in+%p)(20m+8);
2) (0,5x-0,5y+2)(x+); 4) (0,24° -0,4a+1)(54* -10).

328. 1) (a-b)(a+b)(2a-3b); 3) (x+2)(3x+1)(2x-1);
2) (a+b)(a-b)(2a+3b); 4) (x=-3)(2x+1)(3x-1).

329*. TakCUMpPO UYPO KYHE:

1) (0,01a* 0,24’ +0,044> +0,002a): (0,01a);

2) (—0,05x5 —0,08x* -0,09x> + O,lez) : (—O,lez) ;
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3) (—4m5n2 —gm“n5 +§m3n6) : (%m%z );

4) 3o+ 8t~ 2 [ 2axt ).
4 5 10 5

(?_73 TecTx0 — Mamxkxou canyuma goup 6a 000u 111

1. Xucob KyHen: (33 -95):813.
A) 3; B) é; C) - D) —.

a8 (b4 )4
("¢ -(a®) - (ab)*

2. Xucob KyHen:

1
A) a’b?; B) b% C) a% D) 7
3. Kumaru agannm sskab30Xopo €0e:

1
§a2b3c, map MH 4o a=-2,b=-1, c=10.
4 4
A) -3 B) % C) -8: D) 8.

3
4. SIkab30x0po Jap HaMyau cTaHIApTH HaBucend: 2*ab’ (_%) a’b

4
A) 24°b; B) §a3b3; C) —55303; D) 4a’b’.
_l 3b2 3 i b2
5. SIkab30xopo 3ap0 KyHe: 1 Sa ¢ 1 461 C |
A) 0,3a’b*c*; B) -0,3(abc)*;
9 412 312 9 4 413
——a'bc’b’; — b°.
© "4 by 5e¢

6. Bucépan3o Ba Xap SIK ab301 OHPO 6a HAMYIU CTAHIAPTH OBapla, COINA
KyHer: 3b°a5ab—6b*4aba+ ab4ab’.

A) 43 &b B) 43a2b%; C) —5a°b%; D) -5a2b°.
.. 7 — Anre6pa, cuHpu 7 i



10.

11.

12.

13.

14.

15.
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CymMau anrebpaBum OMce€pab3opo €0en:

(0,5a+3b)—(1a—1b)+2(a+b).
3 2 3

A) a+3b; B) C) —a-3b; D) a-3b.
bucépab3opo 6a sikab30 3ap0 3aHen: 4a - % x | (=3x).

A) —12ax-3x%; B) 3x’-12ax; C) 3x’ +12ax;

D) x*-12ax.

Conna kyHen: 5a(0,4a-b) - 4a(i a-b ]
A) a(a-b); B) a(a+b);> C)’a’+9ab, D) 34> +9ab.
Bucépan3opo 0a 1makau cTaHgapTh Open:

4abc3a—2§b213ac—33ab[-1i]ac.
7 19 3 11

A) 12a*bc —8ab’c; C) —12a’bc-3ab’c;

B) 17a’bc-3ab’c; D) 12a’bc-3ab’c.

Bucépan3opo 3apb 3anen: (a—b)(a+ b)(a® + b*).

A) @’ -b* B) a'+b; C) @ -b D) a'-b".
Takcumpo nupo kyHen: (16a°bh* —4a’b’ + ab?) : (4a°b?).

A) 4a—b+i; B) 4a+b+4; C) 4ab—é+4;

D) 4a-4b+4.
Kumatu ananuu ndonan aaredbpaBupo €oe:
3
(10a* +15a%) : 5a* —18a’ : (—6a), nap uH 4o @ = -7
A) —-15,75; B) 6,75; C) 15,75; D) -12.

a

WUdonapo conna KyHex: (18a4 +21a ) : (3a2 ) - 5a(2a + l],

A) 4a*+2; | B) 164> +12; | C) —4a>+2; | D) 164*+2.
Bricépan3oxopo 3ap6 kyHer: (a+2b)(a—2b)(a’ +4b%).



A) @' -16b% By 4*-8b°; C) a’'-8b°; D) a'+16b".
Xucob kyHen: (16—20):

(-0,2)°
C(-0,nt
A) -3,2; B) 3,2; C) 0,00032; D) -0,00032.
2
1
—(=3)°[-=1.

3 ( 3] |
A) -3; B) 3; C) -2,7; D) 9
(5,2)°

T3
A) 832; B) 8,32; C) 83.,2; D) 5,2.

- (10%):(2°-5%).

A) 1; B) 0,2; C) 10; D) 0,5.

- (187):(9*-24).

A) 18; B) —; o) L D) +
) 18; ) 3 ) 33 ) 5

. Kumatu amagum skan3opo €oen:
i-x‘(—0,9)y2, Jap UH Y40 X=—1,J’=10
18 2
A) —45; B) 45; C) -2,5; D) 2,5.

. HKaT,;sopo Jap maxkjim CTaHI[apTVI HaBUCC.

(-%) Xy (~18)y’x.

A) §x3y3; B) 18x%%; C) —18x3)%;
D) —%xzyyzx.
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23. bucépab3opo 6a sIKab30 3ap0 3aHe:

(l§a2—~%ab+%x6b2)(—35ab)
357 77

A) —18a*h + 10a*h? — 21ab’; B) —18a°h — 10a?b* + 21ab’;
C) 354°b— 10ab — 28ab’; D) —184° — 10ab + 21a°b°.

24. bucépab3opo 0a IKab30 TaKCUM KYHE/:
P%fﬁ-ﬁﬂ%%szﬁ){%fﬁ}

25. Xuco0b KyHen:

© 6 o™

14 7
A) 52b+ 1,50+ 3b°: B) 52b— 1,54 — 3b:
C) 15a% — 3a + 9b: D)2%fb—L5a+7h

L3’ (52
(1,69)* (2,6)° .21

A) 4: B) 2.6; Q) I: D) 1,69.

Macpbanaxom TabpHUXH

Macesasrau Hiomon. SIX Hadap xatToT gap 8 py3 15 Bapak HaBullTa
MmeTaBoHan. bapou 405 Bapakpo gap 9 py3 HaBulLUTaH 4yaHja Hadap
XaTTOT JIO3UM?

Em 6a xynu acn 14 py3, 6a acny Toitua 10 py3 Mepacan. XamMuH
MUKJIOp eM 0a Xyau Toiuya 0a 4yaHg py3 mepacan?

A3 TIaHY gK Xuccam OpyxouM acaj Oa ryaxoum caden, a3 ce sK
Xyccaall oowan 6a ryaxou cypx HuinactanHa. Ce 6apobdapu XOCWiIn
Tapxy OHXO Jap TYJIXOU 3apJ HullacTaaHa. TaHXo SIK OpyM acaj a3
MalllOMU TYJIXO poxaT Kapja, nmapujaa ramraact. Kanm ouryen, map
TyJ30p YaHI opyu acaj Oymaact?

1] Mabaymorxou TabpuXxi

bo xapdxo miopa KapaaHu Oy3ypruxorm HOMabayM XOJIO a3 JaBpaxou

MareMatuku mamxyp Hduodant (acpu III) mabaym oyn. @. Buer (1540—
1603) Ooman, aBBaJIMH 1yga XaM Ko3(pdUCHEHT Ba XaM MUKJIOPXOU
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MyaiistHpo 60 xapdxo muiopa kapa. Koadducuenrxou xappn 6apou gap
XOJIaTU YMyMH TaTOMK, KapJIaHU MyOIUJIaxou ajareOpaBd AepTap UMKOHUST
maiino kapa. ®. Buer 60 xapdxom xamcamoum normauu B, G, D, ...
Ko3(ppucueHTxopo, 60 xapdxou cagoHoku A, E, I, ... HOMabJIyMXopo
niopa Kapaaact. Maitnacyd Ba MaTeMatnky Maixypu ¢gpancasn P.Jlekapr
(1596—1650) Gapom wuiopa KapmaHu KO3(D(GHUCUEHTXO a3 Xaphxou
aBBaJIMHU Xypau anudoou JIOTUHA a, b, ¢, d, ... Oapou uiopa KapaaHu
HOMAaBbJYyMX0 Oowian, xap@xou OxupuHU anupOou JOTUHHA X, V, Z
nctudona oypraact. Mimopan 3aMoHaBuM napaya @’, @, ..., a* (n— amaou
HaTypayin)-po Hu3 [exkapt moxun Kappaact (comm 1637).

Hap ,,bobu 3ap6*“-u acapu ,,Aj-4yabp Bai-MyKoOana“-u Xya an Xopa3mi
Jap 0opau 3apOu SIKab30X0, 3apOu Myab3oxo 0a Ayab30X0 Ba CoAgarapiaoHn
MMCOJIXO OBapiaacT. bab3e a3 MUCOIXOM a-XOopa3sMUPO MEOPEM:

1) 10-x)x;

2) 10+x)(10+x);
3) 10-x)(10-x);
4) 10-x)(10+x);

(10+£)-(l—5x}

2 2

6) (10+x)(x-10);

7) 100+ x* —20x) — (50 +10x - 2x?);
8) (100+ x? —20x)+ (50 +10x —2x?).

Hap acapxou an Xopasmu, Axmaau Mapronn, an-Koin cuMBoIMKan
anareOpaBd Byuyn Hagopand. Jlap acapu maremaTuk AOyxacaH AW MOHU
MyxamMman an Kanacangn (acpu XV) 271€MEHTXOM CUMBOJIMKApPO Ay4Op
oMagaH MyMKUH acT. Jlap myomuiaxou ain-Kanacan? mapayan SIKyMu
HOMabJyMX0po 00 xapdu aBBaJIMHM KajluMau ,11ail“, KBaapaTpo 00
KaJluMau ,,MoJI*“, Kyopo 00 xapdu aBBaJIMHU KaJuMau ,,Kaad“ uiopa
kapnaaact. ba yoiin uimopau 6apodapn ,,.=“ xapdu a -u Kaaumau ,,agaiga‘
(6apobapn) uctudona mynaact. CuMBOJMKaU KypcH ,,Airedopa“ Ku Mo
a3z pyinm OoH MexoHeM (Maymyu aiomarxo) gap acpxou XIV—XVII
TallaKKyJa €pTaacr.

5
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bury3op xaHromu a =573 Ba b=427 OyaaH, KUuMaTu agaauu udoaau
@’ — b? -po €édraH matay0 acr.

Arap KMMaTXou agagupo ry3olTa, Xucod MYpo Kapia IaBaj, JIO3UM
Meosi, K1 agaaxou 573 Ba 427 6a xBaapaT OapaollTa 1IaBaHJ Ba Oabn
amaJiu Tapx, 6a 4o oBapa 1IaBaj.

Arap udonau a> — b* 6o udbonau (a + b)(a — b), xu 6a oH 6apodap acr,
MBa3 Kapja 1LaBaj, X1co00apopruxopo oaauTap NYpo KapJaH MyMKHH.

Hap nH xoyat xaHromu a =573 Ba b=427 OynaH, XOCUJI MEKYHEM:
—bP=(a+b)a-b)=(573 +427)(573 —427)= 1000 - 146 = 146 000.

Bapou comna kapmanu xucob66apopuxo oucépan3on a> — b> 060 Xxocuin
3apou (a + b)(a — b) uBa3 Kapjaa 1y,

D H ba namyou xocuau 3apbu dy é axuano bucépas3o ugooa kapoaHu
gadlll 6ucépassopo 6a 3apOKyHaHOGX0 YYOo KaApOaHu OUCEPAB30 MEHOMAHO.

ba Tabpunmuxun 6a XaMMH MOHaHJ XaHIOMU 0Oa 3apOKyHaHIAXo
yyoo KapJaHW agaaxou HaTypalW Boxypaa Oymem. MacanaH, amaau
Mypakkabu 60-po 6a HaMyau XOCWJIM 3apOM ajgajxou coaga WMH TaBp
ndoga KkapaaH MYMKUH acT:

60=2-2-3-5=22-3-5,

ba 3apOKyHaHgax0 4Yy/o KapAaaH! anaaxo XaHroOMU MXTUCOP HaMydaHU
Kacpxo, 0a Maxpayud yMyMd OBapJaHM OHXO Ba XaHTOMM XaJl KapaaHu
Macbajgaxou aurap uctudoga Kapaa meunasana. ba 3apOKyHaHIaxo 4yao
KapaaHu OuCEpPab30X0 HU3 XaHTOMM MYpPOU aMaiaxo 00 wuddogaxou
ajnreOpaBd 0a TaBpU Baceb MCTH(OAA Kapaa MellaBaj.

Macnanan 1. Kumatu ananum udonaum ab+ ac— ad -po Xanromu a= 43,
b=26, c=17, d=23 oynaH, €bex.

A VH TaBp X1co0 MEKyHEM:
43-26+43-17-43-23=43-(26+17-23)=43-20=860. A
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Jlap MH 40 XOCHUSITU TAKCMMOTHU 3ap0 ncTtrdoaa Kapaa 1iyaaacT:
ab+ ac—ad = a(b+ c- d).

Hap udonan agagum 43 - 26 +43 - 17 — 43 - 23 ananm 43 3apOKyHaHIau
yMyMn MebOowian; gap udopau anreopaBuu ab+ ac— ad Gowman,
3apOKyHaHIau yMyMd a MeOo1uas.

0 Aeap xamau as3oxou 6ucépas3o 3apokyHanoau ymymi (aoaoi é
Eenl| xapgii) dowma 6owiad, un 3apoKyHaHOApo a3 Kaec 6apoeapoan MyMKUH
acm.

Jlap doxuau Kasecxo bucépas3oe memoHad, Ku oH dap Hamuyau
bucépas3zou dodautydapo 6a ux 3apOKyHanoau yMymid makcum Kapoau
xocua wiyoaacm.

Macwanan 2. bucépab3ou:

6ab +3b— 12bc -po 6a 3apOKyHaHIaXx0 Yya0 HaMOe/.

A Xamau ab30X0M MH Ouceépab3o 3apOKyHaHAau yMymuu 3b -po
nopaHa, YyHKUA 6ab=3b-2a, 3b=3b-1, —12bc=3b- (4c).

Ilac, 6ab +3b— 12bc=3b(2a+ 1 —4c). A

BobGacra 0a 1apouTtu MyaiisiH 3apOKyHaHIau YMyMUPO a3 KaBCXO XaM
00 ajloMaTu «+» , Ba XaM 00 aJloMaTH «—» OapoBapIaH MyMKHUH acT.

1) ab-—b=b(a-1)=-b(1 - a);
2) 4a’b’ - 64’ =2a** (2b- 3a) yoki
4a’b® — 6a°0* =—2a*h* (-2b + 3a) =—2a’b* (3a - 2b).

1 bapou 6a poxu a3z Kasecxo 6apoeapdanu 3apoKyHanoau ymymii 6a
58| 3apbrynandaxo yyodo kapdanu bucéapas3o:

1) un 3apobKynanoau ymymupo égpman;

2) 0HpO a3 Kascxo 6aposapoaH A03um acm.

Kaiin mMeHamoeMm, ku arap Ko3¢p@dUCHUEHTXOM ab30XOM Ouceépanb3o
ajaaxou HaTtypaad OowuaHna, Oapou €dTaHu 3apOKyHaHAAWM YMYMH
KaJJOHTapUH TaKCUMKYHaHIau YMYMUM KO3((DUCUEHTXOU ab30X0pO
édraH, a3 OailiHM mapayaxoud acocxOsIlIOH Oapobap Ooluan, Japayau
HUILIOHAMXAHJAall XypATapuHpO TUpu@TaH 3apyp acrT.

Macanan, oucépanzon 28x’b* —21x°H* -po 0a 3apOKyHaHIAXO YyIdo0
Kapjaa, XOCUJI MEKYHEM:

70 (4b— 3Xx).
Hap uH 4o 7 XypATapuH TaKCMMKYHaHJIau yMyMMU aaaaxou 28 Ba 21, x?
Ba b’ Oomaz, Japayaxou x Ba b 60 HUILIOHIMXAHIAXOU XypATapyH MeOOIIaH I,
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Hypyctumn 6a 6ucepab3o 4yyao KapJaHu OMcEpab3opo 0a poxu 3apou
OMCEpab30X0M XOCWIIIYIa CaHYMAaH MyMKMH acT. MacaiaH, amaiu 3apopo
UYpO HaMyJa, XOCUJI MEKYHEM:

TxX2b*(4b — 3x) = 28x20° — 21°D°.

3apOKyHaHaau yMyMH OMCEpab30 HU3 1Iya METaBOHAJ, MacajaH:

1) 5(a+b) +x(a+b)=(a+ b)(5+x);

2) 3x(a—2b) + 5y(a—2b) +2(a—2b) =(a—-2b)(3x+ 5y +2).

bab3an memr a3 3apOKyHaHIaM yMyMHpPO a3 KaBCXO OapoBapiaH
b6apobapum a— b=— (b— a) -po TaTOMK KapaaH KyjJail acT, MacajaH:

) (a-3)x- G -a)y=(a-3)xt(a-3)y=(a-3)(xty);

2) 15a*b(x* — y) — 20ab*(x* — y)+25ab(y — x?) = 15a’°b(x* — y) —
—20ab’(x* - y) — 25ab(x* - y) = Sab(x* — y)(3a— 4b-5).

MamkXxo

330. Anmanxom 70, 121, 240, 168, 225-po 6a 3apOKyHaHIaX0M COIA YYI0

KYHE[L.
o 45 187515 40-14
- Kacpxopo nxticop Hamoen: >~ —=—5 ——=-

332. KOoHYHU TaKCMMOTH 3apOpo TaTOUK HaMmyda, XMcOO HaMOe/:

1) 81-17-15-81; 3) 15-17+15-67,

2) 24.2,78+41.2,78; 4) 1421421
333. Xocuum 3ap0Oxou 3epuHpPO 0a HaMyIu OMCEpPab30 HABUCE:
1) (a+2) (a+3); 3) 3¢’ (2¢'-5);

2) 2x(x-1); 4) (a*+b) (a-0).

334. A3 nyHKtM A 6a nNyHKTM B Kauku MoTopaop 00 cypabTu
20 kMm/coaT paBoHa 1uya. babau oy coaTt a3 macu oH a3 A 6a cyu
B xauku motopnopu aurap 60 cypbaTu 24 KMm/coaT paBoH 1uya. Xap
Iy Kauk Jap sk BakT 0a NMyHKTM B omanga pacupaHa. Macodau
OaiiHu NMyHKTXoM A Ba B -po €ben;:

335. Xucob KyHen:

1) 13-512+13-488,; 3) 25-734-25-726;
1 1
2) 125-375+275-375; 4) 26-15—15-23.
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3apOKyHaHIau yMyMUpO a3 KaBcxo O6apopen (336—344):

336.1) 2m+2n; 2) 3a-3x; 3) 8-4x; 4) 6a+12.
337. 1) 9a+12b+3; 3) -10x+15y -5z

2) 8a—-4b-2; 4) 9x-3y+12z
338. 1) ax—ay;, 2) cd+bc; 3) xy+2x; 4) 3x-xy.

339. 1) 9mn+9n; | 2)3bd —3ab; | 3) 11z-33yz; | 4) 6pk-3p.

340. 1) ab—ac+ad’; 3) 6a’*-3a+12ba;
2) xy-x’+xz; 4) 4b* +8ab-12a’b.
341. 1) a* +2d%; 3) a*b’ +ab’;
2) 4*—3d’; 4) X2y —xy?,
342. 1) 18y” +12y*; 3) 15x° -5x%;
2) 6x*—-24x7%; 4) 64° +34>.
343. 1) 9a’b* —12ab’; 3) 7a’bc +14ab’c;
2) 20x’y* +4x’y; 4) 9xyz* —12xy°z.
344. 1) 6y° +12y* -3y°; 3) 4a’b* +36a’b’ +6ab’;
2) 20a* -5a° +15a°; 4) 2x*y* —2x*yr +6x°y°.
345. Xucob KyHen:
1)1372 +137-63; 3) 0,7°+0,7-9,51;
2) 187> -187-87; 4) 0,9°-0,81-2,9.

ba 3apokyHangaxo uyyno kyHen (346—349):

346. 1) a(m+n)+b(m+n); 3) a(b-5)-(b-5);
2) b(a+5)-c(a+5); 4) (y=3)+b(y-3).

347. 1) 2a(a-b)+3b(a-b); 3) Sa(x+y)-4b(x+y);
2) 3n(m-3)+5m(m-3); 4) Ta(c-d)-2b(c-d).
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348.

349.

350.

351.

352.

353.

354*.
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1) a®(x—y)+b6%(x— y); 3) alx?+y2)=b(x +)?);
2) a*(x+y)—b(x+y); 4) x(a2—2b2)+y(a2—2b2).
1) 2b(x—-1)-3a(x-1)+c(x-1);

2) c(p-q)-a(p-q)+d(p-4);

3) x(&*+b*)+y(a’+b*)—z(a® +b);

4) m(x*+1)—n(x*+1)-1(x* +1).

ba 3apokyHanmaxo yyao kyHen (350—352):

1) c(a=b)+b(b-a); 3) (x—y)+b(y-x);
2)a(b-c)-c(c-b); 4) 2b(x-y)-(y-x).
1) 7(y-3)-a(3-y); 3) b*(a-1)-c(1-a);
2) 6(a-2)+a(2-a); 4) @ (m-2)+b(2-m).
1) a(b—c)+b*(b—c)-7(c-b);

2) x(x-y)+y(y-x)-3(x-y);

Myoaunapo xaja KyHe.:
1) 8—(x-3) (x+3)=10—(x-1); 3) x:15=2%  14,5;
) ) x 2,1
2) 2x+1) - (2x-3) =4(7x-5); 4) 53 6
s 9_
7

Car a3 nacu pyoox menaBua. Car gap sIK coHus1 8§ M, pyoox Ooia,
6 M menaBua. Macodgau aBBajian 6aiitHuM oHxo 360 M Oyma, pyoox
TO JioHaam 1 KM JaBupgaHail jo3uM Oya. O€ py0ox TO JioHaalll
pacuga MeTaBoHan?



§ 20. | Tapsu zypyxbanou
/

Tap3u rypyxoanaupo 6a 6ucépab3oxoe TaTOMK MEHAMOSIHI, KU OHXO
Oapou xamau ab30X0U OMcEpab3o 3apOKyHaHAau YMyMH HaJopaHI,.

bab3aH, sgk4yaHI ab30X0M OMCEpPAb30M J0oAaIIyaapo 0a KaBCXO JOXUJI
Kapaa, 3apOKyHaHIad yMyMHUpPO Naijgo KapaaH MyMKUH acT. Tap3u
rypyxoanam 06a TaTOMKM KOHYHXOM TypyxOaHAW, YOMMBA3KyHH Ba
TaKCMMOTHM 3ap0 aCOCHOK Kapja I11yaacT.

Mucoaxo MeopeM:

1) alb+c)+b+c=alb+c)+(b+c)=(b+c)(a+1);

2) a(b—c)-b+c=a(b—c)—(b-c)=(b-c) (a-1).

Jlap MHCOJIU SIKYM Ty @b30M OXUPUHPO, 00 aloMaTH «+» , 1ap MUACOIN
JIytOM Oollaj1, 1y ab30M OXUPUHPO 00 ajloMaTu «—» 0a KABCXO JOXWJI KapaaH
KOs 1y,

3) m(3x—y)+3nx—-ny=m(3x—y)+(3nx—ny)=
=m(3x-y)+n(3x-y)=3x-y) (m+n);
4y —mx’ —my’ +n (x> +y*)=(-mx’ —my* )+ n(x* +y*) =
=—m (x2 +y2)+n(x2 +y2):(x2 +y2) (n—m).

Jlap MMCOJIXOM CEIOM Ba 4OpyM, Falip a3 sikab3oM OHMCEpab30po Oa
KaBCXO JOXWJ KapjaH, Jap Xap SK Typyxu mnaigoinynaa 3apOKyHaHaau
YMYMH a3 KaBcXo OapoBapia IIyja: [1ap XOJaTh SIKyM 00 ajoMaTuh «+» ,
Jap XoJaTh AyloM Oouram 00 aJoMaTh «— ».

bab3aHn rypyx0aHIuM ab30xoum OUCEpPAB30pPO 00 POXXOU TYHOTYH
ry3apoHMaaH MyMKUH acT. MacanaH, 0a 3apOKyHaHIaxo 4yao KapaaHUu

oucépabzon 2am+ 2an —3bm —3bn -po 60 1y Tap3 MYPO KapaaH MYMKUH
acT:

Ycynu 1 Ycynu 11
2am+2an—3bm—3bn = 2am+2an—3bm—3bn =
=(2am+2an)— (3bm+3bn) = =Qam-3bm)+ (2an-3bn) =
=2a(m+n)-3b(m+n)= =mQa-3b)+nQa-3b)=
=(m+n)(2a-3b). =Q2a-3b)(m+n).
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Muconu 6a oy ab30 Yyao KapaaHu OMCcEpab30€epo MyOMHA MEHAMOEM,
KM a3 11all ab30o uoopar acr:

ax+bx—ay—-by+az+bz=(ax+bx)—(ay+by)+(az+bz)=
=x(a+b)—y(a+b)+z(a+b)=(a+b)(x-y+7).

Jlap uH 40 ab30X0M OMCEpab30rd AYTOrA Oa rypyxxo 4yymo Kapaa
LIyJaaHd; OHXOPO CETOr’ 0a rypyxxo 4yao KapjJaH MyMKUH Oy:

ax+bx—ay-by+az+bz=(ax—ay+az)+(bx—by+bz)=
=a(x-y+2)+b(x-y+2)=(a+b)(x-y+7).

bapou 6ucépaszopo 6a map3u 2ypyxoanoii 6a 3apokynanoaxo yyoo
KapoaH:

1) as3ox0u bucépas3zoxopo, Ku 3apOKyHaHOaxou skxeaa 00pawo,
ba 2ypyxxo mymmaxuo HamyoaH 103UM acm,

2) 3apoKynandau ymymuu dap Kaecxo 0yoapo a3 Kasecxo baposapoan
dapkop acm.

T
(0 =)
e

MamkKxo

ba 3apokyHangaxo yyno Hamoen (355—360):

355. 1) a+b+c(a+b); 3) x+3a(x+y)+y,
2) m—n+ p(m-n); 4) x+2a(x-y)-y.
356. 1) (x+y)+(x+y)* 3) 2m(m—n)+(m—n)2;
2) (a-b) +a-b; 4 4q(p-1)+(p-1).
357. 1) 2m(m—n)+m-—n; 3) 2m(m—n)—n+m;
2) 49(p-1)+p-1; 4) 4q(p-1)+1-p.
358. 1) a(x—c)+bc—bx; 3) 3a(2b+c)+8b+4c;
2) a(b+c)+db+dc; 4) 2x(3x—4y)-6x+38y.
359. 1) ac+bc—-2ad-2bd, 3) 2bx—3ay—6by + ax;
2) ac-3bd +ad -3bc; 4) Say —3bx+ax—15by.

360. 1) xp* —by’ —ax+ab+y*—a; | 2) ax* —ay—bx* +cy+ by — x>
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361. Xucob KyHen:
1) 139-15+18-139+15-261+18-261;
2) 125-48-31-82-31-43+125-83;

3) 14,7-13-2-14,7+13-5,3-2-5,3;
g 3Lali40231 08,982
3 5 3 3 5 3
362. Kumatu aganuu udoaapo €oen:
1) 5a*> -5ax-T7a+7x, nap uH 4o x =-3,a=4;
2) m*—mn-3m+3n, nap ua 4o m=0,5, n=0,25;

3) a’*+ab-5a-5b, nap un 4o a=6,6,b=0,4;
7
4) a*—ab-2a+2b, nap wH 40 a=%,b:0,15.

363. Xucob KyHen:

1) 287> -287-48+239.713;
364. Myoaunapo xaja HaMOeI;

1) x(x-4)+x-4=0; 2) t(t+7)-4r-28=0.

ae 7

+73,4-17,2-90,6-63,4.

Maccau Aani 6a Baaii dap akyosed 6a maccau 5 dona mapbys
bapobap acm. Maccau Baali a3 maccau sk dona xapbyza 4 6a-
pobap 3uéomap acm. Maccau 2 dona xapbyza ea Baali 6a
maccau 3 dona mapbys 6apobap acm. Maccau Anri 6a uano
dona xapbyza bapobap 6yoaacm?

Hap acapxou mMaTeMaTUKMU MyTadakKupu Oy3ypr — AOVaim MOHU
CuHO, K1 Jap acpxou MUEHaA MagaHuATU Xajlkxou Ocueéu MwueéHapo 6a
cadu MmelM MaJgaHUATU YaXOHHW OapoBapaaacT, aMajJxou 0a KBaapaT Ba
Ky0 OapioluTaHu agad Aujia MellaBa.

KBanmpatu cymman agamxopo MyormHa MeHamoeM (a + b)2. A3 Konman
3apbu 6uceépab3ori 6a ouceépab3ori ucTUdoaa Kapaa, XOCUJI MEHAMOEM:
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Abyaait uobnu Cuno (980—1037) —
Mmamemamuku 0y3ype, XamMmexaHu Mmo.

(a+b) =(a+b) (a+b)=a’+ab+ab+b* =a* +2ab+ 1,

SIbHE

(a+b) =a*+2ab+b* . (1)

Keaopamu cymmau dy adad — b6a keadpamu adaou aKym, yamsu
xocuau 3apou oyuanoau aoaoxou sKym ea 0yom, yamsu Keaopamu
adadu dyrom bapobap acm.

Kaiin MeHaMoeM, K1 MacoxaTH KBaJpaTH Aap pacMu 13 TacBupIiyaapo
MyourHa Kapna, ¢opmyinau (1)-po 6a OCOHT XOCHJI KapJaH MyMKHH acT.
AKHYH KBazgpaT (hapKu Ay agaapo MyoMHa MeHaMOEM:

(a-b) =(a-b)(a-b)=a*—ab-ab+b* = a* —2ab + b7,

SITbHE

(a-b) =a*-2ab+b*. )

1) Keaopamu gapku dy adaod 6a keao- S @ ab
BEd| pamu adadu AKyM, mapxu XoCuiu 3ap-
b6u dyuanoau adaoxou SAKYM e6a OYVIOM,

yamsu Keadpamu adaou oyrwm 6apobap
b b2
acm. ab

Hap 6apobapuxou (1) Ba (2) a Ba b aganxo €
ndogaxoun ajaredpaBum JUIXOX. a b
Mucomaxou Tatouku ¢popmyiaxou (1) Ba (2):

Pacmu 13.
110



1) 2m+3k) =2m) +2-2m-3k+(3k) = 4m* +12mk +9k?;
2) (5a>-3) =(5a*) -2-5a%-3+3* =25a* -30a’ +9;
3) (—a-3b) =((-1) (a+3b)) =(-1) (a+3b)’ =

=(a+3b) =a*+2a-3b+(3b)' = a* +6ab+9h.

Xucobbapopuxou 3apypupo mmndoxy nYpo Kapaa, HaTuyau MooaiiHN-
PO HaBUILITAaH MYMKHH acT:

(5a> ~707)" =25a* ~70a°H” + 495",

dopMmynaxou KBaapaTu cymMma € apkpo gopmysaxou 3apou myxma-
cap MEHOMaHJ Ba jgap Oab3e MaBpUIXO Oapoum coama KapAaHH
xucobbapopuxo uctudoaa MedapaHa. MacaiaH:

1) 99° =(10O—1)2 =10000-200+1=9801;
2) 527 :(50+2)2 =2500+200+4=2704.

®opmynan (1) xanromu xucobu takpubum kumatu udogau (1 + a)?
HU3 uctudoaa Meuasaa. Arap agagd a Mycoar € MmaHH Oyga, MOLYJIU
OH HMcOart 6a 1 xyparap 6owian, (MacanaH, a=0,0032 € a=-0,0021), nap
OH X0JIaT ajaau a*> 003 xaM XypATap MelllaBajl Ba a3 MH cabad bapobdapun

(1+a)?=1+2a+a
-po 60 kuMaTu Takpudn (1+a)’*~1+2a nBa3 KapJaH MyMKHH acT.
1) (1,002)>=(1 +0,002)>=~ 1+ 2-0,002=1,004;
2) (0,997)*=(1- 0,003)>~1-2-0,003=0,994.

dopMmynaxou KBaapaTh cyMMa Ba KBaapaTu ¢papkK XaHTOMM TaKCUM
KapaaHu Oucéapb3oxo 0a 3apOKyHaHAaxo HU3 McTUdoOIa MellaBaj.
Macanah:

1) x> +10x+25=x>+2-5-x+5 = (x+5);
2) @' —8a*h’ +160° = (a*) —2-a>-4b> +(4b*) = (a* - 4b°) .
Macwana. ®opmynapo UCOOT KyHEI:

(a+b) =a +3a’b+3ab’ + b’ ©)
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A (a+b)3 =(a+b) (a+b)2 =(a+b) (a2+2ab+b2):

=a’+2a’b+ab? +a*b+2ab* + b’ =a® +3a*b+3ab* + b*. A

dopmyan

(a-b) =d* -3a’b+3ab® — b’ 4

-PO HU3 XaMHWH TaBp UcoOoT KapaaH MyYMKHMH acCT.

(1)

~®

365.

366.

367.

368.

369.

370.

112

Dopmynaxou (3) 6éa (4) opmynraxou kyou cymma ea kKyou ghapk
HU3 HOMUOa Mewaesad.
Dopmynaxou (3) ea (4) xam copmynaxou 3apou myxmacap o6a xucoo
Mepasamo.
MamkXxo

Jap Malmkxou MOEHN KBagpaTu a1yab30oripo gap HaMydu Oucépab-
301" TacBup KyHen (365—372):

1) (c+d)2; 3) (2+x)2; 5) (y+3)2;

2) (x-y); 4) (x+1); 6) (7+m).

1) (m=-2); 3) (T-m)’; 5) (a+§);

) (-3 4 (r-6) o (b+3)-

D (g+2p)5 | 2) Bx+2y)'5 | 3) (6a-4b)'; | 4) (5z-1).

D@ +1)s | 2 (@2+1); | 3) (27 +302) 5 | 4) (¢ +y7)
1Y Y a bY 1

T AR R AR

) 2, 3Y)
1) (0,2x+0,3y); 3) (EX —Z];
2) (0,4b-0,5¢)'; 4) Gf—%).



371.

372.

373.

374.

375.

376.

377.

378.

379.

2
1 2
1) (Ea3+§a) ; 3) (—8p3+5p2)2;

2
2) [ X +;x]; 4) (10x> -3 .
1) (~4ab-5a>) ; 3) (0,2%7 +5xy) ;
2) (367 -2ab) ; 4) (4xy +0,5y7) .

A3 popMmynaxou 3apobu Myxtacap uctudoga oypaa, aMmaaxopo nypo
kyHen (373—375):

1) (90-1)*; 2) (40+1Y; 3) 1013 4) 982
1) 999°; 2) 1003%; 3) 51% 4) 39

1) 72% 2) 57% 3) 997, 4) 1001%
HMdonapo conna kynen (376—377):

1) (x—y)2+(x+y)2; 3) (2a ) —(2a—b)2;

2) (x+y) —(x-y); 4) (2a+bY + (2a-b)’.

1) Ba-1)Y+2(1+a)’; 3) (x—1) = (x+1)’;

2) 3(2-a) +4(a-5); 4 —(3+x) +5(1-x)".
Myonunaxopo xai kyHen (378—379):

1) 16x> - (4x-5) =15; 3) —5x(x-3)+5(x—1) =-20;
2) 64x>—(3-8x) =87; 4) (2x-3) -(2x+3)’ =12.

1) 3x-1) -(3x-2) =0;

2) (y-2) (r+3)-(y-2) =5;
3) (x+3) (x+7)—(x+4)2=0;
4) (y+8)2—(y+9) (y-35)=117.

.. 8 — Aure6pa, cundu 7 113



380. Kumatu udonapo €oen:

381*.

382.

383.

384.

385.
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1
3 2 :_1_.
1) 9¢°’ —a(3a+2) +4a(3a+7), nap un 4o 4@ <

2) (2y—5)2 —4 (y—3)2 —4y, nap WH 4o y :—%;

3) 25m(m—1)—(5m—3)" —6m, nap uu 4o m=-0,3;

4) 24x* —(7x —2)2 +(5x-3)(5x+1), nap un yo x = —g :
X -po 62 UYHUH AKab30 MBa3 KyHel, K1 6apo6api LypycT LIaBa;
1) (x—-4b7) =25a'b* —40a°b" +16b";

2) (x+7c) =25b° +70b° +49¢?;

3) (10m° +x)" =100m" +120m’n* + 36m*n’;

4) (56> -x) =25b* ~30a%° +9a*b>.

Mdonapo nap HaMyau KBaapaTu Ayab30rd HaBUCE/!

1) a*-10ab+25b%; 3) k*+2Kk* +1;

2) 25+10x+x?; 4) p*-1,6p+0,64.

X -po 0a YyHMH SIKab30 MBa3 KyHell, KU KBaapaTu Ayab30THd XOCUJI
maBan; (383—384):

1) a*+4a+x; 3) 364’ —x+49b%;

2) p*-0,5p+x; 4) a* —6ab+x.

) m*-3m’ +x; 3) 4a* -5a+x;

2) a’+ab+x; 4) x+6a+9a’.

Hcbort kyHen:

D (a=b) =(b-a)’; 4) (a=b) =-(b-a)’;

2) (~a-b) =(b+a); 5) (a+b) =d* +3a*b+3ab® +b’;

3) (~a-b) (a+b)=—(a+b)’; | 6) (a—b) =d’-3a*b+3ab’ - b’



Cymman aganxopo 60 papky oHX0 3ap0 MEHAMOEM:
(a+b)(a-b)=a’—ab+ab-b>=a’ - b,

SIbHE,

(a+b)(a-b)=a’-b". 1)

a—b=(a-b)(a+b). Q)

Xocuau 3apbu cymmau 0y aodad éa gapku oHxo b6a gapku

(1)
C Keaopamxou XamuHr adaoxo 6apobap acm

Hap 6apobapuu (1) Ba (2) a, b amanxo € udomaxou anredpaBuu
nwixoxaH. MacajaH:

1) (nm+3k)(nm-3k)=n’m* -9k?;
2)4a*b* —25a°b* = (2a2b+5ab2)(2a2b —5ab? );
3) (a+b) —16=(a+b-4)(a+b+4).

e
4 A
(
{

([ ®opmynau (1) -po HU3 opmyrau 3apou myxmacap MEHOMAH]I

Ba 0apou cojja KapJaHu Xucoobapopuxo uctudoaa MedapaH/.

N

Macanan:
1)63-57:(60+3)(60—3):3 600-9=3591;

2)98-102 = (100-2)(100+2) = 100> =2* = 10000 — 4 = 9 996.

e

®opmynau (2)-po gopmyaau papku keadpamxo meHoMana. OH
XaHTOMM YyJ0 KapJaHu Oucéapab3ornuxo 0a 3apOKyHaHAaxo MCTH-
(ona memaan.

Macanan:
a*-9=(a-3) (a+3);

2)4b* ~0,64¢> = (267) —(0,8¢)’ = (26* - 0,8¢) (267 +0,8¢);
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3) (a—b)z—lz(a—b—l) (a-b+1);
4) (a+b)2—(a—c)2 =(a+b-a+c)(a+b+a-c)=
=(b+c)(2a+b-c).

A3 ¢popmynau (1) uctucdona 6ypaa, 3apopo nypo kyHen (386—394):

386. 1) (c+d)(c—d); 4) (m—n)(m+n);

2) (p+q)(P-9); 5) (a=b)(-a-b);

3) (a+c)(c—a); 6) (2—m)(-2-m)
387. 1) (x+5)(x-95); 4) (7T+x)(x-7);

2) (a+3)(a-3); 5) (I+a)(1-a);

3) (a-4)(4+a); 6) (b—1)(1+0b)
388. 1) (2b+a)(2b-a); 3) (y+6x)(6x-y);

2) (c+3d)(c-3d); 4) (3m—2n)(2n+3m)
389. 1) (4d—% (%+4d); 3) (%y—%x (%y%x),

5 »l b 5 2 3 2 3

2) (ga— ( +ga), 4) (§m+zn](§m—zn).
390. 1) (¢ +d*)(* ~d?); 3) (x*=»7) (7 +x");

2) (a2 +0°)(a*-b) 4 (m*—n')(m’+n)
391. 1) (3a° +4b°)(3a* - 40°) ; 3) (0,277 +0,5p%)(0,5p* -0,2¢° ) ;

4) (1,242 =0,35?)(1,24” +0,35?)..
1 1
392. 1) (iaz—%ﬁ)(%bu%az); 3) (0,5q+§p2)(0,5q—§p2);

4
2 4 4 5 2 4 4 5 2 3 3 2
a4 Zxt 42 ; 1,5¢-=b || =b+1,5 )
G G ARG Uty
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393.1) (3x’y—4xy”)(3x’y +4xy?); | 3) (Tab+x’y*)(Tab-x"y*);
2) (5ab® +2a’b)(5ab* -2a’b); 4) (ab’ - 4xy)(ab’ +4xp).

394. 1) (3+x)(3—x)(9+x2); 3) (4x2+y2)(2x+y)(2x—y);
2) (¥*+1)(x+1)(x-1); 4y (3a-2b)(3a+2b)(9a" +4b*).

A3 (opmynaxou 3apobu myxrtacap uctudopa Oypaa, XMcod KyHend
(395—396):

395. 1) 48-52; 2) 68-72; 3) 43.37,; 4) 47.53.
396. 1) 47-33; 2) 44.36; 3) 84.76; 4) 201-199.
397. Conpa KyHen:

) (=3 =(c+3)(3-c);

2) (a+2) -(a+2)(2-a);

3) (2x+3y)(2x—3y)+(2x+3y)2;

4) (3a—4b)(3a+4b)—(3a—4b)’;

5) (-b—a)(a+b)+a’ +b’;

6) (b—a)(-a—b)+2b".
398. Kumatu udonapo €oen:

1) 4m—(m+3)2+(m—3)(m+3), Jap iH 4o m=-2.4;

2) (3x+4)2—10x—(x—4)(4+x), nap uH 4yo x =-0,1;

3) 2(k=7)(k+5)=(k=5) ~(k=7)(T+k), nap it 0 k=~ :

4) (a+3)2+(a—3)(3+a)—2(a+2)(a—4), Jap MH 40 az—%.
399. Myonunapo xaja KyHes:
1) (2x+3) —4(x—1)(x+1)=49;

2) (3x+4) —(3x—1)(1+3x)=49;
17



3) (3x+2)(3x-2)-(3x-4) =28;

4) (3x+1) —(3x=2)(2+3x)=17.

400. 1y Tapadu MyKOOMJIM KBaapaTpo 8 cM 3uUé, Baje ay Tapadu aurap-
po Oollian xaMyMH Kanap KaMm KapaaHia. Macoxatu ¢urypa 4i Kagap
Tariup edt?

5*.0,128-5-0,628-5

401. Xuco0 el
Ancob kyten 125.0.25

" Tamo6uxu axuand map3xou 6a 3apoKynanoaxo 4yoo
/ lcapaauu oucépasso

XaHroMmu 0a 3apOKyHaHIaxo 4yIo KapaaHu Oucépab3o Oab3aH Ha SIK,
0ajKy sIKYaH[ Tap3Xo ucTudona MelaBai.
1) Bucépabp3orum a*—a -po 6a 3apOKyHaHIAX0 YyI0 HAMOE/I;

A d-a=a(a’-1)=a(a-1) (a+1). A

Hap uH 4yo nay Tap3 uctudoaa ILIygaacT: a3 KaBcXo OapoBapaaHU
3apOKyHaHIau YMyMH Ba TaTOMKKU (opMyian KBaapaTXo.
2) bucépaniou (a’+1) —4a* -po 6a 3apOKyHaHAAXO YYAO0 HAMOE/;

A (02 +1)2 —4a° = ((a2 +1)—2a)((a2 +1)+2a):
:(a2 +1—2a)(a2 +1+2a):(a2 —2a+1)(a2 +2a+1):

=(a-1)(a+1) . A

Hap uH 4o aBBan ¢opmyian (apku KBaapaTxo uUcTAdoma IIyaaacT,
YYHKN OMCEpab30X0 3apOKyHaHAau YMyMH HamoluTaHd; 0aba (hopMyIaxon
KBaJpaTi cyMMa Ba (hapk, TaTOMK, 1IyJaaH/I.

3) 4x? -y +4x+2y =(4x’ -y} )+ (4x+2y)=
=2x-y)2x+y)+2 (2x+y)=(2x+y)(2x-y +2).

A30acky gKab30x0 3apOKyHaHIauW YMYMHU HajopaHH Ba SroH ¢opmysia-
po TaTOMK KapJaH FalipMUMKOH acT, OMHOOAp MH aBBaJl Tap3u TypyX-
Ooanam uctudoga Kapaa MeliaBan Ba 0aba popMynan gapku KBaapaTxo
TaTOMK, Kapia MellaBaj.
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O Myounau un MuUcoaxo HUWOH Meduxad, Ku Xaneomu uypou
E5d| cynopuwomu oudu 6a 3apéKynanoaxo 4yoo Kapoanu 6Ucépas3oxo

mapmubu 3epunpo puosi KapoaH Kyaai acm:

1) a3 kaecxo bapoeapdanu 3apoKyHanoau ymymii (aecap on masyyo
bowaod);

2) a3 pyuu gopmyaaxou 3apbu myxmacap b6a 3apoKyHandaxo 4yoo
Kapoauu 6ucépas3opo 03myo0aH,

3) 6a mambuxku map3u 2ypyx6auoi (aeap mapsxou neuiuna 6a
Makcao Haosapoa bouiano) Kyuiuul KapoaH.

Macwnana. bapodbapupo ncooT KyHen:

@’ +b’=(a+b)(a’ —ab+b*). (1)

A Kascxou Tapadu pocTu 6apodapupo MEKYILIOeM:
(a+b)(a’—ab+b*)=a’-a’b+ab’ +a’b—ab’ +b’ =a’ +b’.

MabayM 1ya, Ku Tapagu pocTy Mmyonuia 6a tTapadu yan 6apodap Oymaacr,
sbHe 6apodapuu (1) ucoor mya. A
AJHaH XaMUH XeJ1 IypyCcTUu 6apodapum

@’ -b’=(a-b) (¢’ +ab+b’) Q)

KUCOOT 1y,

@ bapobapuxou (1) Ba (2), MyBo(prKaH popMyIaxorm CyMMan Kyoxo
Ba (dapku Kyoxo HomMiaa MmelnaBaa. MH opmysiaxo HU3 XaHTOMU
Yyao0 KapaaHu ouceépab3o 0a 3apOKyHaHIax0 UCTUdOIa MellIaBajl.

Macanan:
D27+b6 =(3+b) (9-3b+1%);

2)x* —8xy’ =x(x* =8y ) =x(x-2y) (x> +2xy +4y*).

Mamkxo
402. XI/ICO6KYH@I[: 5 R _ N N N B B N B B N |
1) 472 -37% 2) 547 —44%;
3) 50,7° -50,6%; 4) 29,4*-29,3’,
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403

. (IIncdoxn.) ba 3apbkyHaHIaX0 YyaA0 KyHEN:

1) 36-x7%; 2) a*-25; 3) y*-1; 4) 1-b°.

404. (IIudoxu.) Udboaapo nap LIaKJIu KBaapaTu OUCEpab30rd HABUCEI:

405

406.

407.

408.

409.
410.

411.

412.

413.

414.

1002%: 0,015°; %mznz; 0,25x° 1%)&; x*yS,

ba 3apO6kyHanmaxo yyno kyHen (405—416):

120

~16b°.

-9b°.

l.

C1) 25x2-9; | 2)4a>-9; | 3) 64> -36x%; | 4) 8142
) d*=9; | 2) @b -16; | 3)4a®-9b%; | 4) 16x> —25)°.
1 5 16 5, 2 40p2-
D ¥ =X 3) 0,254% —49b%;
4 5 1,5
—a ——b: 2 2
2) 961 T 4) 0,09x" -16y~.
1) 36x%y> —1; | 2) x*y*—16; | 3) 81a®-49p%; | 4) 254
1) a* -b*; 2) a* -b% 3) a*-16; 4) b* -8
) (a+b) - 3) (a+2b) -9d%;
2) (m—n)z—kz; 4) (3x—y)2—4y2.
1) (a+b) —(a-c)'; 3) (2a+b) —(2b+a)’;
2) (a+b) —(b+c); 4) (a-3b) —(3a+b) .
1) 9a> —6a+1; 3) 36> +12b+1;
2) 1+2c+c%; 4) 81-18x+x’.
1) 9x* +24x+16; 3) 36m’ +12mn+n’;
2) 100-60a+9a*; 4) a* +10ab+25b".
1) x*+2x’y+y7%; 3) 4c* +12c%0° +95°;
2) p'-2p'q+¢q’; 4) 25a° +30a’bh +9b°.



415. 1) a*-8a* +16; 3) 25a* —10ab + b*;

2) b'-18b*+81; 4) 16-8a*h* +a'b*.
416. 1) —a®> -2a-1; 3) —2a* +8ab-8b°;
2) —9+6b-b; 4) —12ab-3a* -12b".

417. Kumatu agaauu udomapo €oen:

1) 5m* —10mn+5n*, nap ud 4o m =142, n=42;
2) 6m’ +12mn+6n*, nap uH 90 m=>56, n=44;

1
3) —36a3+4azb—§ab2, map uH4o a=4, b =48;

1
4) —64a3—8a2b—zab2, Jap uH 4o g =—6, b = 84.

418. Myoauiapo xaa KyHen:

1) x*-36=0; 3) 4x* +4x+1=0;
1
2) Z—x2=0; 4) 25-10x+x*=0.

419. Xucob KyHen:

487 +2.48.18+18

1) 101> =202-81+81%; 3)

48° -18°
2) 37 112637 +63%; PR el LA
85°+2-85-17+17
420%*. Ceab3oruu gap 4you HyKTa YOUTHUPIIYIApO MYyailssH KyHeI, KU Oa-
pobapy MYpo 1IaBa;
) X+y =(x+y)(...); 3) X =y =(x-y)(.);
2) (x+y) =(x+y) (...); 4 (x-y) =(x=»)(...).
421. ba 3apOKyHaHIax0 YyJd0 KyHe.:
H x’ -y’ 3) x°+27; 5) ' —64; 7) 1-p
2) ¢ +d’; 4y @’ =27, 6) @ +1; 8) 125-b°.

ba 3apOkyHaHaaxo yyno kyHen (422—424):

b

422. 1) 27Tm* —8; | 2) 64—125y%; | 3) 125+%b3; 4y 64y° +

1
27
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423.

424.

425.

426. 1

427.

428.

429.

122

1) 84° +1; 3) Lc13+64b6;
’ 27
2) 14275 4)%a6+125b3.

1) &b 2) a®-b°; 3) x*-729; 4) 64-y°.

A3 popMmynnaxou 3apou myxtacap uctudoaa oypaa, 1ap 1akjiu ayab-
3oru HaBucen (425—426):

1) (z+5) (2 -52+25); 3) (2x+3y) (4x7 —6xy +9y?);
2) (y+2) (¥*-2y+4); 4) (4c-5d) (16¢* +20cd +25d° ).
) (1042 ~1)(100a* + 102> +1);
2) (a’b* -5a) (a*b* +5a°h* +254°);

1 1 5, 1 2
3) |zm-n||—cm +_mn+n
5 25 5

o [Le Ly (Lol
) 373X T )

ba 3ap6KyHaHz[axo Yya0 KyHEI:

1) (84’ -27b")-2a(4a’ -9b); 3) (¢ +b°)+(a+b);
2) (64a’ +125b°)+5b(16a* —25b%);  4) (a*-b*)+(a-b) .
Xuco0 KyHen:

1l 258° —147° . %) 17,982—17,98-32,02+32,022_

258% +258-147 +147%° 17,98 +32,02°

Kumatu ndponapo €oen:
1) (x+2) (x* =2x+4)-x(x—-3) (x+3), nap n1 4o x=2;

2) (2x-1) (4x2+2x+1)—4x(2x2—3), gap uH yo x =0,5;

3) (4x+1)(16x2—4x+1)—16x(4x2—5) Jap UH 4O X =

4) x(x+2) (x-2)=(x-3) (x’+3x+9), nap un yo x=



430. Myomuiapo xaa KyHen:
D) (x+2) (x> —2x+4)-x(x-3) (x+3)=26;
2) (x=3) (x> +3x+9)-x(x+4) (x-4)=21;
3) (2x—1) (4x* +2x+1)-4x(2x* -3)=23;
4) (4x+1) (16x* —4x+1)—16x (4x* -5)=17.

ba 3apbkyHannaxo uyyno kyHen (431—434):

431. 1) 34’ -3; 2) ¥ -y, 3) m’n—mn’; 4) 2a’ -2ab’.
432. 1) x*y? - x2p*: 3) 8-72x°y?;

2) 7c*d* —63c*b; 4) 32a*b-2a%b.
433. 1) 2a* +4ab+2b%; 4) 8p* -16p+8;

2) 2m’ +2n* —4mn; 5) 27a*b* -18ab+3;

3) 5x* +10xy +5y7; 6) 12m’n+24m*n+12m’n.
434. 1) 20° +2d°%; 3) 2cd’ —16c*; 5) 7x* -56x*y’;

1
2) 54x° -16; 4) @' -a’; 6) 4a’b+324’b.

435. Xucob kynen: 19,7% —8,3%* +28-8,6.
ba 3apO6kyHanmaxo yyno kyHen (436—438):

436. 1) (x2+1)2—4x2; 3) 4y’ —(y-c)’;
2) (x*+2x) - 1; 4) 81-(y* +6y) .

437. 1) (a®+2ab+b*)-c?; 3) 1—a®—2ab-b*;
2) 1—(x2—2xy+y2); 4) 4+(—x2—2xy—y2),

438%. 1)@’ —b* +a+b; ) x—y—x>+)%; Sym —m® +m?—1;
2)a’ —b*—a-b; Hx+x*-x-1; 6) x* +x> +x+1.
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439. Hcoot Hamoen, ku aganu 27>—14% 6a 13 TakcuM MmelaBaz.

440. Hcbor Hamoen, Ku Aap KAMATA JWIXOXU amand OyTyHU n KUMaTh
udonau (7n—2)*—(2n—7)? 6a 5 Takcum Mellasaa; 6a 9 Takcum MelliaBa.

441. Myoaunapo xaja KyHen:
D) (x=3) (¥ +3x+9)-(3x-17)=x*-12;
2) Sx—(4-2x+x%) (x+2)+x(x—1) (x+1)=0.

442. CypbaTu Kauku MoTopaop 0a paBuiuu yapaéHu gapé 6a 18 km/
coar, 6a MykKoOouau yapaéHu gapé 0a 14 xkm/coar Gapobap acT.
CyppaTti yapaéHm gap€ Ba cypbaTy KaukKpo aap oOu opom €0e.

ﬁ) Xyapo oucanyen!
1. Uponapo nap 1akiay 6uceépab3oruy CTaHAAPTH HABUCE/I:
(a-3)*+(a-3)(a+3)+6a.

2. ba 3apOkyHaHmaxo Yya0 KyHe/:
1) xy-2y; 2) 16a* -81, 3) 3x” —6x°;

4) x*-10x+25; 5) 3(x-D+y(x-1); 6)2a* —4ab+2b°.
3. bucépab3zornpo 6a 3apOKyHaHIax0 Yy/I0 KyHEI Ba KUMATHU afaiuu

1
OHpo XxaHromu a=1, b= -3 OyaH X1cob KyHe.:

a’-3ab+3a-9b.

Mamkxo noup 6a 6o0m IV

ba 3apokyHanmaxo yyno kyHen (443—447):

443. 1) 6(a+b)+(a+b) ; 3) (a-b)+(b-a);
2) 4(x—y)+3(x—y)2; 4) (a—b)2—(b—a).

444. 1) 3(x+y)(x-y)+(x+y); 3) 5(a-b) —(a+b)(b-a);
2) (x+y)3—x(x+y)2; 4) a(a—b)z—(b—a)z.
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445.

446.

447.

448.

449.

450.

451.

1) (y+z)(12x2+6x)+(y—z) 12x2+6x);
2) (y-z)(12x* —6x)+(y—2z)(12x* +6x);
3) (6x7-3)+7x(6x* -3)-4y(6x*-3);

4) 2x(8x—4y)-3y(8x—4y)-(8x-4y).

1) 18a* —=27ab +14ac —21bc; 2) 10x* +10xy +5x +5y;
3) 35ax+24xy —20ay —42x*; | 4) 48xz* +32xy* —15y7* —10y°.

1) 16ab* —5b*c-10c* +32ac?;

2) 6mnk* +15m*k —14n’k —35mn’;
3) —28ac+35¢* —10cx + 8ax;

4) —24bx —15¢* +40bc +9Yex.

Ndonapo conga KyHen:

) (2x-1) =2 (2x-3) +17;

2) (Bx+2) -2 (x—-1)-7x%

3) 24y* —(Ty=2) +(5y-3) (5y+1);
4 (3y+1) (2y-3)+(2y-3) -10y.

McboTt KyHen, Ku Moayau (papKy KBapaTXOU Iy afaau naigapxamu
HaTypaJIi agaayd TOK MeOOoIIaI.

Kacppo uxtucop KyHen:
53 -27° 49> -2.49.29+29°
1) e 3) —;
797 -51 49°-19
382 -17° 47° -3
2) i —ors 4) — -
47°-19 27°+2-27-13+13
Mcbor KyHen, Ku gap KMMaTU AMJIXOXU X Ba y Oapobapum

(x+y)(x2 —yz):(x—y)(x+y)2 IypYCT acT.
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1) Xap ak 6 dyxmapaxu sk ouna 6apoodap dopad. ap ux ousa
yand gap3ano xacm?

2) Myxammaoyon uano nagap bapooap dowma 6ouiad, XamoH
Kaoap xoxap dopad. Adadu ykouaxou xoxap a3 adadu xoxapo-
Hauw 2 6apobap 3uéd. ap un ouna yano nucap ea yaro oyxmap
xacm?

N 8

TecTxo — MamKxou caHyuIA aoup 6a 6oom IV

1. 3apOKyHaHIau yMyMUPO a3 KaBc Oapopes:
24a’b* —-30a°b°.

A) 6a’b*(4a-5b); B) 6ab(4a’b-5ab*);
C) 6a*(4ab’ -5b°); D) 6b*(4a’ —5a%).

2. Ba 3apOkyHaHIaxo yymo KyHem: 5(a—b)+a’(a—b)-3(b-a).
A) (a-b)(a’+2); B) (a-b)(a’-8);

C) (a-b)(8-a%); D) (a-b)(a*+8).

3. ba 3ap6kyHaHmaxo 4yyno kyHen: 4a(x—y)+4az+7b(y — x —2).
A) (x-y+2)(4a-T7b); B) y-x-2)(7b+4a);
C) (x-y-2)(4a-T7b); D) —(x-y+27)(4a+7b);

4. Xuco6 kyuen: 16,9°-16,9-3,7-16,9-3,2.

A) 169; B) 1,69; C) 16,9; D) -1,69.
5. Xucob xynen: 47,8-1,5+1,8-52,2+52,2-1,5+1,8-47,8.
A) 300;  B) 330; C) 150; D) 180.

6. ba 3apOKyHaHIaxo 4yyao KyHen: ax + bx —3ay —3by.

A) (a+b)(x+3y); B) (a-b)(x+3y);
C) (a-b)(x-3y); D) (a+b)(x-3y).

7. ba 3apbkyHannaxo yyno kyHen: 7a(5a—3b)—10a+ 6b.

A) (Sa+3b)(Ta-2); B) (3b-5a)(7a+2),
C) (5a-3b)(7a-2); D) (5a-3b)(7a+?2).
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8. Kumarn aganum ndomnapo €oen;

a’—a’b-3a+3b, napun 4o a=2,5; b=-1,5.

A) 3.25: B) 13; C) —13: D) 5.
9. Myonuiapo xai kyHel: (3x +2)° —(3x—4)’ =132.

A) 4; B) 3; C) -5 D) 4.
10. Myonunapo xan kyuen: 81x? — (4 —9x)? = 56.

A) —1; B) 1; C) 2; D) -2.
11. Ba 3ap6KyHaHIaxo 4ya0 KyHel: 8q° —27b°.

A) (2a-3b)*(2a+3b); B) (2a+3b)*-(2a-3b);

C) (2a)’ -(3b)*; D) (2a-3b)(4a* +6ab+9b*).
12. ba 3apOkyHaHnaxo yyno KyHen: (a +25)> —1004°.

A) (a-5)(a+5); B) (a-5)(a+5)’;

C) (a-5)*-(a+5)% D) (a-5)7 -(a+5).

13. Xucob kynen: (53’ +47°):(53* —53-47 +47%).

A) 6; B) 100; C) 600; D) 53*+47%
Macbpanaxoum TabpHuXH

Macsanaxou Abyanii ubnu Cuno:

1) Arap xaHromu anaapo 6a 9 TakcuM KapnaaH, aap 6akuys 2 € 7 MOHaf,
XaHTOMM KBaJpaTy MH IryHa anaapo 6a 9 Takcum KapriaH, 0akust 4 MeliaBa;
2) Arap xaHromu aganpo 6a 9 takcum KapaaH, O0akust 4 € 5 MoOHaj,
XaHIOMU KBaJpaTu MH I'yHa afaapo 6a 9 TakcruM KapiaH, 6akust 7 MelliaBaf;
3) Arap xaHromu agaapo 6a 9 TakcuM kapnmaH, O6akus 1 € 8 MoHan,
XaHTOMH KBaJIpaTyl MH I'yHa aaaapo 6a 9 TakcuM KapaaH, 6akys 1 merasa
4) Arap xanromu amaapo 06a 9 TakcuM KapnaH, Oakus 3 € 6 MoHaj,
XAHTOMM KBAJIpaTu MH T'yHa afaanpo 6a 9 Takcum KapiaH 6eb6akysi MellaBal.
5) Arap xaHromu agaapo 6a 9 takcum KapaaH, 6akus 1, 4 € 7 MoHan,
XaHTOMM KBaJIpaTy MH IryHa afaipo 6a 9 Takcum KapiaaH 6akysi 1 mennasa.
6) Arap xaHroMM agaapo 6a 9 Takcum KapmaH Oakus 2, 5 € 8 MoHa,
XaHTOMM KBaJpaTy MH ryHa afanpo 6a 9 Takcum KapaaH, 0akyst 8 MellaBal.
7) Arap xaHromu agaapo 6a 9 TakcuMm KapaaH Oakus 3 € 6 Ooluaf,

KBaJIpaTy UH TyHa afan 6a 9 6edakusi TakCUM MellaBajl.
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8) A3 KyOM TeFa TeFa Tapx Kapja IaBaj, OH amagd O0a 6 Kapatn
MelllaBa, ThbHE ajagd Hamyau #’—n 6a 6 0e0aKkys TaKCUM MellaBaj.
n—anaan HaTypan.

@ (Macsanrau [uogpanm). Qypyctum 6apodapuu 3epuHpPO UCOOT KyHE/:
(@® +b*)(c* +d*)=(ac+bd)* +(bcFad)’.

@ Macsanau Jiinep. Jlypyctun 6apodapum 3epuHPO UCOOT KYHEI:
(@ +b* +c+dH)(m* +n* + p* +q*) =(an+bm+cq +dp)* +

+(am—bn+cp—dq)* +(—ap—bg +cm+dn)* +(aq - bp — cn+ dm)*.
MabayMOTXO0H TabPHUXH

Hap "Kanunu apudmeruka"-u Koin kounaxou 6a gapayau MXTUEPUU
HaTypau OapIolITaHU Ayab30THd 10/a LIyaaacT.

HUctudonan Myjoxusaxom reoMeTph aap ucCO0TU dopmynaxou
IYHOTYHU ajreOpaBH, XaJJIM MYOJMJIaXOM MaTeMaTUKXOU XUTOM,
XuHayctoH, Ocuén MuéHa Bomexypa.

OHx0 (a+b)? =a’+2ab+ b, (a-b)’ =a*-2ab+b*, @ - P =(a—b)X
X(a+ b) (€ xyn aitHuaTXOM Hamyau (a® —b*) = (a—b)* +2b(a—-b)) -po 60
YCYJIM TeOMETpH McOOT KapaaaHa. MacajaH, XaHroMu ucootu ¢popmysian
a’> —b* =(a-b)(a+b) 4yHMH MyHOCMOAT KapmaaHI: arap a3 KBaapaTu
tapadxosil 6a a 6apobap kBaapaTu Tapadxosin 6a b Gapobdap
Oypuaa rupudTa 1aBaja, MacoxaTu IHakKiau OOKMMOHIa Oa:
a(a-b)+bla-b)=(a-b)(a+b) & xyn 6a (a—b)*+2b(a—b) Gapobap
MellaBajl, K1 a3 pacMu 14 aéH acr.

[Mac, popmynau a*—-b*=(a-b)(a+b)

IYPYCT acr.

MaremMaTKXou XUTOM XOJIO JIap Xa30pcosian z <
aBBaJIM MWJIOIW XaHTOMM 0O amaaxou OyTyH S
(€ parcuoHann) wudona xapaaHu tapapxom [, p b

CEKyHYau poCTKyHYa a3 popMyiaun

(p ;q ]Jr(pq)z:(p ;rq )

uctudona OypmaaHu.

Pacmu 14.
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Macwanaun 1. CypbaTu Katep aap oou opoM 0a a KMJIOMETP Jap K
coat Oapobap acT; cypbaTu yapa€Hu aapé 0a b KWJIoMeTp Jap sIK coaT
Oapodap act. CypbaTtu XapakaTu KaTep 0a paBUIIM Yyapa€H a3 cypabTU OH 0a
MYKOOWIM yapa€H 4yaHa MapoTuoa 3uén act?

A CypbaTu xapakaTtu KaTep 0a paBuilM 4yapaéHu aapé 6a (a+b)
KWJIOMETp Gapobap act; cypbaTu Xapakat 6a MyKoouau yapaeéH 6a (a—b)
KuoMeTp 0apodap act. buHobap MH cypbaTh Xxapakart 0a paBUILIN YapacH

a3 CypabTH XapakaT 0a MyKOOWIN yapac¢H
a+b

a-b

MapoTrOa 3UEI MelllaBaa. A

a+b
Hdonan —— ~Po Kkacpu aneebpasii MeHomana. CypaTu UH Kacp a+b,

Maxpayau a—b acr.
YMyMmaH, kacpepo, Ku cypam ea maxpayaui ugodaxou anreebpasii
Mebouwiano, Kacpu anreebpasii MEHOMAHO.
Houp 6a kacpu ajiredOpaBd 003 sIKUaH]I MUCOJI MEOPEM:
a. _2  a-b x(b+c)
b x+y ¢ y(a-c)
Arap 06a yoitn xapdxou 06a Kacpu anreOpaBh AOXWIlIaBaHJIa Oab3e
agagxo Try3ollTa 1IaBaHA, Oabau XUCOOO0ApopuxOouM MYBO(MDUK KUMATU
agaJuy MH Kacpu ajaredpaBd XOCWUJI MellaBaj.

a+b
p XaHTOMM a=10,

MacanaH, KUMaTu agaayMu Kacpu ajareopaBuu

b=8 OynaH, 6a ig +§ = % =9 Oapobap acT.

a+b
Hap xacpm anredopaBun ﬁ6a Yol a Ba b agaaxou IUIXOXU

HobGapobappo (a#b) ry3olitaH MyMKWH acT, YyHKW XaHTOMMU a = b OynaH,
.. 9 — Anre6pa, cundu 7 129



Maxpayu kKacp 0a cudp Ttadbaua meedan, Baje 6a cudp TakCUM KapaaH
MYMKMH HECT.

MunOaba gap3 MeHaMoeM: xapdxoe, Ku 6a Kacpu ajareopaBd JOXUIT
MelllaBaHJ TaHXO0 OH KMMaTXoepo, KM Jap OHXO Maxpay 0a cudp
HobOapobapaH, rupudTa METaBOHA/.

a
MacanaH, 6apou Kacpu m XxaMau KUMaTxoHu a, Faiip a3 a =0 Ba

a =1 paBo Mebo1IaH .

4 Xocusmu acocuu Kacppo YyHUH HaBHUIIITaH MYMKMWH acCT.

a
mb

3

3

SN

nap uH 4yo b#0, m#0.

MH xocugT oHpo MedaxMoHaI, KM XaHromu 0a sIK ndonau aaredopaBumn
Falipyucudpm 3ap0 € TaKCUMM KapAaHM CcypaT Ba MaxpayMd Kacp Kacpu 0a
OH Oapobap xocus MelaBaa. MacanaH:

335 15 arb_(a+d)c
4 4.5 200 b be

XocuSITH acocur Kacppo uctudoga Kapaa, Kacpu ajareopaBupo 0a
3apOKyHaHJIau yMyMMe, KU J1ap sIK BaKT XaM 0a cypaT Ba xam 0a Maxpay
MaHCY0 acT, MXTUCOP KapAaH MyMKMH acT, MacajaH:

a(b+c)=b+c (a+b)c=£
a(b-c) b-c’ (a+b)d d’

Muconaxon Kacpxoepo MeopeM, KM 0apou copja KapaaHU OHXO
aBBaJl 3apOKyHaH/Iau YMyMHUM CypaT Ba Maxpaypo 4yA0 KapAaH JJO3UM acT.
Macwanan 2. Kacppo comga KyHen:

) 12a°b 2) m’ —n’
4ab*’

m2+mn

A 1) dAxan3zoxon 12a%b Ba 4ab? 3apoKyHaHman yMmyMun 4ab -po 1opaHI.
Cypat Ba Maxpayu Kacppo 0a 4ab Takcum Kapja, XOCUJI MEKYHEM:

12a’h _4ab-3a _3a

4ab®>  4ab-b b
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2) 6ucépab3oxou m*— n? Ba m*+ mn 3apOKyHaHIau YMyMUU M+ 1 -po
JIOopaHa, YYHKU m?— n>*= (m+ n)(m— n), m*>+ mn=m(m+ n) act. Cypart Ba
Maxpayu Kacppo 0a m+ n TaKCHM Kapaa, XOCHI MEHaMOeM:

m2 —n2 _ (m+l’l) (m—n) _m-—n

m2+mn m(m+n) m

===

(1) bapou uxmucop kapdanu kacpxo cypam eéa maxpayu OHX0pPO
ba 3apbOKyHaHOau YMyMUQUIOH MAKCUM KapoaH A03UM acm.

Katio mexynem, xu aeap aromamu cypam € maxpayu Kacpu

a
5 PO ba myKoburaw ueaz Hamoem, Kacpu 6a uH Kacp MyKoouin

navdo mewaeao:

MacanaHh, _73 :_3- =— =

3a(y—x)

Macsaan 3. Kacpu —

a (x-y)

3a(y—x)_—3a(x—y)_—3_ 3

az(x—y)_az(x—y)_a a

-pO coj1a HAaMOEI:

MamkKxo

452. Kacpu anredbpaBrepo HaBUCEd, KM cypaTalll a3 XOCUIu 3apOu agai-
XOM X Ba y , Maxpayall a3 CyMMau MH aaaxo uoopar acr.

453. Kacpu anre6paBuepo HaBUCEd, K1 cypaTail 6a hapkuy agaaxou p Ba
g, Maxpayall 6a xocuiu 3apOu UH agaaxo noopar acr.

454. Kacpu anre6paBuepo HaBMCe, KA cypaTall 0a dapky KBaapaTxou
ajganxou a Ba b , maxpayaiu 06a kBagpatu ¢apkKy MH agaaxo 6apoodap
acT.

455. Kacpu anre6paBuepo HaBHMCed, KM cypaTall 6a cymMau Kyoxou
ajgaaxou ¢ Ba d , Maxpayalu 0a aydyaHaad XOCWIM 3apOU MH aaaaxo
Oapobap acr.
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456. Kumatu agaauu Kacpu ajaredpaBupo €oe;

1 3 a-b

1) —, IapuHYyo a=2-; 4) ——,napuH 40 a=16,b=-3;
a 5 a+2b
b+1 5a+ b

2) —, mapuHyo b=1,5;| 5) — , Jap UH 4o a=2,b=8§;
b-1 a -5b
at+1 ~7ab

3) , Jap MH4Y0 a=-3;| 6) —5—=.mapuH Yo a=3,b=-4.
2a 3b" —a

457. 1) A3 popmynau S'= vt v-po; 2) A3 popmysau p =% V -po;

3) Az ¢popmynau C =2nR R -po;
4) A3 popmynau P=2 (a + b) a -po €6en.

458*. bapou KalllOHAAHUW 7 XajiTa KapTollKa, KU Xap sIKe p KWJIorpaMMa
KapTolllKa Aopana, 0a xap sSK aBTOMallWHau OOpKalllOH ¢ TOHHArm
0op KapaaH MyMKUH acT. YaHa aBToMallMHa JJoO3uM MelaBaa? XaH-
romu n=90, p=>50, = 1,5 OynaH Kumatu x-po €0e.

459. MaiuuHa 6a XycoOM MHUEHA Xap coaT ¢ METP JMHOJEYM MCTeXCOJ
MeKyHaa. Arap MalllMHa Xxap py3 # coaT KOp KyHald, Aap YaHz py3 a
METp JIMHOJIEYM UCTeXCcoJ MekyHan? Baktu matiayopo 0o ¢ uiopa
Kapna, xanromu ¢ =47, a= 11280 Ba n = 16 OymaH, 7-po €0el.

460. HuoH nuxen, KA oy Kacpu Jojaliryga bapoodapaH;

1EB3§' 3 252 2e 59y 2" g m—n”
)7 21 )3 3a’ )m+n (m+n)2’
2) _—3Ba£' 4)2—aBa—2a2b' 0) a+3b Ba (a+3b)c

5 45’ 7 Tab®’ c o

Kacppo nxtucop kynen (461—463):

48 64 -121 28
461. 1) = 2) =5 ) =5 4) T

12a 2¢ | 7b 4ab a Sx
462. ) 505 | 55 [ ) g | 9 9 Lo

a’ b a b°
463. 1) =; 2) 3) = 4 5
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464

465.

466.

467.

468.

469. 1

470.

. 1)

Kacppo uxtucop kyHen (464 — 474):

6ab.
4a’
e,
49¢”’
4(m+n)
1) 5(m+n) ’
7a(a-b)

2)

2)

1)(

8a |
dm-4n’

2
a

1y

at+ab’
3
pq
2) 5
) pPa-pq’
12x* -30xy
30x* —12xy

a-b

9
a+b

1y

a-b
a-n’

2)

2)

3)

4)

3)

4)

3)

4)

3)

4)

364°
+36ab’

3)

4)

244*

a‘b 124
ek R
ﬂ. 6) 25a’bc?
94° ’ 125ac’
wn) 2
Sb(m—n) (m—n)’ ) b—a
3a(a+b S5(x-y
el RELCE)
a(a+b) (a—b) 15(y—x)
m-n 3m(1—x)2 _
(n-m) D 9 (x-1)
(2x—3y)2_ 6 8a’h (a-b) _
3y-2x ) 4a3b(b—a)2
2a+2b 5 ac—bc
4a-4b’ ) ac+be’
12a-3 | a+ab
6a+9 6) a-ab’
Ta+14b 5) 3a-6b
3a+6b "’ 12b-6a’
2m* —mn x? —2xy
Py 6) 7 -
2mn—n 2y° —xy
+24ab m’ —3m’n a’-2a’b
3) 3m*n-3m’’ ‘ 4 2a°0* —a'b
4¢% —9x 3a(a-b)
; S) T2
2e—3x 6a (b a)
25—X2 Sa (02—4)
S5-x 6) 10a* (2-c¢)’
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471.

472.

473.

474.

475.

8-3c 2y—10 b —c?
1 ; 3 ; 5) ——;
) 9¢? — 64 ) 25-y° ) b*n-c*n
%) 100495 4 Sy-y’ . 6 5a°b +5ab’®
7b+10 25—y’ T
1 d>—6d+9 b+7 | 3 9—-6a+a” ‘ 4) 1-2p
d-3 B+ 14b+49° 3-a I—4p+dp’
D 4y’ —4y+1 3) 3a> —6ab+3b>
4y’ -1~ 6a> — 66
2) 164> -1 4) 50m* +100mn + 501
164> -8a+1"’ 15m* -15n*
| 1-d° ; 4y ~4y+1
) (a-1) ) TaTay
2
m-n 5—2x
g (=) P e L
n-m 4x°-20x+25
Kacppo nxtucop KyHen:
1 9’ -16 36¢—c’
16 -24¢+9¢* S +12¢2 +36¢°
2 16x% —24xy +9y* 25b-490°
9y* —16x> 49b> — 706 +25b°
3 4x* —4xy +y* 4b* —12bc +9¢?
y? —4x? 2ab+3ac

476*. Kacppo MXTUCOpP KyHEI:
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2a° —1284° )
D (207 +8a+32) (o' -4d’)

2a* +3a’ +2a+3

2) (02 —a+1) (2a+3)’

3a° +ab’> —6a’b-2b>
9¢° —ab* -18a*b+2b"

3)

3ac? +3bc* —3ab® -3b°
6ac’ + 6bc’ —6ab® — 6b3 ’




XaHFOMI/I yaMb KapJaHU KacpXOou oo aBBaJl KacpXopo 0a Maxpayu

1 3 7
yMyMH MeoBapaHa. MacajiaH, 0apou Kacpxou 1’ 25’ o Mamm 100
Maxpayu yMyM# MeOolliall, KM XypATapuH KapaTud YMYMMU agaaxou 4,
25, 10 acr.

==

) Xaneomu yame 6a mapxu aneedpasi HU3 XamuH eyHa maodounouxii
2y3apoHuda mewasao, Ku OHpo HU3 O6a maxpayu YymMymi 08apoaHu
Kacpxo MeHOMAHO.

|

(0 —m;

" _pa £ -po 6a

6ab’ 4ac

Macwann 1. Kacpxou anredpaBuu

Maxpayd YMyMH oBapes.

A Maxpayn yMyMuu Kacpxou godalyaa 0osii 6a mMaxpayu xap siK
Kacp takcuM 1masan. Ilac, 6osin 6a 3,6,4, apHe 6a 12; 6a @?, a Ba a, sTbHE
a*, b Ba b’, spbHEe b*, Oa ¢ TAaKCUM IIIaBaj.

XaMUH TapuK, Maxpayud YMyMUM Kacpxo Oosii 3apOKyHaHIaxou
12, @?, b* Ba ¢ -po mapbap rupan. XaMuyH Maxpayd YMyMI XOCWINA 3apOou
12a’b’c -po tupudTtan 3apyp act. MH Maxpayu ymymupo 0a Maxpayu
Kacpu SKyM TaKCUM Kapja, sikab3oepo MeéOeMm, KU 0a OH cypaT Ba
Maxpayd OHpo 3ap0 KapaaH jo3uM acT. MH sikab3opo 3apbkyHaunoau
unoeazuu Kacpu MasKyp MeHoMaHI. bapou kacpu SIKyM YyHUH SIKab30
06a 4bc Gapobap act. Mucium xaMuUH 0apou KacpXxou IyIOM Ba CEIOM
3apOKyHaHIaXxoM WJIOBarmpo Meéodem: 2ac Ba 3ab’.

Cypat Ba Maxpayy KacpXoH SIKyM, IyIOM Ba celoMpo MyBopUKaH 0a
4bc, 2ac Ba 3ab? 3ap0b Kapma, oHXopo 0a Maxpayu ymymn 12a’b’c
MeOBapeM:

b

m
3a°b

m 4mbc n 2nac P 3pab?

300 12a°6%¢ 6ab’  12a°b¢’ 4dac  12d’bc

Macwanan 2. Kacpxou
a b ) c
X2 —y* 7 22X —4xy+2y? 7 3xT+6xy+3y*

-po 0a Maxpayud yMyMH: OBape.
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A Maxpayuy Kacpxopo 0a 3apOKyHaHIaX0 Yyd0 MEKYHEM:
x*=y?=(x-y) (x+y);

2x* —4xy+2y* =2 (x2 —2xy+y2):2 (x—y)2 ;
3x? +6xy+3y* =3 (x2 +2xy+y2)=3 (x+y)2.
Maxpayu ymyMH 00511 6a Maxpayu xap sIK Kacpu AoAallly/ia TAKCUM IlIaBa/l.
A3backy Maxpayu yMymn 00s11 6a Maxpayy Kacpy SIKyM TaKCHUM 11aBaJl,
OuHOGap MH OH 0051 3apOKyHaHnau (x—y) (x+y) -po napbap rupaf.
CoHn, Maxpayd ymymMH Oosig 06a Maxpayu Kacpu AYIOM TakKCUM
1maBajg Ba OMHOOAp WH, OH 3apOKyHaHzau 2(x —y)?> -po mapOap rupa.
Ilac, 6a maxpayu Kacpu IKyM 3apOKyHaHaau 2(x —y) -po WJIOBa KapaaH
JIO3UM acT, S’bHEe Maxpayu YMyMH 00si1 XOCWUJIU 3apOou

2(x -y (x+y)

-po map06ap rupap.

bapon 0a Maxpaym kKacpu ceroMm, sibHe 3(x+ y)? , TaKCUM IIyIaHu
Maxpayd yMyMHn 0a xocuiaud 3apOu maipoinyna 3apOkyHaHaau 3(x+))
ujoBa KapjaaH Jyio3uMm act. Ilac, Maxpayu ymymuu xap ce kacp 0a

6(x —y)*(x + y)?

Gapobap acr.

bapou 0a Maxpayu ymMymM: oBapIaHM KacpxXOo cCypaT Ba Maxpayu
OHXOpo 0a 3apOKyHaHIaXxoM WJIOBAarm 3ap0 KapaaH JO3MM acT, KU OHXO
Jap HaTuyau 0a Maxpayu Xap sIK Kacp TaKCUM KapJaHu Maxpayyd YMyMH
XOCWJI MelllaBaHJI; 0apoM KacpXxou Jojallyga OHXO MyBogMKaH 0Oa

6(x—y)(x+Y), 3(x+Yy)? 2(x-y)?> bapobapaH.

I1ac, kacpxou mopairygapo 6a HaMmyau 3epUH HABUIUTAH MyMKWH acCT:

a  6a(x-y)(x+y) b _ 3b(x+y)
x* -y’ 6(x—y)2(x+y)2’ 2x* —4xy +2y° 6(x—y)2(x+y)2

b

¢ _ 2c(x—y)2
3x2+6xy+3y2 6(x_y)2 (x+y)2 '
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7N

o)

bapou 6a maxpayu ymymii oeapdanu kacpxou anreebpagii:

1) épmanu maxpayu ymymuu Kacpu dooauiyoa;

2) éipmanu 3apbkynandau unroeali bapou xap sk Kacp,

3) cypamu xap 9K Kacppo 6a 3apOKyHaHoau uaoeacuu oH 3apo

Kapoau,

4) xap sk kacppo 60 cypamu égpmawyda eéa maxpayu ymymii

HasuulmaH MymKUH acmi.

Hap

484):

477. 1) L Ba 2. 3) 2 Ba >
. ) E Ba g, ) 7 149
piml o fm L
) a b’ ) b 2b°

478. 1) — L 7. 3
- 4q° b 20ab’ )

3x 6 4y

—, — Ba _;

4y Xy 3x 4)
b2

479. 1) aBa —; 2)
3) a’ Ba —; 4)

1 1
480. 1) 575k B 320
) 1 a’+b? 3-4?
) 6b> = 9a’h? 18ab*’
3
481. 1) Ba —; 3)
xX+y X
6 2
2) —Ba —; 4)
a—1 a

MamkXxo

MallIKXOM TMOEHU Kacpxopo 0a maxpayu ymymn opapen (477—

XX
5) 2y 3 >
8 5
6) 15 12
7 8 .
—2Ba 3
a a
a b
— Ba —
2x 4x
2
3bBa —;
2
3c
3—, Z Ba ab.
;20 43
) p° 15a%b 204°p*
4 31 4
) 2Ox4y " 6xy’ 3»xzy4 '

7x 5x
Ba ;
2 (x-1) x-1
24> 5q°

Ba .
3 (a+l) 4 (a+l)
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482, 1) ——Ba ——; 3) X _pa 2>
- D xX-y x+y’ ) 2x-2  4x-4
Ta B4 6b 3x pa—* .
2) 3x-y 3x+y’ 4) 4x+4y 8x+8y’
3b 1 2a a
. — Ba N , Ba ,
483. 1) b-2  p*_4 3) l-a 1l+a 1-d°
7 6x 7 3
2) 2a Ba 2 ) 4) ’ = Ba 2 2"
x° -9 x+3 x—y Xty x“ -y
484. 1) — ! g
- 2m+2n  8m-8n 6m* —6n> "’
N 34> s 10
) Shosc” 3358352 "0 Tabride’
3 1 1 s 1
a’ —4b*’ 3d® +6ab 2ab-a*’
5 1
4) 4

4x-4" 1-x* 3x +3x

97\@ g | Kupme xocm a3 3amun 6a Hyeu dapaxm xaszuda 6aposo. Ou
- wabona 2 m 6a bananoi b6apomada, pyzoHa 1 m 6a nacm
mepapomadaacm. [ap 9 wab on 6a Hyeu dapaxm 6apomad.
banranouu oapaxm uii kadap 6ydaacm?

KOI/II[aI/I YaMb Ba Tapx KapAaHHW KaCpXOoMr MaxpaydalllOH AKXEJIapO UH
TaBp HAaBULITAaH MYMKMHWH acT:

a b a+b.
—_—t—=
m m m

3

a-b 2a-b a-2b
Macbanamn I.Kacpxona ) Ba

-poO 4YaMb HAMOCII.
+b a+b PO A

a+b
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a-b 2a-b a-2b a-b+2a-b+ta-2b 4a-4b 4(a-b)
A + + = = =
a+b a+b a+b

. A
a+b

a+b a+b
a B>

Ba -pPO YaMb HaMOE]I.
a+b a+b

Macwanan 2. @apku Kacpxou

i@ b P (a+b)(a-b)
A — =
a+b a+b a+b

=a-b. A
a+b

//‘ N
|@ ~am]
-

bapou yams 6a mapx kapoanu Kacpxou anseebpasuu Maxpayauion
2YHOYH UH KAcpxopo 6a maxpayu ymymi 08apoan éa a3 Kouoau 4ams

€ mapx KapoaHu Kacpxou MaxpayauioH fgkxeaa ucmughooa kKapoau
A03UM acm.

1 1 1
M . —,—— Ba - .
acvpanaan 3. Kacpxou PRy 345 ~PO 1aMb KyHell

A Xocum 3apou 64’h? Maxpayy yMyMUN Kacpxou JoJalyna MeOoIaI.
Ilac,

11 1 66>  3ab 24’

P N N . _2d’ +3ab+6b
@ 2d°b 3ab® 64’ 6a’h’  6a’h’

6a’b*

a Cc .
BA —— -
Macwvanan 4. Dapku Kacpxou e "2 Tsap? PO €oe.

a ¢ 54° B c? _5a2—c2 A
3b%¢ 15ab® 15ab’c 15ab*c  15ab’c

1
Macwanan 5. Kacpxou 7 x Ba 2] laMb KyHeL.

A bucépab3oxou map Maxpayu Kacpxo Oymapo 0a 3apOKyHaHOaxo
YyJa0 MEKYHEM:

x-x=x(x-1),x*-1=(x-1) (x+1).

Xocunu 3ap6u x(x—1) (x+1) maxpayu ymymum Kacpxo meGoruan.
Kacpxopo 6a maxpayu ymymn oBapaa, Nmaigo MEKyHEM:
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1 3 1 3 x+1 3x
+ = =

o ol x(xo1) (-0 (x4 1) x(e1) x(e 1)

_ox+1+3x  4x+1 A

- x(x2—1) x(x2—1).

1) Yams 6a mapxu KAcpxou 2yHO2YH a3 pyu Kouodau 3epuH uypo
=8| kapoa mewasao:

1) épmanu maxpayu ymymuu Kacpxo,

2) kacpxopo 6a maxpayu ymymi 08apoaH;

3) Kacpxou xocuauiyoapo yams Kapoaw;

4) a3 pyuu umkoHusm Hamuyapo codoa KapoaH.

1 4
az+4a+4_a4+4a3+4a2 ’

Macwanan 6. Kumaru anaguu ngonau
4

+—a3 1242 ~Po xaHromu a=0,5 GynaH xucold KyHex.

A Udonaun nopalygapo MH TaBp TaOAWI 10JaH MyMKHWH acT:

1 4 4 1 4 4
— + = - +

(a+2)2 az(a2+4a+4) a’(a+2) (a+2)2 a2(0+2)2 @ (a+2)

_d-4+4(a+2) d+4a+s 1

czz(a+2)2 _a2(a+2)2_02'

1 1 100
[Mac, kumaTn agagnu MatTiayd 6a —5 =——=—— =4 Gapobap acr.
0,5 0,25 25

Mamkxo

Cymma ( papk)-u kacpxopo €oen (485—491):

a5, 1) S+2L; 3) 4 ——;

D q ) wib axp
8a 3a X y

2) » b ) n+a n+a
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sae. 1y SHd . 2e-d ‘ a+b Sa=2b. | . a+b_a-b,
- D 2a 2a 3¢? 32 ) 2c 2¢
2 2 2 2
10a-b 3a-b (1+6) (1-b) (2+a) (2-a)
4) 3 - 3 9 5) + , 6) 3 — 2 .
a a 5d 5d ab a’b
487. 1) 2+2; 3) =i 5) < +4;
’ 57 3¢ a’ 15¢ 3~
N o l2. 6 @b
) 7 28° ) b 5b° ) 4 12d
m 1 3 b 1 2
488. 1) ———; 2) —+—; 5-—; 4) Z+7.
88. 1) 2 n ) a 5 3) a ) b
0. y5-2+3 [ 2eacds [y a S | H g
’ b b’ c ¢’ d d*’ n n
1 1 a a 3 4
—+—; ——; —+—;
490. 1) ab bc 3) bc bd 3) m>  mn
11 b b 2 3
_—; —+— _— .
2) mn mk 4) ac cd 6) mn n
3¢ 5d 2 1 5 a b c
491. 1) —+—; 3) —————+ ; S S+ + =
) 4a°h  6ab’ ) 3y 6x’y  12xp° ) b? + c? + at’
5 3 11 b b b
2) 2a _T¢ . 4 S———+ N ke
) 5 e Iy dxyl | laxly? )ttt

Kacpxou anre6paBupo yamsb Ba Tapx, KyHen (492—503):

2x x 2d° 54> .

492. 1) 3(a—b)+a—b’ 3) 3(a+1)+4(a+1)’
7x 5x 4y S5x

) 2G-1) x-1 D 5(y-3) 2(p-3)
493, 1) ——+——; 3 -
’ 2x-2 4x-4 3a+3b 6a+6b
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494.

495. 1

496.

497.

498.

499.

500.
142

D) =

7 3

2)

3 S5a
+ 5
ab+b
2a

a +a
5b

5b+5 10b+10°

2) -

ax+ay bx+by ’

+

2)

x*-9 x+3’
2x 5x-2
x-4 16-x*’
12n-5 6
3 + )
n-49 7-n

1)

2)

3 + 2a
Diav2 " (ar2)

b

2p+8 7

)

4-5x

y2—4y+4 y-2 ’

2

2)

7 5

3)(a_bf b_a’

a
—_ b -
ha+——; |2

1+ 6x +9x> _3x+1 ’

b
bh-2

3)

3x X

4) 4x+4y_8x+8y.

y+ta  y-b |
B +ba ab+ad>’
y-b y-a
4 - .
) a*—ab ab-b*
1 4 1 .
3) x(x—3) x(x+3)’
4 B 7
Y 5(a-b) 8(a+b)’
5+p°  p .
3) 2 - 9
p =36 6+p
4 2x _5x—2
)x—4 x2-16
-8 166‘—263_
3) - 2
2c+3 9-4c
20°+1  y
1-9y* 3y-1~
a 4

+ .
2) (3a+1)2 3a+1

2a

10

S)

1

1

+ .
6) x2—6x+9 (x+3)2

2

C 3y er1-S—; | g
c—1

2
a

a+1

+ ;
25-10a+a*> a°-25

—a+l.



7 8 165 3 2 6
" .

501. 1 - 3 + - ;
)a+b a-b a*-b*’ )a+3 3-a -9
6x 3 4 3 8 7
2) P 2_ - ; 4)4 2 - - ‘
XX =y x-y x+y a -9 2a+3 3-2a
a+b a b 7 4 m-n
502. 1) - ) ’ 4)__ - P 7
a a-b a -ab m m-2n 4n"-m
56-1  b+2 b+1 Xy X’
2) 57—+ - ’ 5) X— T2 20
3b°-3 2b+2 b-1 x+y x -y
6a 3a+1 3a-1 4a @ +b
3) — + + ; 6)a—2+ - .
9a" -1 3-9a 6a+2 24a a +2a
503. 1 a+l 1 . 3 a+b 1 |
’ )a3—1 @ ra+rl’ )az—ab+b2 a+b’
2 2
a +4 1 m- —-3m+9 1
2) - ; 4)

S+8 a+2’ m-27  m-3

504. Udonapo conna kapaa, KUMaTH agaavalipo €oe:

84’ a+1
1 +
) a -1

, Jap MH 40 a=2;
£ ra+l’ AP MHA

3c2—c+3_ c—1 N 2
-1 +e+l 1-

1
2) C,ILapI/IH‘{O 0_15'

§ 27. /l 3apb6 ea maxcum Kapoanu xkacpxou aizedpaesi
/

XaHroMu 3ap0 KapJaHU KacpxoM ajreOpaBd HU3 XaMOH Koujaae
uctudona Kapaa MellaBag, KM OH XaHTOMM 3ap0 KapJaHU KacpXou
onand uctudoma MellaBai;
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Macwanan 1. Kacpxopo 3ap0 3aHen:
2.3 2
1 4x°y Ba 10z

b

2xy 5z 3x%

1 4x’y’ 102°  1-4x%p° 1027 4y’z .
A 2xy 5z 3x° 2xy-5z'3x3 3x?

-b b +
Macwanan 2. Kacpxon f ab
a +ab (a— )

A ba 3apOkyHaHIaxo 4yao Kapaa, XOCHI MEHAMOEM:

> 3ap0 3aHe.

a—b 'b2+ab (a- b)b(a+b) b
a’ +ab (a_b)2 a(a+b) (a—b) a(a b)

2 2
m —n

Macwanan 3. Kacpxon — -|2-n3 Ba - TAKCUM KyHE]I.
I9m°n 27mn
A m+n m2—n2_ (m+n)~27mn2 B (m+n)»3 _ 3
om’n® " 27mn®  9m*n’ (m2 - nz) " mn (m - n) (m + n) " mn (m - n) )

Xaneomu 6a dapaya b6apdowmanu kacpu aneebpasii gopmynrau
3epun ucmugooa kapoa mewasao.

4

Macanan,

ﬁ 2_16a4_ a+b 3_(az+b)3
b » | 3c 2788
MamkKxo

Kacpxopo 3ap6 kyHen (505—506):

85 72
—=. = 50—
05D 3) 625
256 13
— 39
) 169 68’ D 3
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a’h ¢? 6a 15¢ 2a
S L2 == 53
>06. 1) c a4 3) 5b 2d° 5) 3b
m'n® K 4m 27k 2 b2
- : 14
D e 9 16d° 6) 14a

507. Kacpxopo TakCHMM KYHE.:

3.3, a . 1, 2.6,
D57 3 g3 AR
12, 6. m, 9 . b
LTI NAPEETE 6 3573
508. Kacpxopo TakCHUM KyHe/:
8§ 8 3a a 2a &
1) —: —; 3) == —; 5) — . —;
) 17 17° ) 7b b ) 3b  be
a . a. c 4t 5m _10m’
2y YRR D
509. Kacpxopo TakCUM KyHe/:
17 34 4 8
— = —:5; 12: =;
D 12 39 3) 13 ) 9
54 81, a. . . b
2)375, 4) b.C, 6) a. .
510. Kacpxopo TakCuM KyHe/:
2b a 12¢ 6a
b=z 3) 5b " 25d° 5) 55+ (ks
mn,m2n2. 8m 16k 2. 4d
2) =2 o 4 on 274 6) 124°: —.
Awmanxou 3epuHpo nypo kynea (511—517):
5aY 14p° 28 1242 ab Y
140 £ ., a4, 22\ . acd:
SH- D ( ) 50 T ) (cd] ““
32\ 165° 3¢ 94 ab\
2) [21)) 2a KT 6) abe’ (cdj'

Q@ 0 ~ieopa cungn 7 145



512.

513.

514.

515.

516.

146

1)

2)

1)

2)

2)

1)

2)

3)

1)

2)

3)

8a’h

3
36¢ ‘ 3)

" 54°h°

35p% ‘

sy | Y

-4a’b;

3)

4

a-n  3d
3a+3b 5b-5a’

5x*-5y*  3x*
x*+y*  10y-10x’

a’-25  a+5
at-3a  9-a*’

16x°y . 20xy’ 18m’n’ (g 5.
7T e | ) T O
3 2 47,2
46d°c : 23d3c : 6) 24k : 12m3k
15a Sa 11p’n
30xy
3) 15x ;
) w5y
X’y 2
4 3 (14x°y)
c+d ¢ 5) a’-ab b
c—d c-d’ b a’
a-b a-b 6) ab+b b
2b 66>’ 9 " 3a
5m  15m®
K m —n®>  m-n’
3(x+y) X4y
4y’ (x2+y2) Xy
5(a-b)  (a-bY
3(@+b7)  a+b
3> -3m*> 6m-6n
4) > .
n* +np n+p
5 a+b xXP-yr
) xX+xy  a*-b*’
2, B2 41 s
6) a+b°  ab->b

a—ab  a*b-ab®



a-5 (a+3)" a’-49 a+b

517. 1 : 3 : ;
) @ +6a+9 a*-25" ) a’ +2ab+b> a-7
B —8b+16 (b—4) @#-2a+1  a-1

2) . > ) 4) . 3 .

b+3 b -9 2a+1 4a- -1

Mucoaxon IK4yos KapJaHM aMmajixo 0a Kacpxou ajareopaBupo auaa
MebapoeM.
a+1 3 1 _2a+2
2a-2 24°-2 | a+2

Macwanan 1. Udoaaxopo conga MEKyHEM:

A Udomaxon AOXWIM KABCXOPO COAJIa MEKYHEM:

a+l 1 g+l 1 (axl) -1
2a-2 22°-2 2(a-1) 2(a*-1) 2(a’-1)

=(a+1—1) (a+1+1)= a(a+2) .
2(a*-1) 2 (a+1) (a-1)
Xocuim 3apopo MeeoeM:
a(a+2) .2a+2: a(a+2)2(a+1) _ a
2(a+1) (a-1) a+2 2(a+1)(a-1) (a+2) a-1"

A

Macpvanam 2. AMAJIXOM HUILIOHAOAALIYAAPO MYPO HAMOEH:

a+b a-b). a+b_1
a-b a+b ) |a-b ’

A AManu 1OXWIn KaBCH AKYMPO MYPO MCHAMOCM:

a+b a-b (a+b) —(a-b) (a+b+a-b) (a+b-a+b)
a-b a+b  (a-b) (a+b) a b

_2a-2b 4ab

=3 2" .-
a -b a -b
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AMau TOXUJIU KABCU IYIOMPO UYPO MEKYHEM:
a+b_1_a+b—a+b_ 2b
a-b a-b a-b’
AMaJIM TAKCUMPO MYPO MEHAMOEM:
4ab  2b  4ab(a-b) 24
@-0 " a-b (i-0)20 a+b A
Macwanan 3. XaB3 0a BocuTam KyOypu SKyM nap a coar, 0a
BOCHUTaM KyOypM IyioM Oolanm gap b coaT Imyp meliaBaa. Arap Xap Ay
KyOyp Aap sIK BakT KylloJa IlaBaj, XaB3 Jap yaH/ coaT IMyp MeliaBan?
A buryszop xaymu xaB3 V 6owan. Jlap sk coat Kyoypu SIKyM XauyMu

4 4
Oapobapu — Ba KyOypu OyioM xaymMu Oapobdapu " Oygapo nmyp MeKyHas;
a

Vv v
xap oy KyOyp Jap sIK coaT xaymu Gapobdapu ” + " Oynapo myp MeKyHaHI.

buryszop ¢ Bakti MaTiyd Gowan. Jlap ¢ coaT xapay KyOyp TaMOMM XaB3poO
0o0s11 60 00 1yp KyHand. fAbHe,

(K+K]t:V.
a b

Xap 1y KkucMu 6apodapupo 6a V' takcum Kapaa,

(l+l]t=1
a b

-po xocus1 MekyHeM. CyMMaM KacpXou JOXUJINU KaBCX0 0a b bapobap

acrt. Ilac, a—+bt=1,a3 MH YO t = ab MellaBaj. A
ab a+b
MamkXxo
AMaJIXoM HUILIOHAOoAALyAapo nypo KyHend (518—523):
a a)l a-b(a b). . 1.
518. 1) (E—EJa—z, 3) a+b(§+§} 5) 1.(1+;),
a (2 2). _ab (111, (pa ]
L T

R R
2) (“%)(d-%); 4) [%+%+2)(1+2;Z}
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a-b 2 ). 6 5 ). a-b .
520. 1) (1—a+b)(2+a_b} 3) [a_b a+b) a+11b’

1+a+bj[2_ 2a ); 3.3 c
D\ )\ T avs D\t erd ) Bcra)
2m+1 2m-1\_ _4m y=1 (y+1 2 )
21D\ 2 2m+1]‘10m—5’ )7 '{y2+2y y+2]’
2+6 1 ) z+2, m-=2 (m*+24 4
2) 3z+9 z+3) 277° Y m=5’ m>-25 m-5)
a*+ab( a b . c+d 2c d-c
22. 1) iy (a—b_a+b]’ 3) ( c _c—d]. ct+d*’
ab-b* ( a b 2c d-c\ c+d
2) a* + b? (a+b+a—b]’ 4) (C+d+ c ) c+d*

a+1 6 a+3 ) 4a*-4
S23% 1) [2a-2+2a2_2_2a+2)‘ 3

5 b N 2 L_a at-b
) a+ab a+b b +ab) 4ab ’

a’-c* a*-b? ac .
3) . 5 a+——|;

a+b ac+c a-c
4 cd—ac a-b (.  ac

a-n -a a+c

524. Maccau nopam gxu xaymaiun V' 06a p kuiaorpamm Oapobap acrt.
Maccau nopau xaymmu V, 6a 4yl Gapobap act?

525. ABroMo6ua 60 cypabTM MMEHAU v KM JAap SIK COAT xapakaT Kapja,
S KWIOMETp poXpo Taii Hamyd. MoTocukie, Ku 00 cypbaTu u
KUJIOMETP Aap SIK coaT XapakaT MeKyHaj Aap XaMWH BakT 4d Kaaap
pOXpo Tail MeHaMosi?

526. CypbaTu XOCUM KAaWKW MOTOPAOP v KUJOMETp Jap sK coar Oyna,
cypbaTu Yapa€Hu Jap€ v, KWIOMETp nap fK coar acT. Kauk 0a
paBUILIM Yapa€H Xapakar Kapaa, Macogau s KWJIOMETPpO Tail HaMy]l.
Jap xaMMH BakKT KaukK 0a MyKOOWIM Yyapa€éH XapakaT Kapaa, KaJoM

Macodapo Tail MeKyHazu?
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527. (Macsanrau kaduma.) A3 ny yuxo3 10 qoHau sikealn siK 1MHOp Ba 15
JIOHAU JyroMall sIK AMHOp acT. ba sk AuHOp a3 oy yuxo3 6a MUKI0pU
OapobOap yaHI JOHATrW XapuaaH MyMKUH acT?

ﬁ) Xynapo oucanyen!
1. Kumatxou xappxopo €oen, ki ngona MabHO J01LITa OOIIa;

a. 3 . _a
b’ a-1" b+2
2. AMaiIxopo nypo KyHe:
1-4a’ a+b a-b
4a+ —_—
D 2) a-b a+b’
2a-4 6b a-b a+b
3) 3p a-2’ ) ¥ b

2
3. Udonaxopo coama Kapaa, XaHrOMU x=2§ OynaH, KUMaTu

agaauy OHpPO €0e.
1+2x_x2+3x' 10
x-3 5 x*-9

Mamkxo goup 6a 60o06m V

Kacpxopo 0a Maxpayu yMyMH open:
a-3 1 3 x+1 xX+2

228 1) 27 a’+3a+9 ba a—3; 2) x+2 x*+8  x?-2x+4
Amanxopo nupo kyHen (529—530):
a+3 7+a a-3 a-2 a+5 a-9
+—= ——
529 1) 10 2 3) 45 15 9
b-7 5b-2 3b-1 b 3b+1 2b-1
2) Tttt Y37 1
z 2m Tn—4
—+— -1+ ;
>30-1) n-2 2-n 3) 3-5n S5n-3
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%) P+29 _59-2p, 4y 4- 3a +5(a—10)
3p—q q-3p 5-2b 2b-5

Amanxopo nypo kyHen (531—533):

531. 1) a —2ab+b2 . 8a-8b 3) w-m 0 +nm+m’
’ —ab+b* @ +b’ w-m’ n+2nm+m’’
%) a’+2ab+b’ a’-b 4 m’+2mn+n’  p+c
at+ab+b*>  Ta+7b° p+c 2m+2n
6ax> -1 (x+2)" (x-2)
532. 1) 22— .12 ;
x? -4 x° -4 8x+1
x-—6 x> +4x+4 X’ —9x

2) X¥16x+9 (x2+2) (x-2) | (x-6) (x+2);

3) am*—an® _ am’ +2amn+an’
m> +2mn+n* 3m+3n
4) ab—-4b-2a+8 2a-8-ab+4b

2a+8-ab-4b  ab+4b-2a-8
1 1 xX+y x-y\|.[x-Yy x+y
533+ 1) (x*~1) (———+1); 3) ( - )( )
x-1 1+x X-y XxX+Yy x+y xX-y
243 2—-a a+2 2+a a-2
1+a-L22 |(1-a); - : + .
2) ( a+1 }( ) 4) (2+a a—2) (2—a a+2)

m / (/] Cymmau pakamxou adadu n 6a 2006 b6apobap acm. O¢
- adadu n -po dap wakau xocuau 3apou dy aoadu 6a xam bapooap
maceup Kapoan MymKuH acm?

TecTxo — MamKxoun caHyuIuA aoup 6a 606m V

27a* - 36ab +12b*
94° —4p* '

1. Kacppo nxtrucop HaMoeI:
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3(3a-2b) ‘ 3a-2b ‘ 39-36ab ‘ 3a® —36ab +3b*
A S ) Sz | 9 5 7 D) a-
2 K . 7a*(ab® - 9a)
- Kacppo uxticop namoen: ——~-—— = 2la_7ab) -
) —a(h+3 7(ab® —-9a b-3
A) Ta(ab 9a); ‘ ) a(b+ ); ‘ C ( ); ‘ D) a( )_
3(21a-"7ab) 3 3(21-7b) 3
84 +124* +6a+1
3. Kacppo uxrtucop HaMoex: -
4a° +4a+1
2a-1 2a-16a> +1
A) 2a-1; B) Sair ©) 2a+1; D) —hes
4 5 10b
: + - .
4. AMaxopo n4ypo KyHe: PSS R
9 9 -9 9(a +b)
A) a-b’ B) a+b’ ©) a+b’ D) a-b
5. Kacppo Tapx Hamoen: a +9 1
’ PP DX & a@+27 a+3’
| 3 . a 3a
A) a@+9’ B) a+9’ ©) a+9’ D) a +27
94> —166> 64’
. K : : .
6. Kacppo 3ap0 kynen: === 15,75
A) @ B) -& C) “_. Dy —°
’ ’ 3a—-4b’ 3a+4b
7 Kachno TAKCUM KVHe: 4a’ -20ab+25b> (2a-5b)’
- (NACPPO TAKCHM RYHEIL Sbed 25616
5b+4 2a-5b
; ; -4, + 4.
A) 205 B) h_4 C) 5b-4; D) 56 +4
8. At (4a+5b 4a-5b ) 4a+5b_1
- AMAJIXOPO MHPO KYHCOA- | = 5p " 4a+5b ) | 4a-56 |
8a 4a-5b 8a 8
A) 4a+5b° B) 4a+5b° ©) 4a-5b° D) 4a+5b
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3x+1 1 3x+1
9. AManxopo nypo KyHen: 31 9’1

Bx+2
3x 3x-1 3x 3x+1
A ; B ; ; D )
) 3x-1 ) 3x ) 3x+1 ) 3x-1

2-3a 3a+2)\(2+3a 3a-2
10. Amanxopo mapo kyren: | 5= ~>— || 35" 3.5 |

9a’ -4 94> + 4
A) 22, B) ‘;2‘1; C)

12a
8a? —22ab +15b*

2
a +4 a +4
; D .
12a ) a

11. Kacpxopo UXTucop KyHe[:

164 —25b*
2a-3b 2a+3b 4a-5b 4a+3b
A) Garsp’ B) s ©) darsp’ D) s
9x% +16 1
12. Kacpxopo Ta ell: - .
PXop PX KYHCI 27x3+64 3x+4
9x% +16 -12x 12x 9x% +4
A ;B ———; C) ——; D) ———.
) Sred ) 37164 ) 37164 ) 27x° - 64
4 2 . 8
13. AManxopo nypo KyHe.: 3a+2b 2b-3a  4b2 — 942
6 6 12a . 12b
A B) 32 © 57w ) %-3a

25x* -36y°  8xy
10x% +12xy 24y% —20xy

14. Kacpxopo 3ap0 3aHen:

A) —1; B) 1; C) 8y; D) —8xy.
X Macbanaxou TabpHuXH

@ Macsanrau Jexaud (acpu 111 mo munod).
Ananxou MycOn a, b, ¢, d — Ba a a3 OHX0 KaJoHTap Oo1aa. Arap % = 5
Oo1an, gap oH xoJjat a + d > b + ¢ -po UcOOT KyHe.
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@ Macwsanau Diinep.
Hypyctun 6apodapupo caHyes:

aa+b3+|:b~(2a3+b3)]3 :[a(a3+2b3)]3

a b a - b

Macsanau Jiinep.
HNdonau 4a* + 1 6a 3apOKyHaHIAX0 YyI0 KYHEI.

@ Macsanau an-Kapouii.
Hypyctny 6apobapnxou 3epuHPO HUIIIOH JUXE/:

1{d’-b° 1|d-b*
— —b =qa: — — —b :b.
2[ a-b +a )] @ 2[ a-b (a )]

1 MabaymMmoTXOM TabpHUXHA

Hap puconaxoum KaauMu ¢opMyaaxou MyxTacapu 3apo,
MabJIYMOTXO Jap Oopaud Kacpxou ajredpaBd BoMmexypaHia. MacanaH,
nap acapxou ,, An-@axpu“-u an-Kapoun, gap kutodbu ,,Kutoo-an-
yabp Ban MykoOana“-u onumu mucpu Adykomuin (850—930) xam
Kacpxou ajreOpaBd Ay4op MeosHI. AOYKOMMWJI aBBaJIMH OJIUME
MeOol1a, K1 Tac a3 aj-Xopa3Mni Joup 06a aiaredpa acap ogapumaacr.
AOVKoMuUJI gap acapu Xyd 6a MyHOCHMOATXOM COagau

b b ab’ b a b a  ab

Hap ,,Apudpmetrukan ymymn“-n M.HioToH HU3 Kacpxou
apu(METUKHA MaBKeU MyXUM aopan. Jlap HaTuyau TakCUMU Kacpu a

a a a ab a b a+b
—lb=a, - ——==1 —+-= XaM 3bTUOOpP 101aacT.

06a b pap ,,% Oy3yprue meboluaa, KM Jap HaTUYad TaKCUM XOCHJI

ab-bb
urygaact. XaMuH TaBp, Oy3ypruu . 7lap HatM4au ab— bb po 0a
a+ X TakCUM KapjaH, Xxocwa meluaBan“ — merysn HroToH.
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MAIITIKXOU TAKPOPH A3 KYPCHU
AJITEBPAN CUH®U VII

534.

535.

536.

537.

538.

539.

540.

Kumatn ndonaun aganupo €oe;

 22453.71,3, 132111
8 6 8 6 67 6 7
O¢ bGapobapn oypycT acT:
3
25T 7 (§—7—o,2)~3,5
1) 4 4 2) =-10;
1§—1+0,4 2,26 >
(4,752+0,608): [7’5_3,55}0’0617.
3,2 3,8 1,42

Sxe a3 oy agag 6a a 6apobap Oyna, agaau AyroM a3 OH 7 BOXUI KaJJOH
acT. X OCUJIM 3ap0u Ay4yaHaau UH agaaxopo €oen. Kumartu nH xocuim

3apOpoO XaHTOMU a = > OynaH XucoO KyHes.

Cymman ny amaa 6a 30 6apobap acr. SIke a3 agaaxo 6a a Gapobap
acT. XOoCWIM 3apOou AydyHJau MH agaaxopo HaBucen. Kumaru uH
XOCWJIM 3apOpo XaHroMu a=—2 OyJaH XuUCcoO KyHes.
®opmymaepo TapTMO AuXeA, KA OH Jap agaav HaTypauu a3 a
caguxo, b maxuxo Ba ¢ BOXUAXO MOOpar Oyda, yaHa BOXWI MaBYy[
OymaHpo HUIIOH Meauxan. Jdap agane, Ku 00 Xyau XaMUH paKaMxo,
Bajie 00 TapTMOU OapbaKC HaBUILTA 1IYAAacT, YaHI BOXUJI MaByy.l
act?
a KWIorpaMM Ba ¢ rapMM 4YaHj rpaMMpo Jap 6ap merupan? Agaau
rpaMMxopo 60 xapdu x uiopar Kkapaa, yaBoopo 6a Bocurau ¢Gop-
MyJla HaBMUCE/I.
Kumatu agaguu udonau anaredpaBupo €oen:

2a+b
D b-2a

, Jlap UH YO0 a:—%,b:—3;

2) éa3—27ab2, Iap UH 40 a:2,b:—§;
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2 3
3) Eazb—iabz, nap UH 40 a=4,b=1;

abc—-4a+3b 1 3

) a:——,b:—_,C:__'
at+b-c Alap MH 90 3 4

4) 3

541. Xocwunm 3ap0ou SKab30X0po €0e:

) (~12a°bcd)-Sac'd’ - (-3blod?);

2) 49a’bc? ~(— % ab ] (% ac] ;

3) 8a%b-(~4ab’)- (- 7a%?);

2
542. SIkab3opo 0a napaya 6apaopen:

1) (— 2ab2)3; 2) (— O,8ac2)2; 3) (—%abc3)3.

4) (—%a“bzc} L b,

543. Udonapo comga KyHe:
1) 2a* +2ab +3b* - a® - 2b%; 3) %az—b2+§a2—§b2;
2) 7a? +26% - (6a% +b%); 4) %a2b~23m—%a2bm.
544. Kumatu aganuu udogapo €oen:
1) 5a*-2ab+6a—-7ab—-6a*—6a, nap uH 4o a=>3, b:—é .

545. bucépab3opo 6a sIKab30 3apd KyHE:

1) (8 —ab+b?) -3ab; 2) (6a-4ab* +1)-3 ab.
546. bucépab3opo 3ap0 KyHen:
1 2
1) (a2+3ab+b2)(7a—5b); 3) (gazb—gabz)(ISa—mb);
1
2) (a+3b—4c)(a—3b—4c); 4) (5024‘404'1)(361—1)-
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547.

548.

549.

550.

551.

552.

553.

554.

555.

556.

Myoaunapo xan kyHen ( 547—551):

) 42x-1)+3(1-2x)=7;
2) 4(x+2)-2(3x—2)=14x-5(x+3).

1) x;2_%:x;7; 2) 2(3:—1)=4_x;-2.
1) 7—%:3+77x; 2) XT”:x—4.
D3y Etan s
0 6x7+7+3+85x:3; 3) 1+x:5x2—2;
2) 5_2x3—5=4x3+2; 4) I—Tx_1:7x.

Hap ce xyrtad 119 nmona kanam xact. Jlap KyTTum sIKyM Haszap 0Oa
KyTTUU ayioM 4 To 3uéj Ba Hazap 6a KyTTMHU CeloM 3 TO KaM KajlaM
xacT. ap xap KyTTH 4aHATOTA KajlaM XacT?

ITagap 30 con Ba mucap 4 con gopan. babay yana coji magap a3 nucap
ce MapoTrOa KaJoH MellaBan?

[Mucap 6 cona, magap a3 ¥ 6 mapoTr6a KajaoHTap act. babau yaHg con
rmucap a3 rmajgap 6 Mapotuba XypAarap MelaBa?

Hy BenocumnenpoH a3 Ay AeXald BOKEM SK poX Aap SIK BakT Oa
UCTUKOOJIM sIKaurap 6a pox 6apomanaHi. BenocuneapoHu sikym 00
cypbatu 15 KM/coat Ba ayoM 00 cypbaTh 12 KMm/coaT xapakaT
MeHaMosiHI. Arap Macodau OaitHu gexaxo 0a 40,5 km Gapobap
Oolan, oHXO O0abaM YaHI BaKT BOMexypaHia?

Iy BeJIOCTIMEIPOH a3 oy JAeXal BOKEH sIK POX Jap sIK BaKT 0a sIK caMT
paBoHa 1yaaHa. BenocuneapoHu skyMm 00 cypabTu 15 KMm/coar Ba
BEJIOCUTIEAPOHU JIyIoM 00 cypabTu 12 KM/coaT xapakaT MeKyHaH]I.
Faiip a3 uH BejocUIIEAPOHU SIKyM a3 Iacu BEJOCUIEAPOHU AYIOM
MepaBag. Arap Macogau OaiiHu aexaxo 4,5 kM 0o1aj, BeJIOCUIIeI-
POHU IKYM Kaii 6a BejiocurenpoHu ayom padra mepacan?
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Conna kyHen: (557—559):

a a
557. 1) (a+1) (a-1) (¢’ +1); 2) (5—5](5+5)+25_
558. 1) (a+3) +(a-3)"; 2) (4a+b) —(4a-b) .
1 1 SAWIPAR b) Iol[iiloge)ees
559. 1) (1-a) (I1+a+a*)+a’; ) |3 73 :
ba 3apOkyHaHnaxo yyno Hamoen (560—561):
560. 1) a* +6a> +9a%; 2) 25-(2-3a)%.
561. 1) (a+1)> =(4-3a)%; 3) Qa+b)*=9(a+b);
2 2
2) (86—1)% - (26 +3)%; 4) 4(a—2b)"=25(3a~b)".
562. Kacppo UXTHCOpP HAMOE/I:
216 4x% -9
) ——; 2 .
) a> -8a+16 ) 2x+3

Amanxopo nupo KyHen (563—566):

f— 2 —
563. 1) b+3+7+b+b 3; 2) a +5a24+ 2a |
5 10 2 16-a 8a+2a
a 1 4x? 12xy 9y2
4. - 2 + + .
04 T )2x—3y 3y-2x  2x-3y
a-b a-c 1 1 1
- : - + .
565. 1) b e 2) lax  2lxly  dxy
566. 1) x? —y? ~12x2y. 2) a* +4a . 4a+16
: 6xy  x+y @ -16  a*-4da

Amanxopo nypo kyHen (567—570):

1-a> 1-p? a
7.0 |21 | 1= |, 2 : 1+ .
26 ) [a+1+ ) ( a+1) ) 1+b 4442 ( l—a)
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568.

569.

570%*.

94’ 1 6a .
+ + ;
1+3a 3a-1 1-942

a+b+a—b ) a2+b2+az—b2
2) a-b a+b) > -0 &+
9m2—3n2_m—4n ) 2m+n_5112—3m2 .
1) 4m2 Sm ' 3m 16m2 ’

a+4b  6b a* —2ab+4b*
2) l-———

+
2b  4b-a a* — 4b*

3(2a a) 12(a-5) 1 (a )
D 5(?‘7)‘7*“*3 5‘5")’

xX-a X 1 1 2 1 1
2) 2- - H———+= || =
X+a x-a 2 ax 2 2 2

a X a X

1) 1+3a+

571. Caiiéx a3 ucTupoxarroxu aap coxuiau gapéu KykcyB yoitrupoyna, 6o

572%*.

573.

574.

Besjocuriesn 0a pox 6apomazna, 6a UCTUPOXATIOXU AUTrap Jap BaKTu
MyansHiIyaa pacunadi oyn. Jdap 1 coaru aBBan ¥ 10,5 kM pox Tai
Kap. ¥ xuco6 Kapj, Ku arap Macodan 60KMMOHIApO HU3 60 YYHUH
cypbar Tail KyHaa, 6a MaH3WJI a3 BaKTU MelbuHuKapaaain 1 coat
neprap Mepacan. Cailéx poxyu 60KMMoHIapo 00 cypbatu 15 KM gap 1K
coar Tail kapa Ba 0a MaH3WJI a3 BaKTU MELIOMHUKApAaall HUM coaT
newr padra pacua. Macodau 6aitH1 UCTUPOXATIOXXOPO €0EI.

Xo0 coat 5 act. babayu yaHa BaKT MWJIM JaKUKATUM COAT MWIU
coaTpo ,,3ep MeKyHana“?
Pakamu paspsinu gaxyuy amaaud aypakama a3 pakamyd paspsiid Bo-
xuaxo 4 6apobap kajmoHTap acT. JloHuiomy3 mexoct 507-po 6a
XaMMH aiaau aypakama 3ap0 3aHaa. AMMO ¥ TaconydaH pakaMxou
ajaau gypakamapo HMBa3 Kapiaa HaBMINT. [lap HaTMya XOCWUJIU 3apOou
¥V maiimokapaa a3 yaBoou Macwaja 6a 27378 xypa 6apoman. YaBoou
IypycT 6a yaHg Oapobap Oymaact?

Basuwm xyau a3 muc Ba pyx noopat 6a 36 H 6apobap act. Mabiym
acT, KM nac a3 6a o0 FYTOHMAAHU XyJ1a OH 4%H Ba3HU XyIpO I'yM
Kapa. XaHromu 0a o0 FYTOHUIAH MUC 11% % , pyx Oorian 14% % -1

Ba3HU XyZIpo T'yM Kapa. BazHu muc Ba pyxpo aap xyina MyaiissH KyHe/I.
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575.

576.

577.

578.

579.

580.

160

Maccau xynam a3 MUC Ba HyKpa noopar 3,5 kr act. Tapkubu HyKpau

OH 16% % TapKUOM MUCPO TALLKWI Meauxaa. Maccan HyKpau Xyinapo
€oeJI.

Hap nunra 120 xr opa xact. Opau nuHram 1 6a % KUCMU OpIU

JHTau 2 6apobap act, opay auHram 3 6omran, 6a 80 % opau JTuH-
rau 2 6apobap act. ap xap sIK JMHra 4yaHj KujorpaMm opa xact?

Axman a3 gexam A 1o 6a mexau B 0o cypwbatu 14 kM/coat, map
Ooosramitr 60 cypbatu 10 KM/coaT pox Tail Kapia. Arap XaHroMu
oosrawT Axman 1 coar 3uénrap BakT capd Kapnaa Ooiuaa, Macogau
OaifH1 gexaxopo €0el.
Beproner macodau OGaitHu oy nexapo a3 pyu camtu 6ox gap 1,5
coar, Bajie a3 pyu camMTU MYKOOWIM 001 Ooian, gap 2 coart rnmapuaa
ry3amT. Arap cypbatu 0om 6a 10 km/coatr OGapoOGap Ooman,
Macodau OGaillHM aexaxo YW Kajmap act?
IupkaT Hakiam oug 0a Tak€p KapIaHU MaxCyJoTH SKXeaapo aap
10 py3 nypo kapmaHail jJo3uMm Oya. Bane gk py3 meiwn a3 myxjiar
LIMpPKAT IIaHpo Ha dakaT U4po Kapid, Oanku 3uéaa a3 peya 3 agan
MaxcyJaoT GapoBapa. YyHKM xap py3 a3 Hakila 3U€a 2 TOrA MaxCyJaoT
taiiép Mekapa. Lllupkar a3 pyiitn Hakiia gap 10 py3 yaHa MaxcyaoT
Oosin Taii€p Mekapa?
Kacpxopo 6a Maxpayu yMmyMH oBapen:
5x 3x+y y-x
D 00 Feaxed B Toaxed
3a 4a 5
s AN A Ba - 2. A
2a-3" 2a+3 4a’*c-9c
4b 2a 1
BA ————;
b*-2bc+c*’ c-b 4ac+4ab’
1 1 |
1) 32 -9y?7 4x’y +12xy* +9y° pa 3y-2x’

2)

3)

5) c—b c+b 54 1 )

8bc+16¢* 2bc b*c+4bc* +4c*
2x 3 1

6) VX Xy-xp? Ba Xyt 4y



Amainxopo nypo KyHea (581—585):

a’+2a+1 b+2 a-1,

581. 1) 2)

-4 a+l b+2’
(a+1)? a
1=,
3) (az—l a+1)
x X’ ( x X
4) x+y xX*+2xy+y? || x+y x*-y* |
c-d ¢ \( & R !
82D\ e3de Prcd |\ G—cd® c+d |

2n 4n’ ( 2n N I )
2) \k+2n K+dnk+an |\ K—4n " 2n—k |

b-2 b -4

B (b B
N\ brx Prxrobx || brx v |

2q 44 ( 2q 1
4) ) B P IS :
2g+m 4q  +4mg+m 4qg°-m° m-2q

2
583. 1) 11q-2-1, @1 3a.

a 2a 2
’) m+l 2 +3m2+2m+4_
m +m+1 1-m l-m*
3) MR+ 2n; 4) m+n_2m—n_m+n
3 2
a+2a* (a+1)Y(a-1). (@* +ab)*  (a+b)’
BD T T T ) ) "R (ab-b)
3b) 5 96> ~16
1,5{26-22)12.36-5)+ :
585. 1) 1, ( 7) 7( ) Py
x+3a  x 2d*—ax+x’ .xz—a2
2) - + 72 T 22
x+a Xx-a a’x a‘x

.. 11 — Anreodpa, cundu 7

@ -2a+1 a’-1 2a-b,
a+l’
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586.
587.

588.

589.

590.

591.

162

Myonunapo xan kyHen (586—587):

1 4x2—3_5—32x_3x6—7=0; ) x;—4_xT+3=x_5_x;2_
I) 2x-3)(x+5)-(3-x)(5-2x)=-30;

2) 5(x-1)-2(x+3)*=3(x+2)%

3) (x-3)B+x)+(12x-6):3=(x-2)(x+2)-7,

4) (x+1)Y2=(x+2)? =(x+3)*—(x+5).

ABTOMOOMJI Macodau a3 1axp To aexapo 0o cypbatu 80 Km/coaT
Taif Kapa. XaHroMu oosramr ¥ 75 % macodapo 60 cypbaTv aBBaa,
poxy 00KMMOHIapo Ooman 60 cypbatn 60 KMm/coat nmaiimyn. buHo-
Oap uH, ¥ map O6o3raiut Haszap 0a a3 maxp 0a aexa padpranHain 10

JaKkuKa 3uénrap BakT capd kapa. Macodau GaitHu 1iaxp Ba aexapo
eoen.

Kauk 6a mykoowau yapaéuu gapé 4,5 Ba 0a paBullIM yapaéHu Japé
2,1 coar lIKMHO Kapa. XaMaru Kauk, 52,2 KM Tail Kapa. Arap cypbaTtu
yapa€éHu gapé 3 KMm/coatT Oolliaj, CypbhaTd Kaukpo aap oou opoM €oe.

A3 1y maxp, ku Macogau 6aitHamoH 340 kM act, map SIK BakT 6a
UCTUKOOIU sKAWrap ny noesn 0a pox O6apoman. CypbaTu sIKe a3
OHXO0 HucOar O6a aurapaiill 5 KM/coart Te3rap. Arap 0aba a3 2 coaTu
0a xapakat OapomamgaH Macodau OaitHu moe3nxo 30 kM Ooan,
CypbaTU OHXOPO E0esI.

Kumatu apannu ndponapo €o6en;

1) (x—y)(x+y)(x2 +y2)—8x3 +9y2, Jap uH 4o x =2, y = 3;

’) —g(x—1)2—2§(x—3)(x+3), 1ap MH 40 x = 3;

1 1 2 4 1 5
3) | =x+2a || 2a-=—x |-|=x+—-a | 7Ta-=x |+1=ax,
) (3x+ a)( a 3x) (9x+7a)( a zx) 5 J1ap UH 40

1

4) (3x+2y)(9x> —6xy+4y*)—8(x* +?), map un 4o x=0,1, y =4.



YABOBU MAIIKXO

1. 2) 7; 4) 5,86. 2. 2) %; 4) 0,5. 4. 2) Honypyct; 4) Hoypycr. 5. 40-0,03=6:5. 6. 2)
3:(2+6)=2:(2-6). 8.2) % ;4) 4§;9 2) —0,02; 4)3.10.2) 0;4) 5. 11.2) —2;4) 0. 12. (7m)t; 168t.
13. 1) (60m) MaK.; 2) — JaK.; 3) (60m+l+ )I[aK 14. 3(x—y); 2) 4,5; 4) 2,5. 15. (x+y)(x—
—y); 2) _6_4’ 4) 0, 104 16. 2) —12 17. 2) 4. 18. 1, 3, 15, 21. 19. 2) (m—1)m; 4)
2p+1)(2p+3)(2p+5). 21. (p—q)t; 1) 5t; 2) a3 ¢ p KajgoH HamMellaBan; Oa g p Gapobap
mygaHair MyMKuH. 22. 400n+500m; 155000; 155000. 24. 187200 M3, (37440m) m>.
25. 5 = 3Lc + 12a + 2lb , 53 kM. 26. 2) a—b; 4) 2mn; 6) (a+b)(a—b). 28. 5000; 150000.
29. 3a; 8a; 10a; 500; 400; T 30. 2) 30 kr. 31. 2) (5k) xm. 32. (50a) xr. 33. (154) ra.
34. (x-6+y-3) cym. 35. (a 15+b-20) kr. 36. (km+cn) kr. 37. S=a(a—>b). 38. mn+k; 810 yoii.
39. 4 coar 35 pmak. 40. b) p=(m+n)-2; S=mn—xy; e) p=2(atm+nt+x), S=Smn—ab—xy.
41. 2) 2(2a+4)m; 3) (a+8)(a—4)m>. 42. t_il' KM/ coar. 44. %(5)00 M2, 45. 500(100+p)
cym. 47. t=¥, pacuna HametaBoHan. 49. 2) 40; 4) —41. 50. 2) 3y—2x; 4)
8,7—2§m+1§n. 51.2) 3-2,76; 4) 2y +1b-3; 6) 5p. 52.2) x+5; 4) 58c+14d. 53. 2)
67,048; 4) —11,221. 54. 2) 0,28; 4) 7% .55.2) —4-9+11; 4) 2a—3b—4c. 57. 2) 2+b+(-¢); 4)
3+a+(—b) +(—c). 58.2) a—2b+3c; 4) —a+2b—3c. 59. 2) a—b+c—d;4) a—b—c+d—k. 60.2)
8x—2y; 4) 3a—3. 61. 2) a—2b+(m+tc); 4) at(—m+302—2a%. 62. 2) 2a+b—(—m—3c);
4) a—(m—3b+2a%). 63. 2) a—(b—1); 4) (a—2b)+8. 64. 2) 2x*+5xy+(—4xy>—)3); 4)
—(—2x2—5x2y)—4x)*—)3. 65. 2) ct(—a+b); 4) nt+(—d+]). 66. 2) 4a—4b; 4) 5x—3y. 67. 2) x=1;
4) x=5. 68. 2) —1,16;4) —3.69.2) —1;4) 9; 6) 9; 8) 3,9. 70. 2) 147; 4) 144. 71. 2)—132;
4)7.72.2)1,08;4)6,12.73.2) 12;4) —1. 74. 2) -§ ; 4) % 75. 2) 7% . 78. 6 nupxam.
80. 2) 3. 85. 2) x=—27; 4) x—l 009. 86.2) x = % ;4) X = % . 87.2) x=—1,3; 4) x=0,05. 88. 2)
x=64'4)x—1 89.2) x=- > > 4) —@ 90. 2) x—i, 4) x—l 91.2) x=17;4) y=—1.92.
2) X—7— ; 4) y=24. 93. 2) z=06; 4) x=0,6. 94. 2) y= 13 4) x=1. 95 2) y=319; 4) x=5. 96. 2)
x=37;4) x—l,l. 99. 2) x=1; 4) x=1. 100. 2) x=0,2; 4) x=4. 101.2) 10. 102. 2) 16, 20, 24. 103. 2)
144, 432, 216. 104. 2) 8, 8, 6. 105. 2) 20, 40. 106. 25, 27, 29. 107. 4, 6, 8 Ba10. 108. 2) nap 1 coar
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12 nona maxcynot. 109. 2) I1ac a3 8 con. 110. 2) 2200 #Ba 1100z 111. 2) 108 xm. 112. 40 r. 113.
2) 150 nona mommH. 114. 2) y=0; 4) x=0,8. 115. 2) x=13; 4) x=—153. 116. 83,6 xr, 508, 8 KT,

2
1327 kr. 117. 8 kM/coat. 119. TTac a3 32 py3. 120. 30 km/coar, 40 kKm/coar & ku 36 3 KM/coaT

5
46%KM/COEIT. 123.2) (%)5 2 4) (=2,7)% 124. 2) m’; 4) (=3b)*. 125. 2) (a+b) 4)(%

2
126. 2) 4+-21; 4) 627233 127.2) (0,5)-22-42. 4) (%)3 (2,3)% . 128. 2) x3% 4) (ﬁ) (8a—
b
—b). 129.2) @+b; 4) 26, 130. 2) na®; 4) S+a'". 132. 2) 9; 4) 125. 133. 2) —1; 4) 0. 134. 2)

5= :4) 12 1135.2)2,89;4) 1= 136.2) —125;4) — 51 . 137.2) 270; 4) 4. 138.2) 40; 4)
~6.139.2) 18;4) 72. 140. =24, 2%, =32, 25,25,125. 143. @' 10+5- 10+ 10+ 4. 145..2)
3532037; 4) 101001. 146. 2) 75 4) 55. 147. 2) a’; 4) (3b)". 148. 2) (=3)%: 4) (—1,2)". 149. 2)
30 4) (=6)2150. 2) (3)°:4) 55,151, 2) (52)' 5 4) (ntm)y™. 152, 2) 397 4) @0,
154. 2) 22 4) 2. 155. 2) 26 4) 21, 156. 2) 21%; 4) 2°. 157. 2) 2%; 4) 2+, 158. 2) 31; 4) 3*. 159. 2)
351 4) 37, 160. 2) 3% 4) 3% 161. 2) 3 4) 377, 162. 2) 4% 4) 10 163.2) 1= 4) a2 164.2)
Qay; 4) (m+ny. 165. 2) 2% 4) 22, 166. 2) 2%, 4) 2°. 167. 2) 3%; 4) 3. 168. 2) 3 4) 3. 169. 2) 6;
4)25.170. 2) 44; 4) 9. 171. 2) —6; 4) 12. 172.2) x=64; 4) x=27. 173. 2) x=16; 4) x=4. 174. 2)
X=243; 4) x=9. 175. 1) a*; 2) a*. 176. 2) a'5; 4) a®. 177. 2) @’ 4) a. 178. 2) n=7; 4) n=2.
179. 2) (%)2 - 4) (0,02)2. 180. 2) (7°)% 4) ((— %)12)2. 181. 2) (K% 4) (x)2. 182. 2) 7565, 4)
47 ()7 183.2) 813 4) 6407, 184.2) 695 4) 27w, 185.2) Xy7'; 4) 2479, 186. 2) aby;
4) 0,01, 187. 2) 512475 4) 16n'm. 189. 2) (3.4-0)% 4) (—2a). 190. 2) (9:r); 4)
(15-a-b)’. 191. 2) (a*b%)%; 4) (9m)% 192. 2) (2% 4) (10¢%)2. 193. 2) (0,7nmd)%; 4)

2
2558 194.2) () 4) (497, 195.2) (- %)5 )3 4) (—0,1)°. 196. 2) (@b)’; 4) (*y'2). 197. 2)

25
(—1082)%; 4) (—0,2x)°). 198.2) 1; 4) —1. 199. 2) 1; 4) l. 200. 2) 144; 4) 14.201.2) 1; 4) 4.

202.2) 14; 4) 16.203. 2 L .204.2 ;4 —ﬁ . 205.2 B1b*° 4 £ . 206
) ) ) 49 5 ) ) 2 ’ ) ) 625¢ 4 ) 712 .
7
49 (a+b) 2.5 Y 4 7.2
) Qi) Y b 207.2) (5)7; (;] . 208. 2) (3) ;4 (75)7- 209. 2)

(3y] 4 (- 1) .210.2) 3,4) 16 2110 2 2; )%.212. 1) =3,3-10° MapoTi6a; 2) =9 cor.
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213.2) 2. 214.2) 337 4) . 215. 2) 7 4) 5. 216. 2) 81x%y5; 4) —2,48832a155°¢. 217,
2) @ 4) ', 218.2) 1075201 4) 39>6%. 219.2) 4:4) T.220.2) 11 4)13,2.221.2)8,647-10%
222.2) 3bc; 4) al?. 223. 2) 3@2b. 224. 2) 100n (cm). 225. 2) 42, 42, 22, 6. 226.2) 8; 4) 1; 6)
18.227.2) 7, 4) nr'; 6) T2p°q%; 228. 2) 2. 229. % pis. 230. 2) 6ab; 4) —2a’. 231. 2) 35m%n;
4) —4b%. 232.2) —2min; 4) T B, 233.2) 285y 4) 2020 234.2) ~21 b 4) — 3 ax).
235. 2) —7,507m5; 4) —1,56°0¢. 236. 2) —15mn; 4) =266, 237. 2) 30a°b%; 4) 4a'bc.
238. 2) 25b% 4) 4ab. 239. 2) 16407 4) —8xZ. 240. 2) —a'bcs; 4) 16xy 241.
2) o7 mint. 242.2) —2a*; 4) @By 243. 2) X5 4) —4ah'l. 244. 2) (4x2)% 4) (9x)2. 245.
2) 204,8; 4) 1,008. 246. 7+ pavas. 250. 2) 626 —24a'h; 4) —be+5x)1. 251. 2) —6xy'z—
—20nke; 4) %a2b2—2a2b3. 252.2) 2: 4) 0. 253. 2) —7.6; 4) —252. 254. 2) % y: 4) % @b,

255. 2) 2a+b; 4) 2a2—3b% 256. 2) —y; 4) 3,842 257. 2) a% 4) 2xy—2,2)% 258. 2)

3
8

2x%y. 261. 2) —%azbc—4a2c. 262. 2) 3x+3y; 4) 3x+1. 263. 2) Sa2—b?%; 4) —% b2+1% .

—% ab>*+35 a’h; 4) 4x—2,46y. 259. 2) X*—x*y—06xy*. 4) ab*+2ab. 260. 2) 8>—19bc—15¢%; 4)
264. 2) 0,1¢? 4) 6a+22b. 265. 2) —2a>—6ab+6b*; 4) 25z+30az. 266. 2) —2b; 4) 9x°.
267. 2) 3x% 4) 8a>— b*—ab. 268. 2) —0,07x>+0,06); 0,27x2—0,1y%; 4) 0,61a*+1,12b% 1,394°—
—0,885°. 269. 2) 3x2+3x2)2 . 270. 2) —5B+3b. 271. 2) ¢, 4) —Sab+88. 273. k+2m—n. 274. 2)
1-1x:4) 20m—30n; 6) —%m+%n—%p; 8) —15x —35x+5x. 275.2) —10xz + 8yz 4)
x*=x2+x. 276. 2) 75a*b*+15a%b; 4) 3x*y3—6x*2. 277. 2) 16ab2—24a2bc+8abc2; 4)
Xyz+2xp°7+3xy7. 278. 2) a3b7+% a'b’. 279. 2) —3a+7b; 4) —14p—9. 280. 2) —a’b+6b%; 4)
19x—12. 281. 2) 2x—3,5; 4) 0,5y—1,7. 282. 2) 5; 4) 204. 283. 2) z>+3z—4; 4)
be+dc+5b+20. 284. 2) —a>+8a+20; 4) p—q+pg—q?. 285. 2) 10a>+7a—12; 4) 20p*—
—17pg+3¢2. 286. 2) 0,09—m2; 4) 0,04a2—0,25x. 287. 2) 30x*+301—61x2%; 4) X¥+5x+Tx+3.
288. 2) 27a—8b% 4) 27a+8h%. 289. 2) —20b>+ +17bc—3c2—16by+4cy; 4) 9a2—
—24ab+12ac+15b>=20bc. 290. 2) 0,3x’+xz—0,3y*+yz; 4) 0,3a*=0,9¢°+2a’+3a—10. 291.
2) @—ab*+3a?b—3b%; 4) 12x*—29x+7x+6. 293. 2) 12% .295.2) % 4) 1. 296. 2) —3a; 4) —3c.
297. 2) %a; 4) —9c. 298. 2) 9m; 4) %b. 299. 2) 8; 4) 7. 300. 2) 3;4) —3.301.2) —%; 4)
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~1,3.302.2) ——p 4) 0,4c. 303. 2) Tnt; 4) + 6 304.2) 2 ab%; 4) 3ab. 305. 2) — axy2 2)
5 @%b. 306. 2) 81x'y; 4) X'y''23. 307.2) 2b—1; 4) 2—x. 308. 2) 4a—3b; 4) —c+1.309. 2) — 3 cb—
—1;4) —% ab+% @ 310.2) —2x—3y+4; 4) a+3a2b—2. 311. 2) 1; 4) —3a. 312.2) 24; 4) 0. 313.
2) @ 4) @+3. 314. 2) P —m?; 4) (%)3 —5. 315. 4c oM, @ m?. 316. 622, & o, 317. 322 & ku
%xz. 318. 10 k. 319. 108000. 320. He. 321. 2) 3,08-10'%. 322. 5,1-10%; 10'2. 323. 10 kr. 324. 2) xy;
4) 10mn’k. 325. 2) 13%. 326. 2) 3x%; 4) 8a+b2—ab. 327. 2) 0,5x+xz—0,5>+yz;
4)  @—2a+3a*+4a—10. 328. 2) 2a°—2ab*+3a2b—3b% 4) 6x*—17x2—4x+3. 329. 2)
5x+8x2+9x—1; 4) 1% a5+2a2x—1%x2. 332. 2) 180,7; 4) 12,5. 333. 2) 2°—2x; 4) @® +ab—
—@B—1. 334. 240 k. 335. 2) 150000; 4) 4. 336. 2) 3(a—x); 4) 6(a+2). 337. 2) 2 (4a—2b—1); 4)
3(3x—y+42). 338. 2) c(d+b); 4) x(3—). 339. 2) 3b(d—a); 4) 3p2k—1). 340. 2) x(y—x+2); 4)
4b(b+2a—3a?). 341. 2) a(a=3); 4) XP(y—x). 342. 2) 62(2—4); 4) 3a2(2a’+1). 343. 2)
4xy(5xy+1); 4) 3xpz(3z—4y). 344. 2) 5a)(4a—1+3a2); 4) 22 (*—x>+3xy). 345. 2) 18700; 4)
—1,62. 346. 2) (a+5)(b—c); 4) (y=3)(1+b). 347. 2) (m=3)(3n+5m); 4) (c—d)(Ta—2b). 348. 2)
H(@—B); 4) (@269 (x+y). 349. 2) (p—q)(c—a+d); 4) (x+1)(m—n—I). 350. 2) (b—
—c)ate); 4) (x—)Q2b+1). 351, 2) (a=2)(6—a); 4) (m=2)(@—b). 352. 2) (x—)(x—y=3); 4)
(3—b)(—a+1-b). 353.2) x=1; 4) x=0,49. 354. Mepaca. 355. 2) (m—n)(1+p); 4) (x—y)(1+2a).
356. 2) (a—b)(a—b+1); 4) (p—1)(@dg+p—1). 357. 2) (p—1)(4g+1); 4) (p—1)(4g—1). 358. 2)
(b+o)(at+d); 4) 2x—1)(Bx—4y). 359. 2) (c+d)(a=3b); 4) (a—3b)(x+5y). 360. 2) (b+c—a)(y—
—x); 361. 2) 12500; 4) 28. 362. 2) —0,625; 4) —0,33. 363. 2) 906. 364. 2) 1=—7, =4. 365. 2) X —
~2xp+3%; 4) 2+ 1 6) 49+ 14m+ . 366. 2) X—6x+9; 4) 12—12y+36; 6) b2+b+l 367. 2)

Ox+12xy+4y% 4) 252107+, 368. 2) a'+2a>+1; 4) X+2d2+. 369. 2) az——a+ 9,4)
2
%+"6y 7 370.2)0.16 504 het0.25¢; 4) 1¢ 2 3+— L 371.2) —x4+éx3+‘1‘

4) 100x4—60x Y+9x2y6. 372, 2) 9b4+12ab3+4a2b2, 4) l6x2y2+4xy3+0,25y. 373. 2) 1681;
4) 9604. 374. 2) 1006009; 4) 1521. 375. 2) 3249; 4) 1002001. 376. 2) 4xy; 4) 8a>+252.
377.2) Ta2—52a+112; 4) 4x—16x—4. 378. 2) x=2; 4) x=—0,5. 379. 2) y=3; 4) y = % . 380.
2) —11; 4) —17. 382. 2) (5+x)% 4) (p—0,8)2 386. 2) pz—q2~ 4) m—n’; 6) m—4. 387.2) @—
—9; 4) x2—49; 6) B—1. 388. 2) >—9d?; 4) Im>—4r’. 389. 2) 36 = 4) 5 mz——n2 390. 2)
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a—b; 4) m® - n®. 393, 2) 25@b—4a'h?; 4) @b°—16x%°. 394. 2) x*—1; 4) 81a*—16b% 395. 2)
4896; 4) 2491. 396. 2) 1584; 4) 39999. 397. 2) 2a*+4a; 4) 24ab—32b*. 399. 2) x = % ; 4) x=2.
400. 64 cm?kam memraBan. 401. —10. 402. 2) 980; 4) 5,87. 405. 2) (2a—3)(2a+3); 4) 9a—
—4b)(9a+4b). 406. 2)(ab—4)(ab+4); 4) (4x—5y)(4x+5y). 407. 2) (% a—% b)(% a+% b); 4)
(0,3x—0,4)(0,3x+0,4y). 408. 2) (xy*—4)(xy*+4); 4) (5a—3b%)(5a+3b%. 409. 2) (a>—
—bY)(a*+b*); 4) (b2—9)(b*+9). 410. 2) (m—n—k)(m—n+k); 4) 3(x—y)(3x+y). 411. 2)
(a+2btc)(a—c); 4) 4QRa—b)(—a—2b). 412. 2) (1+c) % 4) (9—x)2. 413. 2) (10—3a)%; 4)
(a+5b). 414. 2) (P—q)%; 4) (5a*+3b)%. 415. 2) (»—9)% 4) (4—412172)2 416. 2) —(3—b)% 4)
—3(a+2b)% 417. 2) 60 000; 4) 216. 418. 2) x = l , X=—7;4)x=5.419. 2) 10000; 4)

420. 2) X>+2xy+y?%; 4) x*-2xy+)?. 421. (c+d)(c2—cd+d2); 4) (a—3)(@+3a+9); 6) (a+1)(a2—

—at+1); 8) (5-b)(25+5b+5). 422. 2) (4—5y)(16+20y+25y); 4) (4y+3 )(16)2— y+9)

423. 2) (1+3b)(1-3b+95?); 4) (%a2+5b)(%a4—%a2b+25b2). 424. 2) (a+b)(a—b)x
X(dH+ab+bY); 4) 2+9)2—y)(16+42H14). 425. 2) y+8; 4) 643 —1254. 426. 2) ab—125a%;

4) %x3——y3 427. 2) 16a*(4a+5b); 4) (a—b)(a*+ab+b+a—b). 428. 2) 0,02. 429. 2) 5; 4) 26.

430. 2) x=3; 4) x=0,2. 441. 2) x=2. 442. 2 xM/coar, 16 Km/coat. 443. 2) (x—y)(4+3x—3y); 4)

(b—a)(b—a—1). 444. 2) y(x+y)* 4) (b—a)*(a—1). 445. 2) 24x*(y—7); 4) 4(2x—y)(2x—3y—1).

446. 2) 5(x+y)(2x+1); 4) (322+2y*)(16x—5y). 447. 2) 2nk+5m)(3mk—T7n?); 4) (5¢—
2 2
-b

7 - 456.2) 5;4) 1,9;

—3%)(8b—3¢). 448. 2) 16x+2; 4) —19y+6. 450. 2) %;4) U 454, . )

m n
6) 4. 457.2) V=—:4) a=2—b 458, x=—o" y=3 459, I=—  1=15. 461.2) <
p 2 10007 cn 5
2

2 1 b
4) —2. 462.2) 5;4) 2—”c 463.2) 7 ; 4) . 464.2) %;4) =6 ”5—.465. 2) ?;4)
C

L6 -1 4662 — 20 gy 2l
3(a-b)’ ) ) )3’ —b)' ’ -n’ )2a+3’ )
2 1
}+I’; 468. 2) ﬂ; 4) 6) —> . 469. 2) 3‘”2” L4 T—.470.2) — 4 5+x 6)

a+1
471210—7b4—6 S 472.2) = .4 473, -4
2a ) ) ) _p? )b+7 1-2p 4a-1 )
0D r4 2 4 a5, 2 222 4 0 6 F2 e
Sy - AT D ) Tho 4TS ) S ) i 6) . 476.2)
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2a 24 a 32 25 9’ 7

b
atl; 4) L. 477.2) — w5 4) “ma—; 6) —ma—. 478. 2) —,
2 ab  ab 26 2b 60 60 12xy  12xy
16y° | 2ax> b 66>  a 26> 9ac 6a’h’
S 4) —Bma—. 479. 2) —Ba—; 4) —,—,
12xy 4x 4x 2b 2b 6ab 6ab  6ab

3 3 2
3> 2di+bY) aB-d) . " 21y 310x7y - 80x” | 181, 2) 6a
Ba’ . .
18a%0° 7 184°0° 184%6% 60x4y4 ’ 6Ox4y4 60x4y4 ’ (a-1a
2 2

2(a-1 8a 15a Ta(3x +y) 66(3-y) 6x

@D 4 Ba 482, 2) —5—3 B0 4)——ma
(a-1a 12(a+1) 12(a+1) Ix" -y I9x" -y 8x + 8y

Ba

480. 2)

Ta a(x -3) 6x(x+y) Txy(x-y) 3
-483. 2) 3 Ba 3 3 4) 5 5——— Ba ——. 484. 2)
8x +8y x -9 x -9 x -y x -y x -y

28¢(b +¢) 6a’ 35h(h - ¢) 15x(x+1) | —48x” 4(x-1)
08 ) 7 5. B N 7o 7 Ba 7 - 485.
> =) 7006% =) 700 - ) x> =1 12x(x2 -1 12x(x=1)

5 _ 1 3ad — b
) 3 9 486 2) 2; 5L = 6)—. 87 ) 2 42 6"
b n+a 28 5b 12d

. 488.

15+ ab 2+7b 2e+4ct -3 mn —kn® +m* k-n
; 4) .489. 2) ———— 4H—————. 490. 2)

Sa b c2 n mnk

; 4)

2 4 3 2
bd + ba 2n” -3m 4a” -21ch 20y —21x+22 bled” +d+c
;6 " 491. 2) PR s o2 )

acd mn 18a™b ' 28x2y2 ' (cd)2
3x 8y —25x 11 5 2 92 _

. 4 . 493.2) C a2 404.9) 20 20 4 avboy
21-x) 10(y-3) 00+1) 8(x+y) ab(x +y) "

202 67b-3 x-1 2x2 +3x+2 6n—47
Qard) gy 0230 496, 2) S 4) 2 497, :
a(l-a) 40(a” - b") x" -9 x° =16 n -49
2
13a+4 2-11 4-Tn+7
24y +y2+1. 498. 2) a+ - . 2) xz; n+2m; 2); +l§ ‘
1-9y (3a+1) (Bx+1) (n—m) (x”-9)
- 1 1 2024 - b-3b" 14
b =36 4y —. 501 2) ———; 4) (2 9 502, 2) -
bh-2 a+l X+y 4a” -9 6(b -1
2 2 2
_ 4a” -4 2a
2 A omn gy 2 2270 s, ) 54 - C504.2) — 2 5050 L
m(4n -m") a’ +2a Y48 m-27 19 13
3mk 2b2 a ac k2 3md
4) — . 506. 2) —, 4) — 6) .509.2)2;4) —: 6) —. 510.2) —; 4) —;
2 mn c bc b mn 2nk
18 1 3’ 2y 2%d° 3
e’ gy 0 By L) L5120 =55 4 =L ) 201
a d Sc 3c .
b 1
514.2) 22, 4y 30, 6) 97D 515, 9 S — :
4a b a 3b 3(1+a) 3m” (m+ n)

168 . .

. 492. 2)

495. 2)

4)

500. 2)

6)

2) 10ab; 4)




2 ~18(n - m)* 1
XAy oy (nom) (e, 6) 5— . 517. 2) b-3; 4)

6) . 516. 2) _% 5
3(a-b) 2x" +y7) 5 n(n+p)2 ) c;(—b :
2 1 _ m+n
(a-Da—1).518.2) 2D 4y 1 6) 71— 519.2 TP D4 TV 5 ) _dab
b” +1 , b n A & b
1 1
4) U212 254y M 5339 D 4) —. 523.2) P 4) :
6(c+d) 742 m—2 a+b c 2a—b c(a+b)
- 2 1 2 -
526. LYy kw527, 6 nowarm. 528, 2) 22X+ Xrl (XD gpg o) 3061
v+ x~ +8 x +8 x  +8 24
5-27b 7q - ~ ER
4 0 530.2) L gy SarT0 azy gy @0y MR 539
3p-q 26-5 7 2(p” —pctc)
D(x-3 2
(x4 2)(x 2) -4y 1. 533. 2) —2(a—1)% 4) % 534.2) 2. 535. 2) Homypyer
(x=2)(x+3)(x" +2) 4q

1
536. 7—. 537.2a(30—a); —128.538. a-100+b-10+c¢; ¢ 100+b-10+a; a ta. 539. x=1000a+c.
2

2
540. 3) 4 ; 541. 2) —a*h>c®. 542. 2) 0,64a%c*. 543. 4) 3a*bm. 546. 4) 1,5a3+11,5a2— a—1.547.
5 1
2) x=2 H . 551.4) X = _E * 552. 40, 36, 43. 553. ITac a3 9 con. 554. ITac a3 4 con. 555. 1,5 coar.

2
556. nap 1,5 coar. 557. 2) Z-. 558.2) 16ab. 560. 1) 3(1+a)(7—3a). 561. 1) 4(3b—

3
=2)(56+1); 4) (17a—9b)(b—13a). 570.2) 1. 571. 63 xm. 572. TTac a3 ryzamranu 27 H nax. 573.

1
41574. 574. Muc — 25,5H; pyx — 10,5 H. 575. ; KT. 576. 30 kr; 50 kr; 40 kr. 577. 35 k™. 578.

3ac(2a+3) 4ac(a-3) 5b ab-2 x(y —x)

120 kM. 579. 150 10. 580. 2) a9 cad—9) " qaa o) .581.2) — ) ix
2n(2n-k) . 2q(m-2q) m+7n 25

582.2) ;4 583. 4) ——. 585.2) 1. 586.2) x=6.587.2) x=——;
2n+k m+2q 10 34

2
4) x=—6,5.588. 160 xm. 589. 9 km/coar. 590. 80 km/coar; 75 km/coar. 591. 2) —2; ; 4)0,019.

Yapo0x0 0a cynopumm "Xyapo oucanyen'”

1
boou 1. 1. 1) 120,3; 2) —3%. 2. 3x + 4y; 3 3. 10a + 156.
1
boom II. 1. Ha, x=4; 2. 1) X=§; 2) x=13; 3.5 ke; 3ke.
boowu II1. 1. 55; 3%; 212, 6°. 2. 3b+ d. 3. -1,25 a*b’c*; 0,7m-2n-1. 4. 3m>—4;
-3,8125.

169



Boou IV. 1. 2a> +12a; 2. 1) p(x—2); 2) (4a—9)(4a+9); 3) 3x*-(1-2x);

4) (x=5)% 5) (x=D)(3+y); 6) 2(a—b)2. 3. (a=3b)(a+3); 8.
b

Boou V. 1. b=0,a=1,b=-2; 2. 1)—, ) 0
3.L;—3-

x-3

Yapo0x0 0a Mmacbajiaxou MABKOBAP

1. 99 +9:9. 2. 44 cexyHuya, 10 kBagpar, 8 poctkyHya. 3. 5 cona. 4. Ilac
az 18 mak. 5. 1) 6; 2) 3; 3) 4;4) 9. 6. 24000 kM. 7. 6 noHa. 8. 1) 7 noHa; 2)

4 ucap, 3 oyxt. 9. 10 metp. 10. MyMKUH HecT.

Kammn 6a Mamkxou canyuii (Tecr)

boonu 1
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boou 11

10] 11] 12| 13| 14| 15] 16] 17] 18] 19] 20| 21
A|B|C|D|A|A|B|C|D|A|A|B|C|D|A|JA|B|C|D|D|B
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o
w
N
W
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<
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Ne)

boon I11

1 2 3 4 5 6 7 8 9 10| 11 ] 12| 13
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Yaapaay HAMIOHAMXAHJIAH X0JATH KHTOOHM 0a WYopa 0ja myaa

Xonatm Nmzon Xonaty Nmzon
Homy nacadu | Conm KHUTOO KHNTOO
P/t paxbapu paxbapu
XOHaHIa XOHUIII | XaHTOMU XaHTOMU
cUHG} cuHO
rupudTaH CyIopuiaH
I.
2.
3.
4,
5.
6.

Kuto0n napcn 6a myopa aoaa mrysa, Jap OXHPH COJM XOHHII YaABAJH
000 a3 tapadm paxOapu cuH( aap acocHm MebEPXOM 3epHHH 0axo myp
Kapiaa MemaBajn:

Has

XoiaTyi KUTOOU JapCch XaHToMu OOpM aBBaJl CyIOpUAAH.

Xy0

MykoBaaiil OyTyH, a3 KUCMU aCOCUU KUTOOU Aapch
YyJo0 HaIllyJaacT. Xamau BapakxosIl XacT, Hamapumaact, Yyao
HalIymacTt, map caxydaxo HABUINT Ba XaTXO HECT.

Kanoatbaxim

MyKoBa Kay IIygaacT, KAaHOPXOSIIII KOXUIa, STKYaH] XaTXO
Kallyaa WygaaHI, XoJaTh a3 KHCMH acOCH YyAOIIaBh Jopaj,

a3 tapadu nctudomadbapanga KaHoaTOAXIN TABMUP IIyIaacT
Bapakxown yynmoimrymaair a3 HaB TabMUp IIymaacT, map 0ab3e
caxydaxo XaT Kaliaa IygaaH.

Faiipn-
KaHOoaTOaXIII

MyKkoBa xaT Kallliaa IIyaaact, JapuaaacTt, a3 KUCMH acoch
Yyao0 1IygaacT €KM yMyMaH HeCT, FalipuKaHoaTOaXIl TabMUP
wmynaact. Caxudaxo mapuaa, Bapakxo HamepacaH[, XaT

Kalllyaa, paHT Kapjaa IIyaaacT, KUToo

bapkapop Kapaa HamelaBa.






